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ALP/Technician Online Exam Syllabus 

Second Stage (CBT) 
Total Duration : 2 hours and 30 minutes (for Part A and Part B together)  
The Second Stage CBT shall have two parts viz Part A and Part B as detailed below.  

PART A 
Duration: 90 Min. No. of Questions: 100 
 Minimum percentage of marks for eligibuility in various categories: UR-40%, OBC-30%, SC-30%, ST-25%. 

These percentages of marks for eligibility may be relaxed by 2% for PWD candidates in case of shortage of 
PWD candidates against vacancies reserved for them. 

 The marks scored in Part A alone shall be used for short listing of candidates for further stages of recruitment 
process subject to the condition that the candidate is securing qualifying mark in Part B. 

(A) Mathematics 
  Number system, BODMAS, Decimals, Fractions, LCM, HCF, Ratio and Proportion, Percentages, 

Mensuration, Time and Work; Time and Distance, Simple and Compound Interest, Profit and Loss, Algebra, 
Geometry and Trigonometry, Elementary Statistics, Square Root, Age Calculations, Calendar & Clock, Pipes 
& Cistern etc. 

(B) General Intelligence and Reasoning 
 Analogies, Alphabetical and Number Series, Coding and Decoding, Mathematical operations, Relationships, 

Syllogism, Jumbling, Venn Diagram, Data Interpretation and Sufficiency, Conclusions and Decision Making, 
Similarities and Differences, Analytical reasoning, Classification, Directions, Statement– Arguments and 
Assumptions etc. 

(C) Basic Science and Engineering 
 The board topics that are covered under this shall be Engineering Drawing (Projections, Views, Drawing 

Instruments, Lines, Geometric figures, Symbolic Representation), Units, Measurements, Mass Weight and 
Density, Work Power and Energy, Speed and Velocity, Heat and Temperature, Basic Electricity, Levers and 
Simple Machines, Occupational Safety and Health, Environment Education, IT Literacy etc.  

General awareness on current affairs in Science & Technology, Sports, Culture, Personalities, Economics, 
Politics and other subjects of importance. 

PART B 
Duration: 60 Min. No. of Questions: 75 
Qualifying Marks: 35%  

Sl. 
No. 

Engineering Discipline 
(Diploma/Degree) 

Relevant trade for PART B Qualifying Test to be 
selected from 

1. Electrical Engineering and combination 
of various streams of Electrical 
Engineering 

Electrician/Instrument Mechanic/Wiremen/Winder 
(Armature)/Refrigeration and Air Conditioning Mechanic 

2. Electronics Engineering and 
combination of various streams of 
Electronics Engineering 

Electronics Mechanic/Mechanic Radio &TV 

Electronic Mechanic/ Radio & Television : 

Semester-I : 

 Importane of safety and general precautions. Trade and Orientation, Hand Tools and their uses, Basics of AC 
and Electrical Cables, Cells & Batteries, Passive Components, Transformers, AC & DC measurements, 
Soldering & De-soldering and switches, Rectifiers, IC Regulartors, Computer Hardware, OS, MS office 
Networking, Computer Networking. 

Semester-II : 

 Transistor, Amplifier, Wave shaping circuits, Power Electronic Components, Mosfet & IGBT, Opto 
Electronics, Basic SMD (2,3,4 terminal components), Basic Gates, Combinational Circuits, Flip Flops, 
Electronic circuit simulation software, Counter & shift Registers, Op-Amp & Timer 555 Applications. 

Semester-III : 

 Digital Storage Oscilloscope,  SMD Soldering and De-soldering, PCB Rework, Protection devices, Electrical 
control circuits, Electronic Cables & Connectors, Communication electronics, Microproccessor & 
Microcontroller, Sensors, Transducers and Applications, Analog IC Applications, Digital IC Applications. 

Semester-IV : 

 Fiber optic communication, Digital panel Meter, SMPS, UPS, Solar Power (Renewable Energy System), Cell 
phones, LED Lights, LCD and LED TV. 
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Syllabus of Semester System For The Trade of 

ELECTRICIAN 
UNDER CRAFTSMAN TRAINING SCHEME (CTS) 

By Government of India Ministry of Labour & Employment (DGE&T) 

First Semester – 

� Occupational Safety & Health– Basic safety introduction, Personal protection:- Basic injury prevention, Basic 

first aid, Hazard identification and avoidance, safety signs for Danger, Warning, caution & personal safety message. 

Use of Fire extinguishers.  Visit & observation of sections.  Various safety measures involved in the Industry. 

Elementary first Aid. Concept of Standard. � Soft Skills– its importance and Job area after completion of 

training.Introduction of First aid. Operation of electrical mains. Introduction of PPEs. Introduction to 5S concept & 

its application. Response to emergencies eg; power failure, fire, and system failure. Identification of Trade-Hand 

tools-Specifications. Fundamental of electricity. Electron theory- free electron, Fundamental terms, definitions, units 

& effects of electric current. Solders, flux and soldering technique. Resistors types of resistors & properties of 

resistors. Introduction of National Electrical Code 2011 Explanation, Definition and properties of conductors, 

insulators and semi-conductors. Voltage grading of different types of Insulators, Temp. Rise permissible Types of 

wires & cables standard wire gauge Specification of wires & Cables-insulation & voltage grades -Low , medium & 

high voltage Precautions in using various types of cables / Ferrules � Ohm’s Law - Simple electrical circuits and 

problems. Reading of simple Electrical Layout. � Resistors -Law of Resistance. Series and parallel circuits. � 

Kirchoff’s Laws and applications. Wheatstone bridge principle And its applications. Effect of variation of 

temperature on resistance. Different methods of measuring the values of resistance. Common Electrical Accessories, 

their specifications in line with NEC 2011-Explanation of switches lamp holders, plugs and sockets. Developments 

of domestic circuits, Alarm & switches, with individual switches, Two way switch .Security surveillance, Fire 

alarm, MCB, ELCB, MCCB. � Chemical effect of electric current-Principle of electrolysis. Faraday’s Law of 

electrolysis. Basic principles of Electro-plating and Electro chemical equivalents. Explanation of Anodes and 

cathodes. Lead acid cell-description, methods of charging-Precautions to be taken & testing equipment, Ni-cadmium 

& Lithium cell, Cathodic protection. Electroplating, Anodising. Different types of lead acid cells. Rechargeable dry 

cell, description advantages and disadvantages. Care and maintenance of cells Grouping of cells of specified voltage 

& current, Sealed Maintenance free Batteries, Solar battery. Inverter, Battery Charger, UPS-Principle of working. 

Lead Acid cell, general defects & remedies. Nickel Alkali Cell-description charging. Power & capacity of cells. 

Efficiency of cells. � ALLIED TRADES– Introduction of fitting trade. Safety precautions to be observed 

Description of files, hammers, chisels hacksaw frames & blades-their specification & grades. Care & maintenance 

of steel rule try square and files. Marking tools description & use. Description of carpenter’s common hand tools 

such as saws planes, chisels mallet claw hammer, marking, dividing & holding tools-their care and maintenance. � 

Types of drills description & drilling machines– proper use, care and maintenance. Description of taps & dies, 

types in rivets & riveted joints. Use of thread gauge. Description of marking & cutting tools such as snubs shears 

punches & other tools like hammers, mallets etc. used by sheet metal workers. Types of soldering irons-their proper 

uses. Use of different bench tools used by sheet metal worker. Soldering materials, fluxes and process. � 

Magnetism - Classification of magnets, methods of magnetising, magnetic materials. Properties, care and 

maintenance. Para and Diamagnetism and Ferro magnetic materials. Principle of electro-magnetism, Maxwell’s 

corkscrew rule, Fleming’s left and right hand rules, Magnetic field of current carrying conductors, loop and 

solenoid. MMF, Flux density, reluctance. B.H. curve, Hysteresis, Eddy current. Principle of electro-magnetic 

Induction, Faraday’s Law, Lenz’s Law. Electrostatics: Capacitor- Different types, functions and uses. � 

Alternating Current -Comparison and Advantages D.C and A.C. Related terms frequency Instantaneous value, 

R.M.S. value Average value, Peak factor, form factor. Generation of sine wave, phase and phase difference. 

Inductive and Capacitive reactance Impedance (Z), power factor (p.f). Active and Reactive power, Simple problems 

on A.C. circuits, single Phase and three-phase system etc. Problems on A.C. circuits. Power consumption in series 

and parallel, P.F. etc. Concept three-phase Star and Delta connection. Line and phase voltage, current and power in a 
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3 phase circuits with balanced and unbalanced load. � Earthing- Principle of different methods of earthing. i.e. 

Pipe, Plate, etc Importance of Earthing. Improving of earth resistance Earth Leakage circuit breaker (ELCB). In 

absence of latest revision in respective BIS provision for Earthing it is recommended to follow IEC guidelines. 

�Basic electronics- Semiconductor energy level, atomic structure ‘P’ type and ‘N’ type. Type of materials –P-N-

junction. Classification of Diodes – Reverse and Forward Bias, Heat sink. Specification of Diode PIV rating. 

Explanation and importance of D.C. rectifier circuit. Half wave, Full wave and Bridge circuit. Filter circuits-passive 

filter.  

Second Semester– 

� Working principle and uses of an oscilloscope–Explanation of principle of working of a transistor & 

configuration. Types of transistors & its application. Specification and rating of transistors. Explanation of transistor 

Amplifiers, Amplifiers. – class A,B and C Power amplifier � Explanation of oscillator–working principle 

Explanation of stages and types. Multivibrator – applications. Introduction of basic concept of ICs, U.J.T., F.E.T. 

Basic concept of power electronics devices e.g. S.C.R., Diac, Triac, power MOSFET, G.T.O and I.G.B.T. � Digital 

Electronics -Binary numbers, logic gates and combinational circuits, � Electric wirings– I.E. rules. Types of 

wirings both domestic and industrial. Specifications for wiring. Grading of cables and current ratings. Principle of 

laying out in domestic wiring. Voltage drop concept. � Wiring system– P.V.C., concealed system. Maintenance 

and Repairing data sheet preparation. Specifications, standards for conduits and accessories - Power Wiring - 

Control Wiring - Information Communication - Entertainment Wiring. Testing of wiring installation by meggar. 

Study of Fuses, Relays, Miniature circuit breakers (MCB), ELCB, etc. � D.C. Machines– General concept of 

Electrical Machines. � Principle of D.C. generator– Use of Armature, Field Coil, Polarity, Yoke, Cooling Fan, 

Commutator, slip ring Brushes, Laminated core. Explanation of D.C. Generators-types, parts. E.M.F. equation-self 

excitation and separately excited Generators-Practical uses. Brief description of series, shunt and compound 

generators. Explanation of Armature reaction, inter poles and their uses, connection of inter poles, Commutation. 

Losses & Efficiency of D.C.Generator, Parallel Operation of D.C.Generator. Application of D.C. generators. Care, 

Routine & preventive maintenance. � DC Motors– Termsused in D.C. motor-Torque, Brake Torque, speed, Back-

e.m.f. etc. and their relations, Types of D.C.Motor. Starters used in D.C. motors Related problems Characteristics of 

D.C.Motor, Losses & Efficiency, Application of D.C. motors. Care, Routine & preventive maintenance. Types of 

speed control of DC motors in industry. Control system. AC-DC, DC-DC control. � Working principle of 

Transformer– classification C.T., P.T. Instrument and Auto Transformer(Variac), Construction, Single phase and 

Poly phase. E.M.F. equation, parallel operation of transformer, their connections. Regulation and efficiency. Type of 

Cooling for transformer. Protective devices. Specifications, simple problems on e.m.f. Equation, turn ratio, 

regulations and efficiency. Special transformers. Transformer –Classification of transformer. Components, Auxiliary 

parts i.e. breather, Conservator, buchholze relay, other protective devices. Transformer oil testing and Tap changer 

(off load and on load). Dry type transformer. Bushings and termination. � Electrical Measuring Instruments– -

types, indicating types. Deflecting torque, Controlling torque and Damping torque , PMMC & MI meter (Ammeter, 

Voltmeter) -Range extension -Multimeter(Digital/Analog) -Wattmeter - P.F. meter - Energy meter (Digital/analog) –

Insulation Tester (Megger), Earth tester. -Frequency meter -Phase Sequence meter -Multimeter –Analog and Digital 

-Tong tester -Techometer. 

Third Semester– 

� Three phase Induction motor –Working principle –Production of rotating magnetic field, Squirrel Cage 

Induction motor, Slip-ring induction motor. Construction , characteristics and Speed control, Slip & Torque . 

Control & Power circuit of starters D.O.L Starter, Star /Delta starter, Autotransformer starter, Rotor resistance 

starter, etc Single phasing preventer. Losses & efficiency. Application of Induction Motor Care, Routine & 

preventive maintenance. � Single phase induction motor- Working principle, different method of starting and 

running (capacitor start, permanent capacitor, capacitor start & run, shaded pole technique). FHP motors, Repulsion 

motor, stepper motor, Hysteresis motor, Reluctance motor. Application of Single phase induction motor � 

Universal motor-advantages, Principle, characteristics, applications in domestic and industrial appliances, Fault 

Location and Rectification. Braking system of motor. Application of Universal motor. � Alternator–Explanation 

of alternator, types of prime mover, efficiency, regulations, phase sequence, Parallel operation. Specification of 



 

 6

alternators and Brushless alternator. Verify the effect of changing the field excitation and Power factor correction of 

Industrial load. � SYNCHRONOUS MOTOR– Working principle, effect of change of excitation and load. V and 

anti V curve. Cause of low power factor. Method of power factor improvement. Rotary Converter- Inverter, M.G. 

Set description, Characteristics, specifications- running and Maintenance. Solid state controller and Invertors. � 

TRANSFORMER Winding– Small Transformer winding techniques � DC machine Winding-- Armature 

winding terms, pole pitch, coil pitch, back pitch, front pitch , Lap and Wave winding , Progressive and retrogressive 

Winding, developed diagram. Growler construction, working & application. � ACmachine Winding—Motor 

winding terminology – classification of conducting and insulating materials used in winding – Types and methods of 

winding in single and three phase motors. Stator winding terms, coil side, end coil and grouping of coils. Connection 

to adjacent poles, connected stator winding, alternate pole connection, developed diagram. � Illumination– Laws 

of Illuminations, terminology used , Illumination factors, intensity of light –importance of light, human eye factor, , 

units. Types of illumination Type of lamps -Neon sign Halogen, Mercury vapour, sodium vapour, Fluorescent tube, 

CFL, LED, Solar lamp & photo cell applications, Decoration lighting, Drum Switches, efficiency in lumens per 

watt, Calculations of lumens. Estimating placement of lights, fans and ratings. � Industrial wiring– Code of 

practice and relevant span. Wiring of electric motors, control panel, etc. Types, specifications, advantages of 

different types of circuit brackets construction and maintenance. Working principle and construction of domestic 

and agricultural appliances-their maintenance. � Complete House– wiring layout. Splitting load wire in accordance 

with NEC I.E.E. Rules. Multi-storeyed system. Fault finding and trouble shooting. 

Fourth Semester– 

� Machine control cabinet /Control Panel Layout, Assembly & Wiring:– Layout of Control cabinet & control 

panel Study & Understand Layout drawing of control cabinet , panel, power & control circuits. � Control 

Elements:– Isolator, pushbutton switches, Indicating lamps, MCB, Fuse, Contactor, Relays, Overload Relay, 

Timers, Rectifier, Limit switches, control transformers. Wiring Accessories: Race ways/ cable channel, DIN Rail, 

Terminal Connectors, Thimbles, Lugs, Ferrules, cable binding strap & buttons, nylon cable ties, sleeves, Gromats& 

clips � Domestic Appliances:– Working principles and circuits of common domestic equipment and appliances. – 

Calling Bell, Buzzer, Alarms, Electric Iron, Heater, Light. Electric Kettle, Heater / Immersion Heater, Hot Plate, 

Oven, Geyser, Cooking range, Mixer, Washing machine, , Motor Pump set, etc. Concept of Neutral and Earth. � 

POWER GENERATION :– Generation sources of energy, Comparison of energy resources. Types of fuels. 

Advantages of liquid fuel & solid fuel. Various ways of electrical power generation. • Thermal • Hydro electric • 

Nuclear • Non-Conventional Thermal Coal based, diesel based & Gas based Turbine. Constituents in steam power 

station. � Hydro Electric:– Schematic arrangement of Hydro-Electric Power Station. Constituents of Hydro 

Electric Plant. Types of Hydro Electric Power station. Advantages &disadvantages. � Nuclear:– Schematic 

arrangement of Nuclear Power Station. Composition of an atomic Nucleus. Advantages & disadvantages. 

Comparison of above Power Plant. � Non-Conventional– An introduction to Power generation through non-

conventional power generation such as Solar, Bio-Gas, Wind energy and Micro-hydel, Tidal waves, etc. Basic 

principal, Advantages & disadvantages of each. � TRANSMISSION OF ELECTRICAL POWER– Electrical 

Supply System : Comparison of AC and DC transmission. Advantages of High transmission voltage. Introduction to 

Single phase , three phase-3 wire system in transmission lines Overhead Lines: Main components of overhead lines-

Types of power line Low voltage line medium Voltage line & high voltage line Voltage standard Conductor 

materials, line supports, Insulators, types of Insulators � Under Ground Cable:– Construction of cables. Material 

for cables, its insulation. Classification of cables, cables for 3-phase service, Laying of underground cable. Types of 

cable faults and their location. � DISTRIBUTION OF POWER– Function and equipment used in substation. 

Classification of distribution system-AC distribution, Overhead v/s underground distribution system. Essential 

features of switchgears. Isolator, Switch gear equipments, bus-bar arrangement, Short circuit, faults in power 

system. � Circuit breakers– Introduction & Classification of circuit breakers lightening arrestors used in HT lines. 

Introduction, Construction & Working of power transistor, thyristor. Introduction, Construction, Working, 

Parameters & application of DC drive. Speed control of 3 phase induction motor by using VVVF/AC Drive. 

Introduction, Construction, Working, Parameters & application of AC drive Schedule of electrical preventive 

maintenance. Break down, Routine & Preventive maintenance of DC/AC machines, Voltage stabilizer, U.P.S. 

&Equipments. 
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RRB Assistant Loco Pilot 

Technician (Electrician) 

Solved Paper 
Exam Date: 23.01.2019]  [Timing: 08:30 to11:00 AM 

PART-A : NON-TECHNICAL 

1. In the following figure, the triangle represents 

actors, the square represents professors, the 

circle represents Indians and the rectangle 

represents fathers. Which set of letters 

represents Indians who are either professors or 

fathers? 

efvecveefueefKele Deeke=âefle ceW, ef$ekeâesCe DeefYevesleeDeeW keâe 
ØeefleefveefOelJe keâjlee nw, Jeie& ØeeshesâmejeW keâe ØeefleefveefOelJe 
keâjlee nw, Je=òe YeejleerÙeeW keâe ØeefleefveefOelJe keâjlee nw Deewj 
DeeÙele efhelee keâe ØeefleefveefOelJe keâjlee nw~ De#ejeW keâe keâewve 
mee mesš Ssmes YeejleerÙeeW keâe ØeefleefveefOelJe keâjlee nw pees Ùee 
lees Øeeshesâmej Ùee efhelee nQ?  

 
 (a) E (b) G 
 (c) CEF (d) IGH 
Ans : (c) efoS ieS DeejsKe mes mhe° nw efkeâ CEF Ssmes YeejleerÙeeW keâe 
ØeefleefveefOelJe keâjlee nw pees Ùee lees efhelee nw Ùee Øeeshesâmej~ 

2. A/An ...... is software used to maintain the 

security of a private network./––––––– Skeâ 
efvepeer vesšJeke&â keâer megj#ee yeveeS jKeves kesâ efueS ØeÙegòeâ 
mee@HeäšJesÙej nw ?  

 (a) firewall /HeâeÙejJee@ue 
 (b) click bait /efkeäuekeâJewš 
 (c) encryption /Sefv›eâhMeve 
 (d) malware /cewueJesÙej 
Ans : (a) HeâeÙejJee@ue Skeâ mee@HeäšJesÙej nw efpemekeâe GheÙeesie efvepeer 
vesšJeke&â keâer megj#ee yeveeS jKeves kesâ efueS efkeâÙee peelee nw~ 

3. Find the length (in cm) of the edge of a cube of 

a piece of wood which weighs 80 N. (Use g = 10 

m/s
2
, density of wood = 1g/cm

3
)/ 80N Yeej Jeeues 

uekeâÌ[er kesâ Skeâ Ieveekeâej šgkeâÌ[s keâer Yegpee keâer uebyeeF& 
(mesceer. ceW) %eele keâerefpeS (g=10m/s

2
, uekeâÌ[er keâe IevelJe 

=1g/cm
3
 ueW) 

 (a) 60 (b) 20 
 (c) 80 (d) 40 

Ans : (b) ceevee Ieveekeâej šgkeâÌ[s keâer Yegpee = a 

leLee  DeeÙeleve (v) = a3 
efoÙee nw,  yeue = 80 N 

 g = 10 m/s2 
 IevelJe (ρ) = 1 g/cm3 = 1000 kg/m3 
 yeue (F) = m × g 

 80 = m × g 

 m = 8 kg 

 IevelJe (ρ) = 
m

v

(õJÙeceeve)
(DeeÙeleve)

 

 8
1000

v
=  

 8
V

1000
=  

Ùee  (a)3 = 
8

1000
  

3

3 2
(a)

10

 =  
 

 

2
(a) m

10
=  

Ùee a = 
2

100 cm
10

×  

a = 20 cm 

Dele: Ieveekeâej šgkeâÌ[s keâer Yegpee keâer uecyeeF& 20 cm nw~     
4. Find mass of an iron cube of side 2 cm. 

(Density of iron is 7.8 gm/cm
3
)/2 mesceer. Yegpee Jeeues 

ueesns kesâ Ieve keâe õJÙeceeve %eele keâerefpeS~ (ueesns keâe 
IevelJe 7.8gm/cm

3
 nw) 

 (a) 15.6gm (b) 3.9gm 
 (c) 0.975gm (d) 62.4gm 
Ans : (d) ueesns kesâ Ieve keâe DeeÙeleve = 2×2×2 = 8 mesceer3 

Ieve keâe õJÙeceeve · DeeÙeleve × IevelJe  
   = 8×7.8 

   = 62.4gm 
5. Choose the letters which are different from the 

rest./Gve De#ejeW keâes ÛegveW pees yeekeâer mes Deueie nQ~ 
 (a) VTR (b) PRT 
 (c) HJL (d) UWY 
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Ans : (a) efJekeâuheeW mes -  

( )

( )

( )

( )

2 2a V T R

2 2b P R T

2 2c H J L

2 2d U W Y

− −→ →
+ +→ →
+ +→ →
+ +→ →

 

Dele: efJekeâuhe (a) yeekeâer mes Deueie nw~  
6. Find the missing number in the given series./ 
 oer ieF& ëe=bKeuee ceW ueghle mebKÙee %eele keâerefpeS 
 –1.3, –0.8, –0.3, ?, 0.7, 1.2  
 (a) 0.3 (b) 0.4 
 (c) 0.1 (d) 0.2 
Ans : (d) oer ieÙeer ëe=bKeuee efvecveJele nw– 

 
Dele: ? 0.2=  

7. A said to B, "You are my husband's daughter -
in-law's son. "How is B related to A?/A ves B mes 
keâne, ‘‘Deehe cesjs heefle keâer yent kesâ yesšs nQ~’’ B Deewj A kesâ 
yeerÛe keäÙee efjMlee nw? 

 (a) B is the son of A/ B, A keâe yesše 
 (b) B is the grandson of A/ B, A keâe heeslee/veeleer 
 (c) B is the brother of A/ B, A keâe YeeF& nw 
 (d) B is the father of A/ B, A keâe efhelee nw 
Ans : (b) keâLeve kesâ Devegmeej,  

 
Dele: mhe° nw efkeâ B, A keâe heeslee/veeleer nw~  

8. When a number is increased by 36, it becomes 
109% of itself. What is the number?/keâesF& mebKÙee 
36 mes yeÌ{ves kesâ yeeo Deheves 109% kesâ yejeyej nes peeleer 
nw lees Jen mebKÙee keäÙee nw? 

 (a) 300 (b) 450 
 (c) 360 (d) 400 
Ans : (d) ceevee meKbÙee = x 

ØeMveevegmeej,  

 109
x 36 x

100
+ = ×  

 100x+3600 = 109x 
 9x = 3600 
 x = 400 
Dele: DeYeer‰ mebKÙee = 400  

9. The Umaid Bhawan Palace is in which city? 
 Gccewo YeJeve hewuesme efkeâme  Menj ceW efmLele nw? 
 (a) Jaipur/peÙehegj (e) Bikaner/yeerkeâevesj 
 (c) Jodhpur/peesOehegj (d) Udaipur/GoÙehegj  

Ans : (c) Gccewo YeJeve hewuesme jepemLeeve kesâ peesOehegj efpeues ceW efmLele 
Skeâ cenue nw~ Fme YeJeve keâe veece Fmekesâ mebmLeehekeâ cenejepee Gccewo 
efmebn kesâ veece hej jKee ieÙee nw~ 

10. Antihistamines are found in some first-aid 

boxes. When should these drugs be taken? 
 SbšerefnmšeceeFve oJeeSb, kegâÚ ØeeLeefcekeâ efÛeefkeâlmee JeekeämeeW 

ceW ceewpeto nesleer nw~ Fve oJeeDeeW keâes keâye efueÙee peevee 
ÛeeefnS ? 

 (a) To ease indigestion and heartburn 
  DeheÛe SJeb meerves ceW peueve keâes keâce keâjves kesâ efueS 
 (b) To ease the symptoms of hay fever and other 

allergies/hejeiepe pJej (ns heâerJej) Deewj DevÙe Suepeea 
kesâ ue#eCeeW keâes keâce keâjves kesâ efueS 

 (c) To bring relief from asthma 
  DemLecee mes jenle heeves kesâ efueS 
 (d) To aid in clotting of blood 
  jòeâ kesâ Lekeäkesâ peceeves ceW ceoo keâjves kesâ efueS  
Ans : (b) SbšerefnmšeceeFve oJeeDeeW keâe GheÙeesie hejeiepe pJej (ns 
HeâerJej), efheòeer, ves$e MeesLe, Suepeea kesâ ue#eCeeW keâes otj keâjves kesâ efueS 
leLee keâerÌ[s kesâ keâešves Ùee [bkeâ kesâ GheÛeej kesâ efueS efkeâÙee peleee nw~  

11. The weights of 3 boxes are 4, 7 and 10 

kilograms. Which of the following CANNOT 

be the total weight, in kilograms, of any 

combination of these boxes ? 

3 yekeämeeW keâe Jepeve 4, 7 Deewj 10 efkeâuees«eece nw, FveceW mes 
keâewve yekeämeeW kesâ efkeâmeer Yeer mebÙeespeve keâe efkeâuees«eece ceW 
kegâue Jepeve veneR nes mekeâlee ? 

 (a) 14 (b) 21 
 (c) 18 (d) 17 
Ans : (c) leerve yekeämeeW keâe Jepeve ›eâceMe: 4, 7 Deewj 10 efoÙee ieÙee nw~  
ØeMveevegmeej,  
leerveeW yekeämeeW keâe kegâue Jepeve · 4 + 7 + 10 = 21  

efkeâvneR oes yekeämeeW keâe Jepeve = 10 + 4 = 14  

efkeâvneR oes yekeämeeW keâe Jepeve · 10 + 7 = 17  

Dele: 18 efkeâmeer Yeer mebÙeespeve keâe efkeâuees«eece ceW kegâue Jepeve veneR nes 
mekeâlee nw~   

12. Find the potential difference (in V) across a 

resistance of 2.5 kΩ through which a 2 mA 

current flows./2.5kΩ kesâ Gme ØeeflejesOe hej 
efJeYeJeevlej (V ceW) %eele keâerefpeS, efpememes 2mA keâer 
efJeÅegle Oeeje ØeJeeefnle nesleer nw~ 

 (a) 0.8 (b) 1.25 
 (c) 0.2 (d) 5 
Ans : (d) ØeeflejesOe (R) = 2.5 kΩ 

       = 2.5× 103Ω 

 Oeeje (I) = 2 mA 

             = 2×10–3A 

efJeYeJeevlej (v) = ØeeflejesOe (R) × efJeIegle Oeeje (I) 
        = 2.5×103Ω × 2 × 10–3 A 

        = 5    
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13. Which of the following folk dances is from 

Assam?/efvecveefueefKele ceW mes keâewve mee Demece keâe ueeskeâ 
ve=lÙe nw? 

 (a) Bagurumba/yeeieg®cyee (b) Giddha/efieöe 
 (c) Nati/veešer (d) Lezim/uesefPece  
Ans : (a) yeeieg®cyee ve=lÙe Demece keâe meyemes ueeskeâefØeÙe ueeskeâve=lÙe nw 
Fme ve=lÙe keâes efleleueer ve=lÙe Yeer keâne peelee nw~ Ùen ve=lÙe ceOÙe DeØewue 
kesâ oewjeve efJeMes<e ™he mes efJeMegyee meb›eâeefle kesâ ceewmece kesâ oewjeve efkeâÙee 
peelee nw~ 
ve=lÙe   jepÙe 
veešer  - efnceeÛeue ØeosMe 
efieöe   - hebpeeye 
uesefPece  - ceneje<š^  

14. What is the relative density of a solid of mass 

50 gm which when fully immersed in water 

weighs 10 gm?/50 «eece õJÙeceeve Jeeues Gme "esme keâe 
Deehesef#ekeâ IevelJe %eele keâerefpeS, efpemes heeveer ceW hetjer lejn 
mes [gyeeÙes peeves hej Gmekeâe Jepeve 10 «eece Øeehle neslee nw? 

 (a) 0.8 (b) 1.25 
 (c) 2.5 (d) 5 
Ans : (b) "esme keâe õJÙeceeve = 50 gm 

 "esme kesâ Yeej ceW keâceer = 50 – 10 = 40 gm 

Dele: efJemLeeefhele heeveer keâer cee$ee = 40 gm 

 heeveer keâe IevelJe  = 1 gm/cc 

 "esme keâe DeeÙeleve = 40 cc 

Dele: "esme keâe IevelJe  = 
õJÙeceeve
DeeÙeleve

 

 50
1.25gm / cc

40
=  

Deehesef#ekeâ IevelJe = 
"esme keâe IevelJe
heeveer keâe IevelJe

 

       1.25

1
=  

       = 1.25 gm/cc   

15. One statement is given, followed by two 

assumptions, I & II. You have to consider the 

statement to be true, even if it seems to be at 

variance from commonly known facts. You 

have to decide which of the given assumptions 

can definitely be drawn from the given 

statement./Skeâ keâLeve efoÙee ieÙee nw, Fmekesâ yeeo oes 
OeejCeeSB I Deewj II oer ieF& nQ~ Deehekeâes keâLeve keâes melÙe 
ceevevee nw, Yeues ner Ùen meeceevÙe ™he mes %eele leLÙeeW mes 
efYeVe nes~ Deehekeâes Ùen leÙe keâjvee nw efkeâ efoS ieS keâLeve 
ceW mes keâewve meer OeejCee efveefMÛele ™he mes lewÙeej keâer pee 
mekeâleer nw~ 

  Statement: "You are appointed as a trainee 

accountant on temporary basis. Your 

employment status will automatically be 

converted to permanent on submission of pass 

result of M.Com final exam. "– Extract from 

an appointment letter.  
 keâLeve: ‘‘Deehekeâes DemLeeÙeer DeeOeej hej ØeefMe#eg uesKeekeâej 

kesâ ™he ceW efveÙegòeâ efkeâÙee ieÙee nw~ Sce.keâe@ce keâer Debeflece 
hejer#ee GòeerCe& nesves keâe heefjCeece Øemlegle keâjves hej 
Deehekeâe jespeieej mJele: ner mLeeÙeer nes peeSiee~’’  

 efveÙegefòeâ he$e keâe DebMe~ 
  Assumptions : 

  ceevÙeleeSb:  
 I. M.Com final exam is a reasonable proof of 

an accountant's capability/Sce.keâe@ce. Debeflece 
hejer#ee Skeâ SkeâeGbšWš keâer #ecelee keâe Skeâ GefÛele 
ØeceeCe nw~ 

 II. All trainees are appointed on temporary 

basis/meYeer ØeefMe#egDeeW keâes DemLeeÙeer DeeOeej hej 
efveÙegòeâ efkeâÙee peelee nw~  

 (a) Both I and II are implicit 
  OeejCee I Deewj II oesveeW Debleefve&efnle nw 
 (b) Only assumption I is implicit 
  kesâJeue OeejCee I Debleefve&efnle nw 
 (c) Neither I nor II is implicit 
  ve lees OeejCee I Deewj ve ner II Debleefve&efnle nw 
 (d) Only assumption II is implicit 
  kesâJeue OeejCee II Debleefve&efnle nw~ 
Ans : (b) efoS ieS keâLeve ceW kesâJeue Deewj kesâJeue OeejCee I 

Devleefve&efnle nw keäÙeeWefkeâ keâLeve kesâ Devegmeej Ùen mhe° efkeâÙee ieÙee nw efkeâ 
mLeeÙeer ™he mes efveÙegòeâ nesves kesâ efueS Sce.keâe@ce GòeerCe& nesvee DeefveJeeÙe& nw~ 

16. If a shopkeeper sells an item at ` 2,700, he 

makes 8% profit. If he sells the item at ` 3,000 

what will be the percentage of profit?/Ùeefo keâesF& 
ogkeâeveoej `2700 hej Skeâ Jemleg yesÛelee nw, lees Jen 8% 

ueeYe keâceelee nw~ Ùeefo Jen `3000 hej Jemleg keâes yesÛelee 
nw, lees ueeYe keâe ØeefleMele keäÙee nesiee ? 

 (a) 25 (b) 10 
 (c) 20 (d) 12 

Ans : (c) Jemleg keâe ›eâÙe cetuÙe 
( )

100

100 P%

×
=

+

efJe›eâÙe cetuÙe  

   
2700 100

108

×
=  

   = `2500 

Ùeefo Jemleg `3000 ceW yesÛeer peeleer nw, leye Øeehle nesves Jeeuee ueeYe  

        3000 2500
% 100

2500

−
= ×   

   
500

100
2500

= ×   

   = 20% 
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17. Rearrange the parts of the sentence in correct 

order./JeekeäÙe kesâ Keb[eW keâes mener ›eâce ceW hegveJÙe&JeefmLele 
keâjW~ 

  In terms of reasons that a customer 

 keâejCeeW kesâ meboYe& ceW efkeâ Skeâ «eenkeâ 
  X - possibility is that they've actually finished 

changing, but  

 X-mebYeeJevee nw efkeâ GvneWves JeemleJe ceW ÛeWefpebie (keâheÌ[e 
yeouevee) keâj efueÙee nw, uesefkeâve 

  Y - might not come out of the changing room, 

one 

 Y- Jes ÛeWefpebie ™ce mes yeenj veneR DeeS neWies, Skeâ  
  Z -  the clothes are hopelessly unsuitable   

 Z- keâheÌ[s efvejeMeepevekeâ ™he mes DevegheÙegòeâ nQ 
 (a) XZY (b) ZYX 
 (c) ZXY (d) YXZ 
Ans : (d) JeekeäÙe kesâ KeC[es keâe mener ›eâce YXZ nesiee, efpememes 
yeveves Jeeuee JeekeäÙe efvecveJeled nw~  
Skeâ «eenkeâ, Jes ÛeWefpebie ™ce mes yeenj veneR DeeS neWies, Skeâ mebYeeJevee 
nw efkeâ GvneWves JeemleJe ceW ÛeWefpebie (keâheÌ[ yeouevee) keâj efueÙee nw, 
uesefkeâve keâheÌ[s efvejeMeepevekeâ ™he mes DevegheÙegòeâ nQ~   

18. An arrowhead at the end of a dimension line is 

approximately––––– long and 1 mm wide. 

Skeâ efJeceemetÛekeâ jsKee ([eÙeceWMeve ueeFve) kesâ efmejs hej 
ceewpeto leerve keâer veeskeâ ueieYeie ...... uebyeer Deewj 1mm 

ÛeewÌ[er nesleer nw~ 
 (a) 1.5mm (b) 5mm 
 (c) 3mm (d) 1mm 
Ans : (d) [eÙeceWMeve ueeFve efpemes efJeceemetÛekeâ jsKee Yeer keânles nw~ Ùen 
Skeâ heleueer melele jsKee nw pees 3mm uebyeer leLee 1 mm ÛeewÌ[er nesleer nw~ 

 
[eÙeceWMeve ueeFve keâe ØeÙeesie efkeâmeer Deeypeskeäš Ùee (efvekeâeÙe) keâe ceehe 
oMee&ves kesâ efueS efkeâÙee peelee nw~ 

19. Green and yellow vegetables in our diet mostly 

provide us which element as food?/nceejs Deenej 
ceW ceewpeto njer Deewj heerueer meefypeÙeeb pÙeeoelej nceW Yeespeve 
kesâ ™he ceW keâewve mee lelJe Øeoeve keâjleer nQ ? 

 (a) Copper/leebyee 
 (b) Potassium /heesšwefMeÙece 
 (c) Sodium/meesef[Ùece 
  (d) Zinc/pemlee  

Ans : (b) nceejs Deenej ceW ceewpeto njer Deewj heerueer meefypeÙeeB pÙeeoelej 
nceW Yeespeve kesâ ™he heesšwefMeÙece lelJe Øeoeve keâjleer nw~ 
heesšwefMeÙece keâer keâceer kesâ ue#eCeeW ceW keâcepeesjer Deewj Lekeâeve, ceebmehesefMeÙeeW 
ceW SW"ve leLee pekeâÌ[ve, PegvePegveeR Deewj megVelee, meebme uesves ceW keâef"veeF& 
Deeefo Meeefceue nw~ 

20. An object with greater–––––has greater inertia  
 DeefOekeâ......... Jeeueer Jemleg keâe peÌ[lJe DeefOekeâ neslee nw~ 
 (a) Acceleration/lJejCe (b) Mass/õJÙeceeve 
 (c) Velocity/Jesie (d) Volume/DeeÙeleve  

Ans : (b) DeefOekeâ õJÙeceeve Jeeueer Jemleg keâe peÌ[lJe Yeer DeefOekeâ neslee 
nw~ cee$eelcekeâ ™he mes efkeâmeer Jemleg keâe peÌ[lJe Gmekesâ õJÙeceeve mes ceehee 
peelee nw~  
efkeâmeer efheb[ keâe Jen iegCe efpemekesâ keâejCe efheb[ efJejece keâer DeJemLee ceW 
Ùee Skeâmeceeve Jesie mes ieefle keâer DeJemLee ceW efkeâmeer Øekeâej kesâ heefjJele&ve 
keâe efJejesOe keâjlee nw~ peÌ[lJe keânueelee nw~ 

21. Which team won the Indian Premier Leagur 

(IPL) in 2018?/efkeâme šerce ves 2018 ceW DeeÙeesefpele 
Fbef[Ùeve ØeerefceÙej ueerie (DeeF&heerSue) peerleer ?  

 (a) Royal challengers Bangalore/ 
  je@Ùeue ÛewueWpeme& yeQieueesj 
 (b) Chennai Super Kings/ÛesVeF& meghej efkebâime 
 (c) Hyderabad Sunrisers/nwojeyeeo mevejeFpeme& 
 (d) Kolkata Knight Riders/keâesuekeâelee veeFš jeF[me&  
Ans : (b) ÛesVeF& meghej efkebâime ves 2018 mebmkeâjCe ceW DeeF&.heer.Sue 
š^e@Heâer peerleer~ 
2022 DeeF&.heer.Sue ceW 2 veF& šerceeW kesâ pegÌ[ves kesâ yeeo Deye kegâue 10 
šerceW nes ieÙeer nw~ iegpejele šeFšvme ves DeeF&.heer.Sue 2022 keâe efKeleeye 
jepemLeeve je@Ùeume keâes hejeefpele keâj peerlee~ 

22. Binary 110110101 is equal to decimal––––––. 

yeeFvejer 110110101 oMeceueJe ....... kesâ yejeyej nw~  
 (a) 477 (b) 349 
 (c) 437 (d) 333 
Ans : (c) (110110101)2 = (?)10 
1 1 0 1 1 0 1  0 1 
0×26 + 1×25 + 1×24 + 0×23 + 1×22 + 0×21 + 1×20 + 1 × 
27 + 1×28 

256 + 128 + 32 + 16 + 4 + 1 = 437 
23. The Living Planet Report, released every two 

years, it the flagship publication of which 

organisation?/‘efueefJebie huewvesš efjheesš&’ nj oes meeue ceW 
peejer keâer peeleer nw, Ùen efkeâme mebie"ve keâe ØecegKe ØekeâeMeve nw? 

 (a) World Wide Fund for Nature/ 
  Jeu[& JeeF[ heâC[ heâe@j vesÛej  
 (b) The Nature Conservancy/o vesÛej kebâpeJeXmeer 
 (c) Conservation International/kebâpeJeXMeve FbšjvesMeveue  
 (d) Wildlife Conservation society 
  JeeFu[ueeFheâ kebâpeJexMeve meesmeeFšer  
Ans : (a) Jeu[& JeeF[ HeâC[ Heâe@j vesÛej Éeje nj 2 meeue ceW 
‘efueefJebie huewvesš efjheesš&’ ØekeâeefMele keâer peeleer nw~ 
‘efueefJebie huewvesš efjheesš& 2022’ kesâ Devegmeej, efheÚues 50 Je<eeX ceW 
ogefveÙee Yej ceW mleveOeeefjÙeeW, heef#eÙeeW, GYeÙeÛejeW, mejerme=heeW Deewj 
ceÚefueÙeeW keâer Deeyeeoer ceW 69% keâer efiejeJeš DeeF& nw~   

24. Who was the chairman of the Constitution 

Committee ?  

 mebefJeOeeve cemeewoe meefceefle kesâ DeOÙe#e keâewve Les ? 
 (a) Sardar Patel/mejoej hešsue 
 (b) Dr. Rajendra Prasad/[e@. jepesvõ Øemeeo 
 (c) Dr. BR Ambedkar/[e@. yeer.Deej Decyes[keâj  
 (d) Jawaharlal Nehru/peJeenj ueeue vesn™  
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Ans : (c) mebefJeOeeve meYee keâer henueer yew"keâ 9 efomebyej 1946 keâes 
ngF& Leer~ mebefJeOeeve kesâ Øee™he hej efJeÛeej efJeceMe& keâjves kesâ efueS 
mebefJeOeeve meYee Éeje 29 Deiemle, 1947 F&. keâes Skeâ mebkeâuhe heeefjle 
keâjkesâ cemeewoe/Øee™he meefceefle keâe ie"ve efkeâÙee ieÙee~   
[e@. yeer. Deej. Decyes[keâj mebefJeOeeve meYee keâer cemeewoe meefceefle kesâ 
DeOÙe#e Les~ 

25. Acceleration due to gravity on moon is 1/6th 

that on earth. How would an astronaut weigh 

on moon if he weighs 90 kgf on earth? 

(acceleration due to gravity on earth = 

10m/s
2
)/ Ûevõcee hej ieg®lJepeefvele lJejCe he=LJeer keâe 

1/6 nw~ Ùeefo he=LJeer hej efkeâmeer Debleefj#e Ùee$eer keâe Yeej 
90kgf nw, lees Ûebõcee hej Gmekeâe Yeej efkeâlevee nesiee? 
(he=LJeer hej ieg®lJepeefvele lJejCe =10m/s

2
) 

 (a) 9N (b) 90N 
 (c) 150N (d) J15 
Ans : (c) õJÙeceeve (m) = 90 efkeâuees«eece 
 ieg™lJeerÙe lJejCe (g) = 10 ceer/mes2 
Dele: he=LJeer hej Ùee$eer keâe Yeej,  
 w = m × g 

     = 90 × 10 

     = 900 N 

Deye Ûevõcee hej Yeej = 
1

6
× he=LJeer keâer melen hej Yeej  

          = 
1

6
× 900 

               = 150 N    

26. What is the area (in cm
2
) of an equilateral 

triangle of side 8 cm?/8 mesceer. YegpeeDeeW Jeeues 
meceyeeng ef$eYegpe keâe #es$eheâue (mesceer2 ceW) keäÙee nesiee ? 

 (a) 32 3  (b) 8 3  
 (c) 64 3  (d) 16 3  

Ans : (d) meceyeeng ef$eYegpe keâe #es$eheâue 3

4
= (Yegpee)2 

Dele: 8 mesceer. Yegpee Jeeues meceyeeng ef$eYegpe keâe #es$eheâue  

    ( )23
8

4
= ×  

    3
64

4
= ×  

    16 3= mesceer.2  
27. What is the angle between the hour hand and 

the minute hand at half past two?/{eF& yepes Iebšs 
keâer megF& Deewj efceveš keâer megF& kesâ yeerÛe keâesCe keäÙee nesiee? 

 (a) 900 (b) 1050 
 (c) 750 (d) 1200 

Ans : (b) 2:30 yepes IeCšs Deewj efceveš Jeeueer megF& kesâ yeerÛe keâe 
keâesCe- 

met$e -  ( )2
m 30 h

11
= × ± θ   

 ( )2
30 30 2

11
= × ± θ   

 0 015 11 60 165 60× = ± θ⇒ = ± θ   

⇒ θ = 1650 – 600 = 1050 
28. Choose the one which is different from the 

rest./pees yeekeâer mes Deueie nw, Gmes ÛegveW~ 
 (a) Father/efhelee (b) Brother/YeeF& 
 (c) Mother-in-law/meeme (d) Son/heg$e 
Ans : (c) efJekeâuhe (a), (b) leLee (d) ceW efoS ieS Meyo heg™<e keâe 
ØeefleefveefOelJe keâjles nw, peyeefkeâ efJekeâuhe (c) ceefnuee keâe ØeefleefveefOelJe 
keâjlee nw~ Dele: efJekeâuhe (c) DevÙe mes efYeVe nw~  

29. Find the heat capacity of a pan of mass 200 g if 

its temperature rises by 8º C on receiving 

20000 J of heat./200gm õJÙeceeve Jeeueer Skeâ keâÌ[ener 
(hewve) keâer T<cee Oeeefjlee %eele keâerefpeS, Ùeefo Fmes 2000 J 

T<cee efoS peeves hej Fmekesâ leeheceeve ceW 8
0
C keâer Je=efæ 

nesleer nw~  
 (a) 250JK–1 (b) 50JkG–1K–1 
 (c) 1.25Jkg–1K–1 (d) 5JK–1 
Ans : (a) õJÙeceeve (m) = 200 gm 

 leehe ceW Devlej (∆T) = 8ºC 

 T<cee (∆Q) = 2000 J 

 T<cee Oeeefjlee = 
T<cee keâer cee$ee

leehe Je=efæ
 

    = Q

T

∆
∆

 

    = 
2000

8
 

    = 250 Jk–1   
30. In the following question, which set of letter 

and numbers, when sequentially placed at the 

gaps in the given series, shall complete it? 

 efvecveefueefKele ØeMve ceW, De#ejeW Deewj mebKÙeeDeeW keâe keâewve 
mee mecetn, oer ieF& ëe=bKeuee ceW Deblejeue hej ›eâefcekeâ ™he mes 
jKeves hej, Fmes hetje keâjsiee ? 

 1_2x_bb_yy_cc_6zzz 
 (a) 3a45c (b) 3a4b5 
 (c) a345c (d) 3a45b 
Ans : (c) oer ieÙeer ëe=bKeuee efvecveJele nw– 

 
Dele: efjòeâ mLeeveeW kesâ yeerÛe Yejer peevesJeeueer mebKÙee = a 3 4 5 c 



 

RRB ALP Technician (Electrician) 23.01.2019 Shift-I  12 YCT 

31. ......... is when we cover a surface with a pattern 

of the shapes so that there are no overlaps or 

gaps. /________ leye neslee nw peye nce efkeâmeer melen 
keâes Deeke=âefleÙeeW kesâ hewšve& mes Ì{keâ osles nw leeefkeâ keâesF& 
DeesJejuewhe Ùee iewhe ve nes ~ 

 (a) Gradient /ØeJeCelee/Ì{eue  
 (b) Kerning /keâefve&ie 
 (c) Tessellation /šsmesuesMeve 
 (d) Tracking /š^wefkebâie   
Ans : (c) Skeâ šsmesuesMeve (Ùee šeFefuebie) leye neslee nw peye nce Skeâ 
melen keâes meheeš Deekeâej kesâ hewšve& kesâ meeLe keâJej keâjles nw leeefkeâ keâesF& 
DeesJejuewhe Ùee Deblejeue ve nes~ 

32. Two children, weighing 30 kg and 15 kg, sit on 

one side of a see-saw at a distance of 1 m and 

1.2 m respectively, from the fulcrum. A boy of 

'M' kg sits on the other side of the see-saw at a 

distance of 1.2 m form the fulcrum, and the 

see-saw is in equilibrium. Find M. 

30kg Deewj 15kg Jepeve Jeeues oes yeÛÛes, Petues (meer-mee@) 
kesâ Skeâ lejHeâ Deeuebye mes ›eâceMe: 1ceeršj Deewj 1.2 ceeršj 
keâer otjer hej yew"s nQ 'M'kg keâe Skeâ ueÌ[keâe Petues (meer-
mee@) kesâ otmejer lejheâ Deeuebye mes 1.2 ceeršj keâer otjer hej 
yew"lee nw, Deewj Petuee (meer-mee@) meblegueve keâer DeJemLee ceW 
nw~ M keâe ceeve %eele keâerefpeS~  

 (a) 45 (b) 48 
 (c) 40 (d) 36 
Ans : (c)  

 
yeue DeeIetCe& (τ) = yeue × efyevog 0 mes yeue keâer uecyeJeled otjer 
   τ = F × r 
       = (m × g) × r 
M × g × 1.2 = 30 × g × 1 + 15 × g × 1.2 
(1.2 × M)g = g (30×1 + 15 × 1.2) 
1.2 M = 30  +18.0  
1.2 M = 48 

M = 
48

40
1.2

=  

M = 40 kg 

33. A––––map converts coluor intensity or 

grayscale information to heights to give the 

appearance that features are raised above the 

surface, like embossed letters./........cewhe, jbie keâer 
leer›elee Ùee «es mkesâue mebyebOeer peevekeâejer keâes Fme Øekeâej keâer 
efoKeeJeš Øeoeve keâjves kesâ efueS GYeejlee nw, efpememes Jen 
melen kesâ Thej G"s ngS, pewmes GYeejoej De#ejeW ceW, Øeleerle 
nesles nQ~ 

 (a) Tint/efšbš (b) tone/šesve 
 (c) bump/yebhe (d) Shade/Mes[  

Ans : (c) yeche cewhe jbie keâer leer›elee Ùee «es mkesâue keâer peevekeâejer keâes 
TBÛeeF& ceW yeoue oslee nw leeefkeâ Ssmee DeeYeeme efoÙee pee mekesâ efkeâ 
efJeMes<eleeSb melen mes Thej G"er ngF& nQ pewmes GYejs ngS De#ej~ yecye 
cewefhebie Skeâ Ssmeer efJeefOe nw efpemekeâe GheÙeesie keâchÙetšj «eeefHeâkeäme ceW Jemleg 
keâer melen hej Pegefj&ÙeeW Deewj OekeäkeâeW keâe DevegmejCe keâjves kesâ efueS efkeâÙee 
peelee nw~   

34. In a certain code language, '+' represents '×', 

'÷' represents '+', '–' represents '÷' and '×' 

represents '–'. Find out the answer to the 

following question./Skeâ efveefMÛele ketâš Yee<ee ceW, '+' 

mes '×' keâes JÙeòeâ efkeâÙee peelee nw, '÷' mes '+' keâes JÙeòeâ 
efkeâÙee peelee nw, '–' mes '÷' keâes JÙeòeâ efkeâÙee peelee nw Deewj 
'×' mes '–' keâes JÙeòeâ efkeâÙee peelee nw~ efvecveefueefKele ØeMve 
keâe Gòej %eele keâerefpeS~ 

 12÷6–2+10×5 = ?  
 (a) 37 (b) 23 
 (c) 16 (d) 50 
Ans : (a) efoS ieS efÛeÖeW keâes heefjJeefle&le keâjkesâ nue keâjves hej– 
efoÙee ieÙee meceerkeâjCe -  
 12÷ 6–2+10×5 

ØeMve kesâ Devegmeej 
 = 12 + 6 ÷ 2 × 10 – 5 

 = 12 + 3 × 10 – 5 

 = 12 + 30 – 5 

 = 42 – 5 

 = 37 
35. To––––– is to prepare a storage medium, 

usually a disk, for reading and writing. 

........... keâjvee, efkeâmeer meb«eenkeâ ceeOÙece, meeceevÙele: 
ef[mkeâ, keâes hee"ve (jeref[bie) SJeb uesKeve (jeFefšbie) kesâ 
efueS lewÙeej keâjvee nw~ 

 (a) defrag/ef[øewâie (b) boot/yetš 
 (c) map/cewhe (d) format/heâe@cexš 
Ans : (d) Heâe@cexš keâjvee, efkeâmeer meb«eenkeâ ceeOÙece, meeceevÙele: 
ef[mkeâ, keâes hee"ve (jeref[bie) SJeb uesKeve (jeFefšbie) kesâ efueS lewÙeej 
keâjvee nw~ 

36. If A, B and C can do a task working alone in 

12, 18 and 36 days respectively. They all work 

together for 2 days, then B quits. How many 

days will A and C take to complete rest of the 

task?/Ùeefo A, B Deewj C ›eâceMe: 12, 18 Deewj 36 efoveeW 
ceW Skeâ keâece keâes Dekesâues hetje keâj mekeâles nQ~ Jes meYeer 2 
efoveeW kesâ efueS Skeâ meeLe keâece keâjles nQ, efheâj B keâece 
ÚesÌ[ oslee nw~ A Deewj C Skeâ meeLe keâece keâjles jns lees 
Mes<e keâeÙe& keâes efkeâleves efoveeW ceW hetje keâjWies ? 

 (a) 3 (b) 4 
 (c) 9 (d) 6 
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Ans : (d) A, B Deewj C Éeje efkeâ 1 efove ceW efkeâÙee ieÙee keâeÙe&  

  
1 1 1

12 18 36
= + +  

  
3 2 1 6 1

36 36 6

+ +
= = = Yeeie 

Dele: A, B leLee C Éeje 2 efove ceW efkeâÙee ieÙee keâeÙe& 1
2

6
= ×   

     1

3
= Yeeie 

 Mes<e keâeÙe& 1 2
1

3 3
= − =  Yeeie  

Dele: Mes<e keâeÙe& keâes A leLee C Éeje keâjves ceW ueiee meceÙe  

  

2 2
2 363 3

1 1 3 1 3 4

12 36 36

= = = ×
+

+
 

  = 6 efove 
37. The resistance of a metal rod depends on all of 

the following, EXCEPT–––––./Skeâ Oeeleg keâer ÚÌ[ 
keâe ØeeflejesOe ....... kesâ DeueeJee efvecveefueefKele meYeer hej 
efveYe&j keâjlee nw~ 

 (a) Density/IevelJe 
 (b) Resistivity/ØeeflejesOekeâlee 
 (c) Temperature/leeheceeve 
 (d) Length/uebyeeF&  
Ans : (a)   

 ØeeflejesOe (R) = 
L

A

ρ  

peneB, L = Oeeleg keâer ÚÌ[ keâer uecyeeF& (L) 

       A = DevegØemLekeâeš keâe #es$eHeâue  
       ρ = ØeeflejesOekeâlee efveÙeleebkeâ 
Fme Øekeâej Oeeleg keâer ÚÌ[ keâe ØeeflejesOe uebyeeF& (L), DevegØemLekeâeš kesâ 
#es$eHeâue (A), Ûeeuekeâ heoeLe& keâer Øeke=âefle leLee leeheceeve pewmes 4 keâejkeâeWs 
hej efveYe&j keâjleer nw~ 
efoS ieS efJekeâuhe mes, Oeeleg keâer ÚÌ[ keâe ØeeflejesOe IevelJe hej efveYe&j 
veneR keâjleer nw~   

38. The National Skills Development corporation 

(NSDC) is a public-private partnership formed 

under India's––––––./je°^erÙe keâewMeue efJekeâeme efveiece 
(NSDC) Yeejle kesâ .......... kesâ lenle ieef"l Skeâ 
meeJe&peefvekeâ efvepeer meePesoejer nw~  

 (a) Ministry of Science & Technology 
  efJe%eeve SJeb ØeewÅeesefiekeâer ceb$eeueÙe 
 (b) Ministry of Finance/efJeòe ceb$eeueÙe 
 (c) Ministry of corporate Affairs 
  keâe@heexjsš ceeceueeW kesâ ceb$eeueÙe  
 (d) Ministry of Electronics & Information 

Technology/Fueskeäš^e@efvekeäme SJeb metÛevee ØeewÅeesefiekeâer 
ceb$eeueÙe 

Ans : (b) je<š^erÙe keâewMeue efJekeâeme efveiece (NSDC) Skeâ iewj-
ueeYekeâejer meeJe&peefvekeâ efueefcešs[ kebâheveer nw~ Fmekeâer mLeehevee 31 july 

2008 keâes kebâheveer DeefOeefveÙece, 1956 keâer Oeeje 25 kesâ lenle keâer 
ieF& Leer~ 
NSDC  keâer mLeehevee efJeòe ceb$eeueÙe ves mejkeâejer efvepeer Yeeieeroejer 
(Public Private Partnership - PPP) cee@[ue kesâ ™he ceW keâer Leer~ 
Ùen keâewMeue efJekeâeme Deewj GÅeefcelee ceb$eeueÙe kesâ DeOeerve keâece keâjlee 
nw~ Ùen osMe ceW keâewMeue ØeefMe#eCe kesâ efueS keâeÙee&vJeÙeve SpeWmeer nw~  

39. Who invented the blue jeans? 
 veerueer peeRme keâe DeeefJe<keâej efkeâmeves efkeâÙee Lee? 
 (a) Todd Oldham/še@[ Deesu[ce 
 (b) Gianni Versace/efieÙeeveer Jemexme 
 (c) Calvin Klein/kesâefuJeve keäuesve 
 (d) Levi Strauss/uesJeer mš^e@me 
Ans : (d) veerueer peeRme keâe DeeefJe<keâej uesJeer mš^e@me ves efkeâÙee Leeb 
Fvekeâer uesJeer mš^e@me Sb[ kebâheveer veecekeâ Heâce& nw pees veerueer peeRme yeveeves 
Jeeueer henueer kebâheveer nw~ 

40. If the speed of a car increases from 54 km/hr to 

90 km/hr, its kinetic energy would increase in 

the ratio–––––./Ùeefo efkeâmeer keâej keâer ieefle 54km/hr 

mes yeÌ{keâj 90km/hr nes peeleer nw, lees Fmekeâer ieefpele 
Tpee& .........kesâ Devegheele ceW yeÌ{ peeSieer~  

 (a) 3/5 (b) 4/9 
 (c) 9/16 (d) 9/25 
Ans : (d) ØeejefcYekeâ Jesie (µ) = 54 km/hr 

 Deefvlece Jesie (v) = 90 km/hr 

 ieeflepe Tpee& = 21
m v

2
× ×   

 (peneB m = õJÙeceeve, v = Jesie) 
ØeebefjcYekeâ Jesie (µ) kesâ efueS ieeflepe Tpee& 

     = 
1

m 54 54
2
× × ×  

Deefvlece Jesie (v) kesâ efueS ieeflepe Tpee&, 

    = 
1

m 90 90
2
× × ×  

Dele: ieeflepe Tpee& ceW Devegheele, 

   

1
m 54 54

2
1

m 90 90
2

× × ×
=

× × ×
 

   54 54

90 90

×
=

×
 

   9

25
=    

41. A bullet travels 90 m in 0.2 seconds. Find its 

speed in km/hr. 

Skeâ ieesueer 0.2 meskebâ[ ceW 90 ceeršj keâer otjer leÙe keâjleer 
nw~ Fmekeâer Ûeeue km/hr ceW %eele keâerefpeS~  

 (a) 162 (b) 1620 
 (c) 125 (d) 1250 
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Ans : (b) ieesueer keâer Ûeeue otjer
meceÙe

=  

  
90 18

0.2 5
= ×  

  = 1620km/hr   
42. Pipe A can fill a tank in 6 hours. Pipe B can 

empty it in 15 hours. If both the pipes are 

opened together, then the tank will be filled in 

how many hours? /heeFhe A efkeâmeer šQkeâ keâes 6 Iebšs 
ceW Yej mekeâlee nw~ heeFhe B Gmes 15 Iebšs ceW Keeueer keâj 
mekeâlee nw~ Ùeefo oesveeW heeFheeW keâes Skeâ meeLe Keesuee peelee 
nw, lees šQkeâ efkeâleves IebšeW ceW Yej peeSiee ?   

 (a) 9 (b) 12 
 (c) 10 (d) 8 

Ans : (c) heeFhe A Éeje 1 IeCšs ceW Yeje ieÙee 1

6
= Yeeie 

heeFhe B Éeje 1 Iebšs ceW Keeueer efkeâÙee ieÙee Yeeie 1

15
= Yeeie 

Dele: A Deewj B oesveeW keâes Skeâ meeLe Keesueves hej šQkeâ keâes Yejves ceW 

ueiee meceÙe 1

1 1

6 15

=
−

  

 
1 1

10
5 2 3

30 30

= = =
−

 Iebšs 

Dele: šQkeâ 10 Iebšs ceW Yej peeSiee~  
43. If half a liter of hot water at 90º C is mixed 

with three and a half liters of cold water at 10º 

C, find the final equilibrium temperature (in 

ºC) if no heat is lost./Ùeefo 90
o
C leeheceeve Jeeues 

DeeOee ueeršj iece& heeveer keâes 10
o
C leeheceeve Jeeues meeÌ{s 

leerve ueeršj "b[s heeveer kesâ meeLe efceueeÙee peelee nw, lees 
keâesF& G<cee neefve ve nesves hej, Debeflece meblegueve leeheceeve 
(

o
C ceW) %eele keâerefpeS~ 

 (a) 50 (b) 20 
 (c) 40 (d) 30 
Ans : (b) ceevee Debeflece meblegefuele leeheceeve TºC nw leye 
 Heat lost    = Heat gain 

 m1c ∆T1    = m2c ∆T2 

 m1 ∆T1    = m2 ∆T2  

 ( ) ( )1 7
90 T T 10

2 2
− = −  

 (90 – T) = (7T –70) 

 8T = 160 

 
160

T
8

=  

  T = 20ºC    
44. Which of the following is NOT a base unit?  

efvecveefueefKele ceW mes keâewve meer cetue FkeâeF& veneR nw? 
 (a) Radian/jsef[Ùeve (b) Mole/ceesue 
 (c) Ampere/SefcheÙej (d) Candela/kewâv[suee 

Ans : (a) Sme.DeeF&. 7 cetue jeefMeÙeeB Deewj Gvekesâ cetue cee$ekeâ 
nesles nw~ 

cetue jeefMeÙeeB 
jeefMe S.I. cee$ekeâ 

õJÙeceeve efkeâuees«eece (kg) 

uecyeeF& ceeršj (m) 

meceÙe meWkeâ[ (S) 

heoeLe& keâer cee$ee ceesue (mol) 

leeheceeve kesâefuJeve (k) 

efJeIegle Oeeje SefcheÙej (A) 

oerhle leer›elee keQâ[uee (cd) 

Dele: jsef[Ùeve cetue FkeâeF& veneR nw~ 
45. Find the work done (in kJ) if a force of 750 N 

pushes a cart of mass 30 kg by 16 m./Ùeefo 750N 

keâe Skeâ yeue 30kg õJÙeceeve keâer Skeâ ieeÌ[er keâes 16m 

lekeâ efJemLeeefhele keâjlee nw, lees efkeâÙee ieÙee keâeÙe& (kJ ceW) 
%eele keâerefpeS~ 

 (a) 28 (b) 48 
 (c) 36 (d) 12 
Ans : (d) efoÙee nw,  
 yeue (F) = 750 N 

 efJemLeeheve (s) = 16 m  

efkeâÙee ieÙee keâeÙe& (w) = F.S cosθ 

 ÙeneB θ = 0 

 lees cosθ = 1 

 w = 750 × 16 

 w = 12000 J 

Ùee  w = 
12000

kJ
1000

 

 w = 12 kJ 

46. ––––– Curves employ at least three points to 

define a curve. The two endpoints of the curve 

are called anchor points. The other points, 

which define the shape of the curve, are called 

handles, tangent points, or nodes./............ Je›eâ 
keâes heefjYeeef<ele keâjves kesâ efueS keâce mes keâce leerve efyebogDeeW 
keâe ØeÙeesie efkeâÙee peelee nw~ Je›eâ kesâ oes Debeflece efyebogDeeW 
keâes Sbkeâj hee@Fbš keâne peelee nw~ DevÙe efyevog, pees Je›eâ keâer 
Deeke=âefle keâes heefjYeeef<ele keâjles nQ, GvnW nQ[ue, mheMe&jsKeerÙe 
efyebog (šQpeWš hee@Fbšdme) Ùee vees[dme keâne peelee nw~   

 (a) Kappa/keâehee (b) Bicorn/yeeF&keâe@ve& 
 (c) Bezier/yesefpeÙej (d) Deltoid/[suše@Ùe[ 
Ans : (c) yesefpeÙej Je›eâ keâes heefjYeeef<ele keâjves kesâ efueS keâce mes keâce 
leerve efyebogDeeW keâe ØeÙeesie efkeâÙee peelee nw~ Je›eâ kesâ oes Debeflece efyebogDeeW 
keâes Sbkeâj hee@Fbš keâne peelee nw~ DevÙe efyevog, pees Je›eâ keâer Deeke=âefle keâes 
heefjYeeef<ele keâjles nQ, GvnW nQ[ue, mheMe&jsKeerÙe efyebog (šQpeWš hee@Fbšdme) 
Ùee vees[dme keâne peelee nw~ 



 

RRB ALP Technician (Electrician) 23.01.2019 Shift-I  15 YCT 

47. ––––– is the physiological adjustment by an 

organism to environmental change./heÙee&JejCeerÙe 
heefjJele&ve kesâ Øeefle efkeâmeer peerJe Éeje efkeâS peeves Jeeues 
Meejerefjkeâ meceeÙeespeve keâes .......keâne peelee nw~  

 (a) Bioaccumulation/pewJe mebÛeÙeve  
 (b) Bioremediation/pewJeesheÛeejCe 
 (c) Acclimation/heeefjefmLeeflekeâ Devegketâueve 
 (d) Cogeneration/menpeveve  
Ans : (c) heÙee&JejCeerÙe heefjJele&ve kesâ Øeefle efkeâmeer peerJe Éeje efkeâS peeves 
Jeeues Meejerefjkeâ meceeÙeespeve keâes heeefjefmLeeflekeâ Devegketâueve keâne peelee nw~ 

48. The sum of two binary numbers 1101111 and 

11001101 is––––./oes yeeFvejer mebKÙeeDeeW 1101111 
Deewj 1100101 keâe Ùeesie ....... nw~ 

 (a) 100011100 (b) 11110000 
 (c) 11010100 (d) 100000110 

Ans : (c)  yeeFvejer mebKÙeeDeeW keâe Ùeesie– 
 Ùeesie neefmeue 
0  + 0     = 0 0 
1  + 0     = 1 0 
0  + 1     = 1 0 
1  + 1     =   10 1 

1 1 0 1 1 1 1

1 1 0 0 1 0 1

11 0 1 0 1 0 0

+  

Dele: efJekeâuhe (c) mener efJekeâuhe nww~ 
49. (0.1

2
–0.025

2
)÷(0.1–0.025)=............ 

 (a) 0.625 (b) 0.125 
 (c) 0.325 (d) 0.25 

Ans : (b) ( ) ( )2 20.1 0.025 0.1 0.025− ÷ −   

 ( ) ( )
( )

2 2
0.1 0.025

0.1 0.025

−
=

−
 

 ( )( )
( )

0.1 0.025 0.1 0.025

0.1 0.025

+ −
=

−
  

( )( )2 2a b a b a b − = + − ∵  

 = 0.1+0.025 

 = 0.125 
50. The bar graph shows the population density of 

6 countries for the years 2000 and 2010. By 

how much is area of country B greater than 

area of country D, if population of country B in 

2000 was 10 million and population of Country 

D in 2010 was 6 million. Population density is 

measured here as number of people per 100 sq. 

km./yeej «eeheâ Je<e& 2000 Deewj 2010 kesâ efueS 6 osMeeW 
kesâ pevemebKÙee IevelJe keâes oMee&lee nw~ osMe B keâe #es$eheâue 
osMe D kesâ #es$eheâue mes efkeâlevee DeefOekeâ nw, Ùeefo 2000 ceW 
osMe B keâer pevemebKÙee 1 keâjesÌ[ Leer Deewj 2010 ceW osMe D 
keâer pevemebKÙee 60 ueeKe Leer~ Ùeneb pevemebKÙee IevelJe Øeefle 

100 Jeie& efkeâceer ceW efveJeeme keâjves Jeeues JÙeefòeâÙeeW keâer 
mebKÙee kesâ ™he ceW ceehee peelee nw~ 

 
 (a) 25% (b) 20% 
 (c) 500% (d) 400% 
Ans : (d) ØeMveevegmeej,  

Je<e& 2000 ceW osMe B keâe pevemebKÙee IevelJe 100

100
= Jeie& efkeâceer.  

          = 1 Øeefle Jeie& efkeâceer.  
∴B keâe #es$eHeâue · 10 efceefueÙeve Jeie& efkeâceer.  

Je<e& 2010 ceW D keâe pevemebKÙee IevelJe 300

100
= Jeie& efkeâceer.  

          = 3 Øeefle Jeie& efkeâceer.  

∴ D keâe #es$eHeâue 6

3
= = 2 efceefueÙeve Jeie& efkeâceer.  

∴ DeYeer° ØeefleMele 10 2
100%

2

−
= ×  

  = 4 × 100%  
  = 400 % 

51. A alone can do a task in 35 days and B alone in 
14 days. If they work on it together for 5 days, 

then what fraction of the task is left?/ A Dekesâuee 
35 efoveeW ceW Skeâ keâeÙe& keâj mekeâlee nw Deewj B Gmes 
Dekesâuee 14 efoveeW ceW keâj mekeâlee nw~ Ùeefo Ùes oesveeW 5 
efoveeW kesâ efueS Fme hej Skeâ meeLe keâece keâjles nQ, lees keâeÙe& 
efkeâlevee Mes<e yeÛee nw ?  

 (a) Half/DeeOee 
 (b) One-thirds/Skeâ efleneF&  
 (c) Three fourths/leerve ÛeewLeeF& 
 (d) Quarter/ÛeewLeeF& 

Ans : (a) A keâe Dekesâues 1 efove keâe keâeÙe& 1

35
= Yeeie 

B keâe Dekesâues 1 efove keâe keâeÙe& 1

14
= Yeeie 

A+B keâe 1 efove keâe keâeÙe& 1 1

35 14
= +   

 
2 5

70

+
=  

7 1

70 10
= =   Yeeie 

5 efoveeW ceW oesveeW kesâ Éeje efkeâÙee ieÙee keâeÙe& 1 1
5

10 2
= × =  Yeeie  

Dele: Mes<e yeÛee keâeÙe& · 1
1

2
−  1

2
=  Yeeie Ùee DeeOee Yeeie  
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52. In a steady-flowing river, a boat goes a certain 

distance upstream at a speed of 12 km/h and 

comes back the same distance at 24 km/h. Find 

the average speed for the total journey./Skeâ 
efmLej-yenleer veoer ceW, Skeâ veeJe Oeeje keâer efoMee ceW 12 
efkeâceer/Ieb. keâer Ûeeue mes Skeâ efveefMÛele otjer lekeâ peeleer nw 
Deewj efheâj Gmeer otjer keâes efJehejerle efoMee ceW 24 efkeâceer/Iebše 
keâer Ûeeue mes leÙe keâjleer nw~ kegâue Ùee$ee kesâ efueS Deewmele 
Ûeeue %eele keâerefpeS~  

 (a) 15km/h (b) 18km/h 
 (c) 16km/h (d) 20km/h 
Ans : (c) ØeMveevegmeej,  
Oeeje keâer efoMee ceW veeJe keâer Ûeeue (x) = 12 km/h 

Oeeje keâer efJehejerle efoMee ceW veeJe keâer Ûeeue (y) = 24 km/h 

Deewmele Ûeeue 2xy

x y
=

+
2 12 24

12 24

× ×
=

+
= 16 km/h 

53. If 3A = 6B = 7C; find A: B: C./Ùeefo 
3A=6B=7C; lees A : B : C keâe ceeve yeleeFS~  

 (a) 12 : 7 : 3 (b) 7 : 12 : 6 
 (c) 7 : 3 : 12 (d) 14 : 7 : 6 
Ans : (d)  ceevee 3A=6B=7C=K 

⇒ 
K K K

A ,B ,C
3 6 7

= = =  

Dele: K K K
A : B : C : :

3 6 7
=  

  1 1 1
: :

3 6 7
=  

  42 42 42
: :

3 6 7
=  

  14 : 7 : 6=   
54. Find the co-ordinates of the midpoint of the 

segment joining the points (–4, 7) and (2, 

3)./efyebog (–4,7) Deewj (2, 3) mes pegÌ[ves Jeeues heefjÛÚso 
kesâ ceOÙe efyebog kesâ efveoxMeebkeâ yeleeSb~ 

 (a) (–1, 5) (b) (–2, 3) 
 (c) (1, –5) (d) (2, 4) 
Ans : (a) efyevog (x1,y1) leLee (x2,y2) mes neskeâj peeves Jeeues heefjÛÚso 

kesâ ceOÙe efyevog keâe efveoxMeebkeâ  1 2 1 2x x y y
,

2 2

+ + =  
 

 

Dele: efyevog (–4,7) leLee (2,3) mes neskeâj peeves Jeeues heefjÛÚso kesâ 

ceOÙe efyevog keâe efveoxMeebkeâ  4 2 7 3
,

2 2

− + + =  
 

 

   = (–1, 5) 
55. Which of the following is an example of a first 

class lever?/efvecveefueefKele ceW mes keâewve mee ØeLece ßesCeer 
kesâ Gòeesuekeâ keâe GoenjCe nw? 

 (a) Wheel barrow/Skeâ heefnÙee keâe "suee (Jnerue yewjes) 
 (b) A pair of scissors/keQâÛeer 
 (c) Ice tongs/yehe&â G"eves keâer efÛecešer (DeeFme šeWie) 
 (d) Nut cracker/mejewlee (veš ›ewâkeâj) 

Ans : (b) Gòeesuekeâ - Ùen meyemes yegefveÙeeoer ceMeerve nw pees keâce mes 
keâce ØeÙeeme kesâ meeLe kegâÚ keâece keâjves kesâ efueS ØeÙeesie keâer peeleer nw~ 
ØeLece ßesCeer Gòeesuekeâ - ØeLece ßesCeer kesâ Gòeesuekeâ ceW Deeuecye, Yeej 
Deewj DeeÙeeme kesâ yeerÛe ceW efmLele neslee nw~ pewmes - keQâÛeer, Petuee, 
nQ[hebhe, meer-mee@ Deeefo~ 
efÉleerÙe ßesCeer kesâ Gòeesuekeâ - mejewlee, veeRyet efveÛeesÌ[ves keâer ceMeerve 
FlÙeeefo~ 
le=leerÙe ßesCeer kesâ Gòeesuekeâ - mšsheuej, efÛeceše FlÙeeefo~ 

56. The given Venn diagram shows the number of 

students who have passed in the three exams, 

viz. English, Science and Maths. How many 

students failed in all the three exams?  

 efoÙee ieÙee Jesve DeejsKe Gve Úe$eeW keâer mebKÙee oMee&lee nw 
pees leerve hejer#eeDeeW ceW GòeerCe& ngS nw, DeLee&led Deb«espeer, 
efJe%eeve Deewj ieefCele~ leerveeW hejer#eeDeeW ceW efkeâleves Úe$e 
DevegòeerCe& ngS ? 

 
 (a) 6 (b) 12 
 (c) 9 (d) 3 
Ans : (d) efoS ieS Jesve DeejsKe ceW, kegâue heeme ngS Úe$eeW keâer mebKÙee  
 = 15 + 8 + 11 + 3 + 6 + 5 + 9 = 57 

Dele: leerveeW heefj#eeDeeW ceW DevegòeerCe& Úe$eeW keâer mebKÙee = 60–57 = 3 
57. If 5x/2 – 1/4 (6x – 5/3) = 7/6, then the value of x 

is –––––./Ùeefo 5x/2–1/4 (6x–5/3) = 7/6 nw, lees x keâe 
ceeve nw-  

 (a) 5/4 (b) 3/4 
 (c) 5/7 (d) 3/7 

Ans : (b) 
5x 1 5 7

6x
2 4 3 6

 − − = 
 

 

⇒ 
5x 6x 5 7

2 4 12 6
− + =  

⇒ 
10x 6x 7 5

4 6 12

−
= −  

⇒ 
4x 14 5

4 12

−
=  

⇒ 
9

x
12

=  

⇒ 
3

x
4

=  

58. One statement is given followed by two 

conclusions. Decide which of the given 

conclusions can definitely be drawn from the 

given statement. Skeâ keâLeve kesâ yeeo oes efve<keâ<e& efoS 
ieS nQ~ Ùen leÙe keâjW efkeâ efoS ieS keâLeve ceW keâewve mee 
efve<keâ<e& efveef§ele ™he mes efvekeâeuee pee mekeâlee nw~   
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  Statement: As income increases, cars become 

more affordable. 

 keâLeve : pewmes-pewmes DeeÙe yeÌ{leer nw, keâejW DeefOekeâ memleer 
nesleer peeleer nw~  

  Conclusions I : With greater use of technology, 

cars are now cheaper than they were a 

generation ago. 

 efve<keâ<e& : I. ØeewÅeesefiekeâer kesâ DeefOekeâ GheÙeesie kesâ meeLe, 
keâejW Deye efheÚueer heerÌ{er keâer leguevee ceW memleer nQ~ 

  II. Cars will become so numerous that no 

future technology will solve the traffic problem.    

 efve<keâ<e& II: keâejW Fleveer DeefOekeâ nes peeSieer efkeâ YeefJe<Ùe 
ceW keâesF& Yeer lekeâveerkeâ š^wefheâkeâ mecemÙee keâe meceeOeeve veneR 
keâj mekesâieer~   

 (a) Both I and II follow 
  I Deewj II oesveeW ueeiet neslee nw~ 
 (b) Neither I nor II follows 
  ve lees I Deewj ve ner II ueeiet neslee nw~ 
 (c) Only conclusion II follows 
  kesâJeue efve<keâ<e& II ueeiet neslee nw~ 
 (d) Only conclusion I follows 
  kesâJeue efve<keâ<e& I ueeiet neslee nw~ 
Ans : (b) efoS ieS keâLeve mes ve lees efve<keâ<e& I Deewj ve ner efve<keâ<e& II 
efvekeâeuee pee mekeâlee nw~ DeLee&led oesveeW ner efve<keâ<e& efoS ieS keâLeve kesâ 
Devegmeej leke&ânerve nw~  

59. In a certain gear train, the driver has 18 teeth 

while the follower has 8 teeth. For every 16 

turns of the driver, the follower turns––––– 

times./Skeâ efveefMÛele efieÙej š^sve ceW, mebÛeeuekeâ ([^eFJej) 
efieÙej ceW 18 oebleW nwQ, peyeefkeâ mebÛeeefuele (heâe@ueesDej) 
efieÙej ceW 8 oebleW nQ~ mebÛeeuekeâ ([^eFJej) kesâ ØelÙeskeâ 16 
Ûekeäkeâj kesâ efueS, mebÛeeefuele (heâe@ueesDej) efieÙej ...... yeej 
Ietcelee nw~  

 (a) 36 (b) 18 
 (c) 9 (d) 8 
Ans : (a) ceevee mebÛeeefuele efieÙej Ietcelee nw = x yeej 
ØeMveevegmeej, 
 ⇒ x ×8 = 16 × 18 

 ⇒ x = 16 × 18/8 

 ⇒ x = 36 

∴ mebÛeeefuele efieÙej Ietcesiee = 36 yeej 
60. At present, the ratio between the ages of Anu 

and Dimpy is 5: 8. After 2 years, the ratio of 

their ages will become 2 : 3. What was Dimpy's 

age before 2 years?/Jele&ceeve ceW, Deveg Deewj ef[cheer keâer 
Gceü kesâ yeerÛe keâe Devegheele 5 : 8 nw~ 2 meeue yeeo, Gvekeâer 
Gceü keâe Devegheele 2 : 3 nes peeSiee~ 2 meeue henues ef[bheer 
keâer Gceü keäÙee Leer? 

 (a) 10 (b) 16 
 (c) 14 (d) 12 

Ans : (c) ceevee Jele&ceeve ceW Deveg Deewj ef[bheer keâer Gceü ›eâceMe: 5x 

leLee 8x nw~  
hegve: 2 meeue yeeo,  
  Deveg keâer Gceü = 5x+2 

  ef[bheer keâer Gceü = 8x+2 

ØeMveevegmeej,  

  5x 2 2

8x 2 3

+
=

+
 

⇒ 15x+6 = 16x+4 
⇒ x = 2 

Dele: 2 meeue henues Gceü ef[bheer keâer = 8 × 2 – 2 = 14 Je<e&  
61. Find the specific heat capacity (in Jg

-1
 K

-1
) of a 

block of metal of mass 500 g, the temperature 
of which rises by 80º C when it absorbs 10 kJ 
of heat?/500gm õJÙeceeve Jeeues Oeeleg kesâ Skeâ šgkeâÌ[s 
keâer efJeefMe° T<cee Oeeefjlee (Jg

–1
K

–1 ceW) %eele keâerefpeS, 
efpemekesâ Éeje 10kJ T<cee DeJeMeesef<ele efkeâS peeves hej 
Gmekesâ leeheceeve ceW 80

o
C keâer Je=efæ nesleer nw? 

 (a) 1.56 (b) 0.25 
 (c) 0.4 (d) 0.16 
Ans : (b) efoÙee nw, 
 õJÙeceeve (m) = 500 gm 

T<cee (Q) = 10 kJ 

         = 10,000 J  

leehe ceW Je=efæ (∆T) = 80ºC 

Deye Q = mc ∆T 

peneB  Q = T<ceerÙe Tpee& 
     m = õJÙeceeve 
     c = efJeefMe<š T<cee Oeeefjlee 
       ∆T = leeheceeve ceW Je=efæ 

leye   C = 
Q

m T×∆
 

       10000

500 80
=

×
 

       = 0.25 Jg–1k–1       

62. If 36 J of work is done in moving a charge Q 
across 8 V, find Q (in coulombs). 
Ùeefo efkeâmeer DeeJesMe Q keâes 8V efJeYeJeevlej Jeeues oes 
efyebogDeeW kesâ yeerÛe mLeeveebleefjle keâjves ceW efkeâÙee ieÙee keâeÙe& 
36 petue nes, lees Q keâe ceeve (ketâueece ceW) %eele keâerefpeS~ 

 (a) 16 (b) 288 
 (c) 9 (d) 4.5 
Ans : (d) efoÙee nw - 
 efJeYeJeevlej (v) = 8v 

   efkeâÙee ieÙee keâeÙe& (w) = 36 J 

 DeeJesMe (Q) = ? 

Deye  w
V

Q
=  

 w
Q

v
=  

 36
Q

8
=  

 Q = 4.5 ketâuee@ce    
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63. If X 0.24 0.1296+ =  then find X. 

 Ùeefo X 0.24 0.1296+ =  nw, lees X keâe ceeve %eele 
keâerefpeS~   

 (a) 1.44 (b) 0.0012 
 (c) 0.12 (d) 0.0144 

Ans : (d) x 0.24 0.1296+ =  
 x 0.36 0.24= −  
⇒ x 0.12=  
⇒ ( )2

x 0.12=  
 x = 0.0144  

64. Classical musician Shivkumar Sharma is 
associated with which musical instrument? 
MeeŒeerÙe mebieerle%e efMeJekegâceej Mecee& efkeâme JeeÅe Ùeb$e mesW 
mebyebefOele nQ? 

 (a) Tabla/leyeuee (b) Shehnai/MenveeF& 
 (c) Violin/JeeÙeefueve (d) Santoor/mebletj 
Ans : (d) hebef[le efMeJe kegâceej Mecee& keâe pevce 13 peveJejer 1938 
keâes peccet - keâMceerj Yeejle ceW ngDee Lee~ Jen Skeâ ØeJÙeele YeejleerÙe 
mebletj Jeeokeâ nQ, efpevnW keâMceerj kesâ metHeâer mebieerle ceW cegKÙe ™he mes meepe 
Deewj mLeehelÙe keâuee efJeefMe<š mecetn mes Gòej Yeejle keâer efnbogmleeveer 
Meem$eerÙe mebieerle hejbheje ceW Skeâ Skeâue Yetefcekeâe kesâ efueS JeeÅe keâes 
heefjJele&ve keâjves keâe ßesÙe efoÙee peelee nw~ 

65. The author of 'The Monk who Sold His 
Ferrari' is––––––./ ‘o cee@vkeâ nt meesu[ efnpe hesâjejer’ 
kesâ uesKekeâ .........nQ- 

 (a) Robin Sharma/je@efyeve Mecee& 
 (b) Arundhati Roy/De®bOeefle je@Ùe  
 (c) Arvind Adiga/DejefJevo Deef[iee 
 (d) Manohar Malgonkar/ceveesnj ceeueieebJekeâj  
Ans : (a) ‘o cee@vkeâ nt meesu[ efnpe Hesâjejer’ Skeâ Deb«espeer GhevÙeeme nw 
efpemekesâ uesKekeâ je@efyeve Mecee& nw~ Ùen Je<e& 1999 ceW ØekeâeefMele 
ngÙeer Leer~ 
• o iee[ Dee@Heâ mcee@ue efLebime – De™bOeefle je@Ùe 
• o JneFš šeFiej - DejefJebo Deef[iee 

66. Find the specific latent heat of vaporisation of 
1.25 g of (in Jg

-1
), if it releases 250 joules of 

heat when it condenses at its boiling point of 
196º C./ 1.25gm ve eFš^espeve (Jg

–1
) kesâ Jee<heerkeâjCe 

keâer efJeefMe° ieghle T<cee %eele keâerefpeS, Ùeefo Ùen Fmekesâ 
keäJeLeveebkeâ 196

0
C hej mebIeefvele nesves hej 250 petue T<cee 

cegòeâ keâjleer nw~  
 (a) 500 (b) 200 
 (c) 312.5 (d) 469 
Ans : (b) ieghle T<cee - efmLej leehe hej efkeâmeer heoeLe& kesâ Skeâebkeâ 
õJÙeceeve keâer DeJemLee heefjJele&ve kesâ efueS DeeJeMÙekeâ T<cee keâes Fme 
heoeLe& keâer ieghle T<cee keânles nw~ Fmes L mes ØeoefMe&le keâjles nw~ 
 Q = mL 

Ùee L = 
Q

M
 

ÙeneB efoÙee nw - m = 1.25 gm 

        Q = 250 J 

leye ieghle T<cee (L) = 
Q 250

M 1.25
= = 200  

67. 210 mm x 297 mm are the dimensions of –––––

size paper./210 efceceer × 297 efceceer .......... Deekeâej 
kesâ keâeiepe (heshej) keâer ceehe nw~  

 (a) A3 (b) A4 
 (c) A2 (d) A1 
Ans : (b) A4 keâeiepe Deeceleewj hej meyemes DeefOekeâ Fmlesceeue efkeâÙee 
peeves Jeeuee keâeiepe keâe Deekeâej (210×297 efceceer neslee nw~) Dele: 
efJekeâuhe (b) mener nw~  
 A1 = 594 × 841 mm 

 A2 = 420 × 594 mm 

 A3 = 297 × 420 mm 

68. A postman starts from the post office and 

cycles 13 km south, then turns west and cycles 

10 km, then turns north and cycles 8 km, then 

turns east and cycles 2 km and then turns to his 

left and cycles 5 km. Where is he now with 

reference to his starting position?/Skeâ [eefkeâÙee, 
[ekeâIej mes meeFefkeâue Ûeueevee Meg™ keâjkesâ oef#eCe keâer 
Deesj 13 efkeâceer meeFefkeâue Ûeueekeâj peelee nw, efheâj 
heefMÛece keâer Deesj cegÌ[lee nw Deewj 10 efkeâceer lekeâ meeFefkeâue 
Ûeueelee nw, efheâj Gòej keâer Deesj cegÌ[lee nw Deewj 8 efkeâceer 
lekeâ meeFefkeâue Ûeueelee nw efheâj hetJe& keâer Deesj cegÌ[lee nw 
Deewj 2 efkeâceer meeFefkeâue Ûeueeves kesâ yeeo Deheveer yeeFË Deesj 
cegÌ[lee nw Deewj 5 efkeâceer. lekeâ meeFefkeâue Ûeueelee nw~ Deye 
Jen Deheveer ØeejbefYekeâ efmLeefle mes keâneB nw ?   

 (a) 12 km west/12 efkeâceer heefMÛece 
 (b) 8 km east/8 efkeâceer hetJe& 
 (c) 12 km east/12 efkeâceer hetJe& 
 (d) 8 km west/8 efkeâceer heefMÛece  
Ans : (d) keâLeve kesâ Devegmeej DeejsKe yeveeves hej– 

 
Dele: Deye Jen Deheveer ØeejefcYekeâ efmLeefle mes 8 efkeâceer. heef§ece efoMee keâer 
Deesj nw~  

69. Two resistors of R Ω and 60 Ω are connected in 

parallel to get an effective resistance of 24 Ω. 

Find R./24Ω keâe ØeYeeJeer ØeeflejesOe Øeehle keâjves kesâ 
efueS RΩ  Deewj 60Ω kesâ oes ØeeflejesOeeW keâes meceeveeblej ›eâce 
ceW peesÌ[e peelee nw~ R keâe ceeve %eele keâerefpeS~  

 (a) 48 (b) 40 
 (c) 56 (d) 64 
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Ans : (b) efoÙee nw - 
ØeYeeJeer ØeeflejesOe (σ) = 24Ω 

  R1 = RΩ 
  R2 = 60Ω  
oesveeW ØeeflejesOeeW keâes meceeveeblej ›eâce ceW peesÌ[e ieÙee nw FmeefueS 

 1 1 1

24 R 60
= +  

 1 60 R

24 60R

+
=  

 24 = 
60R

60 R+
 

 24 (60 + R) = 60R 
 1440 + 24R = 60R 
 60R – 24 R = 1440 
 36 R = 1440 

 R = 
1440

36
 

 R = 40 

70. Which of the following is the correct relation 
between resistance 'R', conductivity 'O', length 
'L' and area of cross section 'A' of a metal 
wire?/efvecveefueefKele ceW mes keâewve ØeeflejesOe 'R', 

Ûeeuekeâlee 'O', uebyeeF& 'L' Deewj Oeeleg kesâ leej kesâ ›eâe@me 
meskeäMeve  'A' kesâ #es$eheâue kesâ yeerÛe mener mebyebOe nw? 

 (a) RL = Aσ (b) RA = Lσ 
 (c) RσA = L (d) σ= RL/A 
Ans : (c) ØeeflejesOe 'R' , Ûeeuekeâlee ' O ' , uecyeeF& 'L' Deewj Oeeleg kesâ 
leej kesâ ›eâe@me meskeäMeve 'A' kesâ #es$eHeâue kesâ yeerÛe mener mebyebOe nw~ 

RσA = L 

71. Which of the following gases is a highly 
poisonous, odorless, tasteless and colourless 
gas?/efvecveefueefKele ceW mes keâewve meer iewme DelÙeefOekeâ 
penjerueer, iebOenerve, mJeeonerve Deewj jbienerve nw: 

 (a) Nitrogen dioxide/veeFš^espeve [eFDee@keämeeF[ 
 (b) Carbon dioxide/keâeye&ve [eFDee@keämeeF[ 
 (c) Methane/ceerLesve 
 (d) Carbon monoxide/keâeye&ve ceesveesDee@keämeeF[  
Ans : (d) keâeye&ve ceesveesDee@keämeeF[ Skeâ DelÙeefOekeâ penjerueer, jiebnerve, 
mJeeonerve, efJe<ewueer, peue ceW DelÙevle IegueveMeerue nJee kesâ yejeyej Yeejer 
leLee pJeueveMeerue iewme nw~ Ùen veerueer pJeeuee kesâ meeLe peueleer nw~  
keâeye&ve ceesveesDee@keämeeF[ keâe jemeeefÙevekeâ met$e CO nw~ 

72. Find x if the mean of the number 10, 4, 1, 15, 
15, x, 12 and 14 is 10./Ùeefo 10, 4, 1, 15, 15, x, 12 

Deewj 14 keâe ceeOÙe 10 nw lees x keâe ceeve %eele keâerefpeS~ 
 (a) 9 (b) 7 
 (c) 8 (d) 10 
Ans : (a) efoÙee nw-  
10, 4, 1, 15, 15, x, 12 Deewj 14 keâe ceeOÙe = 10 

 x = ?  

10 4 1 15 15 x 12 14
10

8

+ + + + + + +
=  

80 = 71 + x  
x = 80 – 71  
x = 9   

73. In the question, two statements are given, 
followed by two conclusions, I and II. You have 
to consider the statements to be true even if 
they seem to be at variance from commonly 
known facts. You have to decide which of the 
given conclusions, if any, follows from the 

given statements./ØeMve ceW, oes keâLeve efoS ieS nQ, 
Fmekesâ yeeo oes efve<keâ<e& I Deewj II efoS ieS nQ~ Deehekeâes 
keâLeveeW keâes melÙe ceevevee nw, Yeues ner Jes meJe&%eele leLÙeeW mes 
efYeVe Øeleerle nesles neW~ Deehekeâes leÙe keâjvee nw efkeâ efoS ieS 
keâLeveeW ceW mes keâewve mee efve<keâ<e&, Ùeefo keâesF& nes, DevegmejCe 
keâjlee nw~  

 Statement 1: Some wagons are buggies. 
 keâLeve 1 : kegâÚ ieeÌ[er IeesÌ[eieeÌ[er nQ~ 
  Statement 2: All wagons are carts. 

 keâLeve 2 : meYeer ieeÌ[er "sueeieeÌ[er nQ~ 
    Conclusion I: All buggies are carts 

 efve<keâ<e& I : meYeer IeesÌ[eieeÌ[er "sueeieeÌ[er nQ~ 
  Conclusion II: Some carts are buggies.  

 efve<keâ<e& II : kegâÚ "sueeieeÌ[er IeesÌ[eieeÌ[er nQ~  
 (a) Only conclusion II follows 
  kesâJeue efve<keâ<e& II ueeiet neslee nw 
 (b) Both I and II follow/I Deewj II oesveeW ueeiet nesles nQ~ 
 (c) Only conclusion I follows 
  kesâJeue efve<keâ<e& I ueeiet neslee nw 
 (d)  Neither I nor II follows 
  ve lees I Deewj ve ner II ueeiet nesles nQ~  
Ans : (a) keâLeve kesâ Devegmeej DeejsKe yeveeves hej,  

  
Dele: kesâJeue efve<keâ<e& II DevegmejCe keâjlee nw~   

74. What is the diameter (in cm) of a sphere of 

surface area 1386 cm
2
?/1386 mesceer2 #es$eheâue Jeeues 

Skeâ ieesues keâe JÙeeme (mesceer. ceW) keäÙee nw? 
 (a) 14 (b) 10.5 
 (c) 21 (d) 24.5 
Ans : (c) ceevee ieesues keâer ef$epÙee = r 

ieesues keâe #es$eheâue = 4πr2  

 4πr2 = 1386 

⇒ 222
4 r 1386

7
× × =   

 
( )
( )

2

2

2

2

1386 7 63 7
r

22 4 4

21
r cm

2

21
r cm

2

× ×
= =

×

=

=

  

Dele: ieesues keâe JÙeeme =2 × ef$epÙee  

  21
2

2
= ×   

  = 21 mesceer. 
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75. In the question, two statements are given, 

followed by three conclusions, I, II and III. You 

have to consider the statements to be true even 
if they seem to be at variance from commonly 

known facts. You have to decide which of the 

given conclusions, if any, follows from the 

given statements./ØeMve ceW, oes keâLeve efoS ieS nQ, 
Fmekesâ yeeo leerve efve<keâ<e& I, II Deewj III efoS ieS nQ~ 
Deehekeâes keâLeveeW keâes melÙe ceevevee nw, Yeues ner Jes meJe&%eele 
leLÙeeW mes efYeVe Øeleerle nesles nes~ Deehekeâes leÙe keâjvee nw efkeâ 
efoS ieS keâLeveeW ceW mes keâewve mee efve<keâ<e&, Ùeefo keâesF& nes, 
DevegmejCe keâjlee nw~  

  Statement 1: All flags are banners 

 keâLeve 1: meYeer Peb[s yewvej nQ~ 
  Statement 2: Some flags are emblems 

 keâLeve 2: kegâÚ Peb[s Øeleerkeâ nQ~ 
    Conclusion I: Some emblems are banners 

 efve<keâ<e& I: kegâÚ Øeleerkeâ efÛeÖ yewvej nQ~ 
  Conclusion II: All banners are emblems. 

 efve<keâ<e& II: meYeer yewvej Øeleerkeâ efÛeÖ nQ~  
  Conclusion III: No emblems are banners.      

 efve<keâ<e& III: keâesF& Øeleerkeâ efÛeÖ yewvej veneR nQ~  
 (a) Only conclusion III follows 
  kesâJeue efve<keâ<e& III ueeiet nesiee  
 (b) All conclusions I, II and III follows 
  efve<keâ<e& I, II Deewj III meYeer ueeiet nesieW 
 (c) Only conclusion I follows 
  kesâJeue efve<keâ<e& I ueeiet nesiee  
 (d) Only conclusion I and III follows 
  kesâJeue efve<keâ<e& I Deewj III ueeiet nesiee 
Ans : (c) keâLeve kesâ Devegmeej DeejsKe yeveeves hej,  

 
Dele: kesâJeue efve<keâ<e& I ueeiet nesiee~  

76. Find the highest common factor of 506 and 

782./506 Deewj 782 keâe cenòece meceeheJele&keâ yeleeSb~ 
 (a) 29 (b) 22 
 (c) 46 (d) 34 
Ans : (b) 506 Deewj 782 keâe ce.me. 

 
Dele: ce.me. · 46 

77. If A $ B means A is the husband of B, A # B 

means A is the brother of B and A * B means A 

is the mother  of B, then what does P $ Q * R # 

S mean? 

Ùeefo A $ B keâe celeueye nw efkeâ A,  B keâe heefle nw,  A # 

B keâe celeueye nw efkeâ A, B keâe YeeF& nw Deewj A * B keâe 
celeueye nw efkeâ A, B keâer ceeB nw, lees P $ Q * R # S keâe 
keäÙee celeueye nw? 

 (a) P is the father of S/ P,  S keâe efhelee nw~ 
 (b) P is the son of S/ P,  S keâe yesše nw~ 
 (c) P is the brother of S/ P,  S keâe YeeF& nw~ 
 (d) P is the brother-in-law of S/ P,  S keâe meeuee nw~ 
Ans : (a) A $ B → A,  B keâe heefle nw~ 
A # B → A,  B keâe YeeF& nw~ 
A * B → A,  B keâer ceeB nw~ 
Dele: P $ Q * R # S  keâe DeejsKe yeveeves hej -  

 
DeejsKe mes mhe° nw efkeâ P, S keâe efhelee nw~  

78. Farad per meter is the unit of–––––. 
 hewâj[ Øeefle  ceeršj ........keâer FkeâeF& nw~ 
 (a) Permeability/efJeÅegleMeeruelee 
 (b) Electric conductance/efJeÅegle Ûeeuekeâlee 
 (c) Permittivity/heejiecÙelee 
 (d) Watt per steradian/Jeeš Øeefle mšsjsef[Ùeve  
Ans : (a) Hewâj[ Øeefle ceeršj efJeIegleMeeruelee keâe cee$ekeâ nw~ 
• efJeIegle Ûeeuekeâlee → meercesvme (S) 

• heejiecÙelee → nsvejer/ceeršj  
79. Which hazardous substance can cause lung 

cancer?/keâewve mee Kelejveekeâ heoeLe& hesâheâÌ[eW kesâ keQâmej 
keâe keâejCe yeve mekeâlee nw? 

 (a) Arsenic/Deemexefvekeâ 
 (b) Herbicides/KejheleJeejveeMekeâ (nefye&meeF[) 
 (c) Asbestos particles/DeYeükeâ kesâ keâCe 
 (d) Benzene vapours/yeWpeerve Jee<he  
Ans : (c) DeYeükeâ kesâ keâCe HesâHeâÌ[eW kesâ keQâmej Deewj Õemeve mebyebOeer 
yeerceeefjÙeeW keâe keâejCe yeve mekeâles nw~ DeYeüce kesâ meYeer-meYeer ™he ceveg<Ùe 
kesâ efueS keâeefme&veespesefvekeâ nw~ SpeJesmšme kesâ mecheke&â ceW Deeves mes Fmekesâ 
Éeje HeWâHeâÌ[es, mJeÙeÙeb$e Deewj Deb[eMeÙe kesâ keQâmej leLee HegâHeäHegâme Deewj 
hewefjšesefveÙeue Demlej keâe keQâmej Yeer nes mekeâlee nw~  

80. If a – b = 5 and ab = 14, then find a
2
 + b

2
? 

 Ùeefo a – b = 5 Deewj ab = 14 nw, lees a
2 

+ b
2 %eele 

keâerefpeS~ 
 (a) 19 (b) 27 
 (c) 53 (d) 5 
Ans : (c) a–b = 5,  ab = 14 
 (a–b)2 = 52  
 a2+b2–2ab=25 

 a2+b2=25+2×14 
           = 25+28 
           = 53 
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81.  Select the option that is related to the third 
word on the same basis as the second word is 
related to the first word. 

 Gme efJekeâuhe keâe ÛeÙeve keâjW pees leermejs Meyo mes Gmeer 
Øekeâej mebyebefOele nw efpeme Øekeâej otmeje Meyo henues Meyo mes 
mebyebefOele nw~  

 Poem: Stanza :: Book:? 
 keâefJelee : Úbo :: hegmlekeâ : ? 
 (a) Page/he=‰ (b) Story/keâneveer 
 (c) language/Yee<ee (d) Printing/ÚheeF&  
Ans : (a) efpeme Øekeâej Úboes keâes meefcceefuele keâjves hej keâefJelee keâe 
efvecee&Ce neslee nw Gmeer Øekeâej he=‰eW keâes meefcceefuele keâjves hej efkeâleeye keâe 
efvecee&Ce neslee nw~ 

82.  Select the option that is related to the third 
word on the same basis as the second word is 
related to the first word. 

 Gme efJekeâuhe keâe ÛeÙeve keâjW pees leermejs Meyo mes Gmeer 
Øekeâej mebyebefOele nw efpeme Øekeâej otmeje Meyo henues Meyo mes 
mebyebefOele nw~  

 Letter: Envelops :: Dagger:? 
 he$e : efueheâeheâe:: Kebpej : ? 
 (a) Sword/leueJeej (b) Weapon/nefLeÙeej 
 (c) Sharp/Oeejoej (d) Sheath/cÙeeve  
Ans : (d) efpeme Øekeâej he$e, efueheâehesâ ceW jKee peelee nw~ Gmeer Øekeâej 
Kebpej, cÙeeve ceW jKeer peeleer nw~  

83. A trader buys 60 bag grain at ` 400 each. If he 
sells 18 bags at 8% profit, at what price should 
he sell the remaining bags to make 16.4% 
overall profit on selling the 60 bags?/Skeâ 
JÙeeheejer 60 yeesjer Deveepe `400 ØelÙeskeâ yeesjer keâer oj mes 
Kejerolee nw~ Ùeefo Jen 8% ueeYe hej 18 yeesefjÙeeb yesÛelee 
nw, lees Gmes 60 yeesjer hej kegâue 16.4% ueeYe keâceeves kesâ 
efueS Mes<e yeesefjÙeeB efkeâme keâercele hej yesÛeveer ÛeeefnS ? 

 (a) ` 540 (b) ` 500 
 (c) ` 520 (d) ` 480 
Ans : (d) ceevee Mes<e yeÛeer ngF& yeesefjÙeeB  `x Øeefle yeesjer kesâ efnmeeye mes 
yesÛeer peeleer nw~ 
60 yeesjer keâe ›eâÙe cetuÙe   = `60×400 

         = `24000 

60 yeesjer keâe efJe›eâÙe cetuÙe ( )24000 100 16.4

100

× +
=   

          = `24×1164 

18 yeesjer keâe efJe›eâÙe cetuÙe ( )18 400 100 8

100

× × +
=   

          = 18×4×108 

Dele: Mes<e yeÛeer yeesefjÙeeW keâe efJe›eâÙe cetuÙe  
       = 24×1164–18×4×108 
     (60–18)×x = 24(1164–3×108) 

      
( )24 1164 324

x
42

× −
=   

         
4 840

7

×
=   

          = 4 × 120 = `480 

84. The bar graph shows all the ingredients (in 

grams) required to make two types of salads, X 

and Y. If Ingredient B of Salad X is reduced by 

100 grams and Ingredient E of salad Y is 

increased by 25% then salad Y would be 

lighter than salad X by–––––./yeej «eeheâ ceW oes 
Øekeâej kesâ meueeo X Deewj Y yeveeves kesâ efueS DeeJeMÙekeâ 
meYeer DeJeÙeJeeW («eece ceW) keâes oMee&Ùee ieÙee nw~ Deiej 
meueeo X kesâ Ieškeâ B keâes 100 «eece keâce keâj efoÙee peeS 
Deewj meueeo Y kesâ Ieškeâ E keâes 25% lekeâ yeÌ{e efoÙee 
peelee nw lees meueeo Y, meueeo X mes .......nukeâe nesiee~  

 

 
 
 (a) 25% (b) 20% 
 (c) 37.50% (d) 22.50% 
Ans : (b) meueeo X keâe Ieškeâ B · 600 «eece  
keâce keâjves kesâ yeeo, meueeo X keâe Ieškeâ B · 500 «eece  
meueeo Y keâe Ieškeâ E = 400 «eece 
25% yeÌ{ves kesâ he§eeled, meueeo Y keâe Ieškeâ E 

  = 400 + 400 × 25% 

  
25

400 400
100

= + ×  

  = 500 «eece  
keâce keâjves kesâ he§eeled meueeo X keâe kegâue Jepeve  
 = 500 + 500 + 200 + 300 + 100 + 400  

 = 2000 «eece  
yeÌ{ves kesâ he§eeled meueeo y keâe kegâue Jepeve  
 = 300 + 100 + 200 + 200 + 500 + 300  

 = 1600 «eece  
∴ meueeo Y keâe kegâue Jepeve, meueeo X kesâ kegâue Jepeve mes nukeâe nw  
 = 2000 – 1600  

 = 400 «eece 

Dele: DeYeer° ØeefleMele 400
100 20%

2000
= × =   

85. If 8 # 12 = 10; 5 # 9 = 7; 6 # 10 = 8, then find the 

value of 14 # 4. / Ùeefo 8 # 12 = 10; 5 # 9 = 7; 6 # 

10 = 8, efheâj    14 # 4 keâe ceeve %eele keâerefpeS~  
 (a) 5 (b) 3 
 (c) 9 (d) 10 
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Ans : (c) efpeme Øekeâej,  8 12 20
8#12 10,

2 2

+
= = =   

   
5 9 14

5#9 7,
2 2

+
= = =  

   6 10 16
6 #10 8,

2 2

+
= = =  

Gmeer Øekeâej,  

   14 4 18
14 # 4 9,

2 2

+
= = =  

86. Find the power (in W) of a pump if it can lift 1 
tone of water by 90 m in 30 minutes (Assume 

100 efficiency and use g = 10 m/s
2
) 

Gme hebhe keâer Meefòeâ (W ceW) %eele keâerefpeS, pees 30 efceveš 
ceW 1 šve heeveer keâes 90 ceeršj lekeâ Thej ÛeÌ{e mekeâleer nw~ 
(o#elee keâes 100% ceeve ueW Deewj g= 10m/s

2
 ueW) 

 (a) 250 (b) 500 
 (c) 50 (d) 25 
Ans : (b) efoÙee nw -  
T@ÛeeF& (h) = 90 m 

g = 10 m/s2 

õJÙeceeve (m) = 1 šve = 1000 kg 

meceÙe (t) = 30 efceveš = 30 × 60 meskeâC[ 

meeceLÙe& (P) = 
w mgh

t t
=  

   = 
1000 10 90

30 60

× ×

×
 

   = 500 Jee@š 
87. An executive earns a salary of ` 12,600 every 

month, and he spends 5/7 of it, If his salary 

increases by 1/3rd and his spending increases 

by 1/5th of the present expenditure, what 

fraction of his salary will he save? 

Skeâ keâce&Ûeejer keâe ceeefmekeâ Jesleve `12600 nw, Deewj Jen 
Fmekeâe 5/7 Yeeie KeÛe& keâj oslee nw~ Ùeefo Gmekeâe Jesleve 
1/3 yeÌ{ peelee nw Deewj KeÛe& ceW Jele&ceeve KeÛe& keâs 1/5 JeW 
Yeeie keâer Je=efæ nes peeleer nw, lees Deye Jen Deheves Jesleve keâe 
efkeâlevee efnmmee yeÛee heeSiee ? 

 (a) 7/15 (b) 5/14 
 (c) 8/15 (d) 7/16 
Ans : (b) keâce&Ûeejer keâe ceeefmekeâ Jesleve = ` 12600 

 KeÛe& 5
12,600

7
= ×   

         = 1800×5 
         = ` 9000 

yeÌ{e ngDee Jesleve 1
12600 12,600

3
= + ×   

          = 12600+4200 
          = `16800 

yeÌ{e ngDee KeÛe& 1
9000 9000

5
= + ×  

      = 9000+1800 
  =`10800 

Dele: Gmekesâ Jesleve keâe Mes<e yeÛee Yeeie 16800 10800

16800

−
=   

  
6000

16800
=   

  
5

14
=  Yeeie  

88. Find the value of 5 Sinθ – 2 Cosecθ, if θ = 30º. 

 5 sinθ– 2 cosec θ keâe ceeve %eele keâjW, Ùeefo θ=30
o nw~ 

 (a) 2/3 (b) –3/2 
 (c) 3/2 (d) –2/3 
Ans : (b) 5 sinθ– 2 cosec θ, θ = 30°  (efoÙee nw)   

 = 5 sin30° – 2 cosec30° 

1
sin 30 ,

2

cos ec30 2

 ° = 
  ° = 

∵

 

 1
5 2 2

2
= × − ×   

 5
4

2
= −  

 5 8

2

−
=

3

2

−
=   

89. Find the efficiency of a pulley system which has 
a mechanical advantage of 2.5 and where the 
load lifts by 2.5 meters on pulling the rope by 
10m./Gme efIejveer ØeCeeueer (hegueer efmemšce) keâer o#elee 
%eele keâerefpeS, efpemekeâe Ùeebef$ekeâ ueeYe 2.5 nes Deewj peneb 
jmmeer keâes 10 ceeršj KeeRÛeves hej Yeej 2.5 ceeršj Thej 
G"lee nes~ 

 (a) 40.00% (b) 100.00% 
 (c) 25.00% (d) 62.50% 
Ans : (d) Ùeebef$ekeâ ueeYe · 2.5  

 Jesie Devegheele · 10

2.5
 

 o#elee · Ùeebef$ekeâ ueeYe
Jesie Devegheele

× 100%  

        
2.5

100%
4

= ×  

      = 62.50% 

90. A and B start to walk from point P towards 
point Q. The distance between P and Q is 9 km. 
B starts 4 minutes after A. A, on reaching Q, 
immediately returns and after walking a 
kilometer meets B. If A's speed is a kilometer 
in 10 minutes, what is B's speed in kilometers 

per minute?/A Deewj B efyebog P mes efyebog Q keâer Deesj 
Ûeuevee Meg™ keâjles nw~ P Deewj Q kesâ yeerÛe keâer otjer 9 
efkeâceer nw~ B, A mes 4 efceveš yeeo Ûeuevee Meg™ keâjlee nw~ 
A, Q hej hengbÛeves kesâ yeeo legjble Jeeheme ueewšlee nw Deewj 
Skeâ efkeâueesceeršj Ûeueves kesâ yeeo B mes efceuelee nw~ Ùeefo A 

10 efceveš ceW Skeâ efkeâueesceeršj keâer otjer leÙe keâjlee nw lees 
B keâer Ûeeue, efkeâueesceeršj Øeefle efceveš ceW %eele keâerefpeS ? 

 (a) 1/12 (b) 1/15 
 (c) 1/8 (d) 1/6 
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Ans : (a) ØeMve mes-  
A Éeje leÙe keâer ieF& otjer · 9 + 1 = 10 km  

A Éeje efueÙee ieÙee meceÙe · 10 × 10 = 100 efceveš  
leLee B Éeje efueÙee ieÙee meceÙe efceveš = 100 – 4 = 96 efceveš   
B Éeje leÙe keâer ieF& otjer = 9 – 1 = 8 km  

∴B keâer Ûeeue 8 1

96 12
= = efkeâceer./efceveš 

91. 20–2[25% of (15×8÷6+12)]=........? 
 (a) 10 (b) 8 
 (c) 6 (d) 4 
Ans : (d) 20–2 [25% of (15×8 ÷6+12)] 

 8
20 2 25% 15 12

6

  = − × × +  
  

  

 ( )25
20 2 20 12

100

 = − × +  
  

 
25

20 2 32
100

 = − ×  
  

 = 20–2×8 = 4  
92. Which of the following recipients of the 

Dadasaheb Phalke Award received it 

posthumously?/efvecveefueefKele ceW mes efkeâme Øeehlekeâlee& 
keâes cejCeeshejeble oeoe meenye heâeukesâ hegjmkeâej mes 
mecceeefvele efkeâÙee ieÙee? 

 (a) Naushad/veewMeeo 
 (b) Satyajit Ray/melÙepeerle js 
 (c) Durga Khote/ogiee& Keesšs 
 (d) Vinod Khanna/efJeveeso KeVee  
Ans : (d) Je<e& 2018 ceW Øeefmeæ efHeâuce DeefYeveslee efJeveeso KeVee keâes 
cejCeeshejeble Je<e& 2017 kesâ 49JeW oeoe meensye Heâeukesâ hegjmkeâej mes 
mecceeefvele efkeâÙee ieÙee~ Jes cejCeeshejevle oeoe meensye Heâeukesâ hegjmkeâej mes 
mecceeefvele nesves Jeeues (he=LJeerjepe keâhetj henues Je<e& 1971) otmejs 
DeefYeveslee nw~ GuuesKeveerÙe nw Je<e& 2020 kesâ 52JeW meensye Heâeukesâ 
hegjmkeâej mes Øeefmeæ DeefYeves$eer DeeMee heejsKe keâes mecceeefvele efkeâÙee ieÙee~  

93. Two cars, X and Y, travel from A to B at 

average speeds of 50 km/hr and 75 km/hr 

respectively. If X takes 2 hours more than Y 

for the journey, then the distance between A 

and B in km is––––./oes keâejW, X Deewj Y, ›eâceMe: 
50km/hr Deewj 75km/hr keâer Deewmele ieefle mes A mes B 

lekeâ keâer Ùee$ee keâjleer nQ~ Ùeefo X keâes Fme Ùee$ee ceW Y keâer 
leguevee ceW 2 Iebšs DeefOekeâ meceÙe ueielee nw, lees A Deewj B 

kesâ yeerÛe keâer otjer ......... efkeâceer nw~ 
 (a) 800 (b) 400 
 (c) 300 (d) 600 
Ans : (c) ceevee Y keâes A mes B lekeâ hengbÛeves ceW t IeCšs meceÙe ueielee nQ~  
Dele: X keâes A mes B lekeâ hengbÛeves ceW ueiee meceÙe = (t+2)  IeCšs~  

∵ otjer efveefMÛele nw~  

s∴  r1t1 = r2t2 mes  

  50×(t+2) = 75×t 
 50t + 100 = 75t 
          25t = 100 

⇒ 
100

t 4
25

= = IeCšs  

Dele: DeYeer° otjer · Ûeeue × meceÙe  
       = 75 ×4 = 300km 

94. The sentences given in the question which 

when properly sequenced, from a coherent 
paragraph. Each sentence is labeled with a 

letter. Choose the most logical order of 

sentences from among the given choices to 

construct a coherent paragraph./ØeMve ceW efoS ieS 
JeekeäÙe, pees "erkeâ mes Deveg›eâefcele nesves hej, Skeâ megmebiele 
hewje«eeheâ yeveeles nQ~ ØelÙeskeâ JeekeäÙe keâes Skeâ De#ej kesâ 
meeLe uesJeue efkeâÙee ieÙee nw~ Skeâ megmebiele hewje«eeheâ kesâ 
efvecee&Ce kesâ efueS efoS ieS efJekeâuheeW ceW mes JeekeäÙeeW keâe 
meyemes leeefke&âkeâ ›eâce ÛegveW~  

  Outside their window there was a vine with 
attractive foliage, but it started shedding leaves 

one by one as summer passed through fall into 

winter. 
 Gvekeâer efKeÌ[keâer kesâ yeenj Deekeâ<e&keâ heòeer kesâ mecetn kesâ 

meeLe Skeâ yesue Leer, uesefkeâve ieceea yeerleves kesâ yeeo pewmes-
pewmes meoea heÌ[veer Meg™ ngF& heòes Skeâ-Skeâ keâjkesâ efiejves 
ueies~ 

 A. Came dawn, when Johnsy looked out of the 
window from her sick bed, lo and behold, the 
leaf was still there and it continued to be 

there on the following days./veerÛes Deekeâj peye 
efyemlej hej heÌ[er cegjPeeF& Deewj yeerceej pee@vemeer ves Deheveer 
efKeÌ[keâer mes yeenj osKee lees heòeer Deye Yeer JeneR nw~  

 B. Finally, only one last leaf remained. Johnsy 
told Sue that when that leaf fell, her life 

would also go./Deblele:, Skeâ DeeefKejer heòeer yeÛe ieF&, 
pee@vemeer ves met mes keâne efkeâ peye Debeflece heòeer štšsieer, 
Gmekesâ peerJeve keâe Yeer Deble nw 

 C. The girl regained her will to live and was 

fully recovered in a few days./ueÌ[keâer ves peerves keâer 
Deheveer FÛÚe efheâj mes peieeF& Deewj kegâÚ ner efoveeW ceW hetjer 
lejn mes "erkeâ nes ieF&~  

 D. A concerned elderly artist friend of the girls, 
hearing this story, climbed outside the 
window in the bitterly cold night and painted 
a life-like at the spot from where the last leaf 

had just fallen./ueÌ[efkeâÙeeW keâer Skeâ efce$e Deewj efÛebeflele 
yegpegie& keâueekeâej ves Ùen keâneveer megveer, lees keâÌ[keâÌ[eleer meo& 
jele ceW Yeer yeenj efKeÌ[keâer hej ÛeÌ{ ieF& Deewj Gmeer mLeeve 
hej heòeer keâer Skeâ peerJeble lemJeerj yevee oer peneb Debeflece 
heòeer DeYeer-DeYeer efiejer ner Leer~  

 (a) BDCA (b) DBCA 
 (c) BDAC (d) DBCA 
Ans : (c) efoS ieS JeòeâJÙeeW keâe megJÙeJeefmLele ›eâce BDAC nesiee~  
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95. Here are some words from an artificial 

language./ke=âef$ece Yee<ee ceW kegâÚ Meyo Fme Øekeâej mes nQ 
  unacri means lighthouse 

 unacri celeueye lighthouse 

  bancri means lightweight 

 bancri celeueye lightweight 

  banetu means overweight 

 banetu celeueye overweight  

  Which word would mean 'overdrive'?  

 efkeâme Meyo keâe celeueye 'overdrive' nesiee? 
 (a) criteh  (b) simuna 
 (c) adietu (d) adiban  
Ans : (c) efoS ieS ketâš mes efvecve efve<keâ<e& efvekeâueles nQ- 
Una → house, cri → light, ban → weight, etu → over  

Dele: over drive kesâ efueS ketâš Yee<ee keâe Meyo adietu nesiee~ 
96. – 100º Celsius = –––––– Fahrenheit/  

 –100
0 mesefumeÙeme · ............. heâejsveneš 

 (a) –148o (b) –373o 
 (c) 173o (d) –212o 
Ans : (a)  –100ºC = ? F 

met$e -  C = ( )5
F 32

9
− keâe ØeÙeesie keâjkesâ, 

 –100 = ( )5
F 32

9
−  

 100 9
F 32

5

×
− = −  

 – 180 = F – 32 
    F = –180 + 32 

    F = – 148  

97. A truck of mass 5000 kg accelerates from 25 

m/s to 35 m/s, Find the change in its kinetic 

energy (in MJ)./5000kg õJÙeceeve kesâ Skeâ š^keâ keâes 
25m/s mes 35m/s lekeâ lJeefjle efkeâÙee peelee nw~ Fmekeâer 
ieeflepe Tpee& ceW nesves Jeeuee heefjJele&ve (MJ ceW) %eele 
keâerefpeS~ 

 (a) 1.5 (b) 1 
 (c) 2 (d) 2.5 
Ans : (a) efoÙee nw,  
õJÙeceeve (m) = 5000 kg 

ØeejefcYekeâ Jesie (u) = 25 m/s 

Debeflece Jesie (v) = 35 m/s 

ieeflepe Tpee& (k) = 21
mv

2
 

leye ØeeefjcYekeâ Jesie kesâ efueS ieeflepe Tpee&, 

= ( )21
5000 25

2
× ×  

= 1,562,500 KJ 

Debeflece Jesie kesâ efueS ieeflepe Tpee& 

= ( )21
5000 35

2
× ×  

= 3,062,500 J 

lees ieeflepe Tpee& ceW heefjJele&ve = 3, 06,2500 – 1,56, 2500 

           = 1500, 000 J 

  Ùee    1500,000

1000000
 

       = 1.5 MJ    
98. Choose the figure which is different from the 

rest./Jen efÛe$e Ûegves pees yeekeâer mes Deueie nes- 

  
 

  
 

Ans : (a) efJekeâuhe (a) ceW Skeâ JeCe& 'Q' keâer peien 'O' nw peyeefkeâ 
DevÙe meYeer efJekeâuhe Deeke=âefleÙeeW ceW meceeve JeCe& efoS ieS nw~   

99. In a certain code DIRTY is coded as 24759 and 
FOAM is coded as 1863. Using the same code 
ARID will be coded as –––––. /Skeâ efveefMÛele keâes[ 
ceW efueKes peeves hej Ùeefo DIRTY keâes 24759 Deewj 
FOAM keâes 1863 kesâ ™he ceW efueKee ieÙee nes lees Gmeer 
keâes[ keâe GheÙeesie keâjkesâ ARID keâes ........... kesâ ™he ceW 
efueKee peeSiee~  

 (a) 9165 (b) 6742 
 (c) 1579 (d) 2489 
Ans : (b) efoÙee nw-  

 
D I R T Y

2 4 7 5 9

↓ ↓ ↓ ↓ ↓   leLee 
F O A M

1 8 6 3

↓ ↓ ↓ ↓  

Ghejesòeâ keâes[eW keâe ØeÙeesie keâjves hej-  

 
A R I D

6 7 4 2

↓ ↓ ↓ ↓  

100. If the amount received at the end of 1 st and 
2nd year at compound interest on a certain 
principle is ` 1,350 and ` 1,458 respectively, 

what is the rate of interest?/efkeâmeer cetueOeve hej 
henues Deewj otmejs meeue kesâ Deble ceW Ûe›eâJe=efæ yÙeepe hej 
Øeehle jeefMe ›eâceMe: `1350 Deewj `1458 nw, lees yÙeepe oj 
keäÙee nw? 

 (a) 12% (b) 08% 
 (c) 10% (d) 15% 
Ans : (b) otmejs meeue keâe yÙeepe = 1458–1350 

   = `108 

∵ 1 meeue kesâ efueS meeOeejCe yÙeepe · Ûe›eâJe=efæ yÙeepe  

s∴   P R T
C.I.

100

× ×
=   mes 

  1350 R 1
108

100

× ×
=   

⇒ 
108 100

R
1350

×
=  = 8% 
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PART-B : TECHNICAL 

101.  An Auto transformer is a /an: 

  Skeâ mJeheefjCeeefce$e (Dee@šes š^ebmeHeâece&j) Skeâ ............... 
neslee nw? 

 (a) Variable input voltage transformer. 

   heefjJele&veerÙe Fvehegš Jeesušspe š^ebmeHeâece&j  
 (b) Automobile transformer 

  Dee@šesceesyeeFue š^ebmeHeâece&j 
 (c) Automatic transformer 

  Dee@šescesefškeâ (mJeÛeeefuele) š^ebmeHeâece&j 
 (d)  Variable output voltage transformer. 

  heefjJele&veerÙe DeeGšhegš Jeesušspe š^ebmeHeâece&j 

Ans. (d) : Skeâ mJeheefjCeeefce$e (Dee@šesš^ebmeHeâece&j Skeâ heefjJele&veerÙe 
DeeGšhegš Jeesušspe š^ebmeHeâece&j neslee nw~ 
� Dee@šesš^ebmeHeâece&j ceW Skeâue JeeFbef[bie nesleer nw peneB ØeeLeefcekeâ Deewj 
efÉleerÙekeâ meceeve Skeâue kegâC[ueer meePee keâjles nQ~ 
� meceeve Jeesuš-SefcheÙej jsefšbie kesâ oesnjs kegâC[ueve Jeeues š^ebmeheâece&j 
keâer leguevee ceW ueeiele keâce nesleer nw~ 
� 2-JeeFbef[bie Jeeues š^ebmeHeâece&j keâer leguevee ceW Dee@šesš^ebmeHeâece&j keâer 
DeefOekeâ o#elee, efvecve Øeefle Ùetefveš ØeefleyeeOee (Zpu) Deewj efvecve Jeesušspe 
efveÙeceve neslee nw~ 
102.   What is the full form of MPCB? 

   MPCB keâe hetje veece keäÙee nw? 
 (a) Motor Phase Control Board 
  ceesšj Hesâ]pe kebâš^esue yees[&  
 (b) Motor Polarity Control Board 
  ceesšj heesuewefjšer kebâš^esue yees[& 
 (c) Motor Protection Circuit Breaker 
  ceesšj ØeesšskeäMeve meefke&âš yeÇskeâj 
 (d) Motor Protection Capacitance Bank 
  ceesšj ØeesšskeäMeve kewâhesefmešWme yeQkeâ  

Ans. (c) : MPCB keâe hetje veece- ceesšj ØeesšskeäMeve meefke&âš yeÇskeâj 
(Motor protection circuit Breaker) neslee nw Fmekeâe cegKÙe ™he 
mes ceesšj keâes cewvÙegDeue ™he mes Ûeeuet/yebo keâjves kesâ efueS Deewj ueIeg-
heefjheLe, DeefleYeej Deewj hesâpe efJeheâueleeDeeW mes heäÙetpejefnle megj#ee Øeoeve 
keâjves kesâ efueS GheÙeesie efkeâÙee peeles nQ~ 
103.  An element which stores energy in the form of 

magnetic field is. 

  efvecveefueefKele ceW mes keâewve mee Ieškeâ, pees ÛegcyekeâerÙe #es$e 
kesâ ™he ceW Tpee& meb«enerle keâjlee nw? 

 (a) Tungsten resistor/šbiemšve jefpemšj 
 (b) Eureka capacitor/Ùetjskeâe kewâhesefmešj 
 (c) Carbon Inductor/keâeye&ve Fv[keäšj 
 (d) Nichrome varistor/veeF›eâesce yewefjmšj 

Ans. (c) : keâeye&ve Fv[keäšj ceW Tpee& ÛegcyekeâerÙe #es$e kesâ ™he ceW 
meb«eefnle neslee nw~ 

   21
U LI

2
petue=  

 peneB L = ØesjkeâlJe 
   I = efJeÅegle Oeeje 
104.  Most of the power in India is generated by. 

  Yeejle ceW DeefOekeâebMe efyepeueer GlheVe keâer peeleer nw? 
 (a) Hydro power plants/peue efJeÅegle mebÙeb$eeW Éeje 
 (b) Wind power plants/heJeve efJeÅegle mebÙeb$eesb Éeje 
 (c) Thermal power plants/leehe efJeÅegle mebÙeb$eesb Éeje 
 (d) Nuclear power plants/veeefYekeâerÙe efJeÅegle mebÙeb$eeW Éeje 
Ans. (c) : Yeejle ceW DeefOekeâebMe efyepeueer Glheeove leehe efJeÅegle mebÙe$e 
kesâ Éeje efkeâÙee pee jne nw, DeeOegefvekeâ [sše efomecyej, 2018 lekeâ kegâÚ 
Fme Øekeâej nw–  
Lece&ue (57³) > neF[^es (14.4%) > heJeve (efJeb[) 10³ > iewme 
(7.2%)~  
105.  Which of the following is not true of a 3-phase  

Induction motor? 

  efvecveefueefKele ceW mes keâewve-mee 3-Hesâpe ØesjCe ceesšj kesâ efueS 
melÙe vener nw? 

 (a) Star delta starting is required  

  mšej [suše mšee\šie DeeJeMÙekeâ nw~ 
 (b) It is self-starting / Ùen mJeØeJee|lele nw~ 
 (c) It is self-starting and running windings are 

required  

  Ùen mJeØeJee|lele Deewj jeEveie JeeFbeE[ie DeeJeMÙekeâ nw~ 
 (d) It has an auto transformer starter  

  FmeceW Skeâ Dee@šes š^ebmeHeâece&j mšeš&j nw~ 
Ans. (c) : 3-Hesâpe ØesjCe ceesšj mJe ØeejefcYekeâ nesleer nw Deewj mšej 
[suše mšeš&j Ùee Dee@šes š^ebmeHeâece&j mšeš&j keâer DeeJeMÙekeâlee nesleer nw~ 
� 3-Hesâpe ØesjCe ceesšj keâes Meg™ keâjves kesâ efueS efkeâmeer yeenjer 

GhekeâjCe keâer DeeJeMÙekeâlee vener nesleer nw 
� Deešes š^ebmeheâece&j ØeJe&lekeâ, GÛÛe jsefšbie Jeeues DeLee&led 20HP lekeâ 

kesâ mkeäJewjue kesâpe ceesšj kesâ efueS meyemes GheÙegòeâ nesleer nw~  
106.  The motor used in water pump is 

  heeveer kesâ hebhe ceW ØeÙegòeâ ceesšj nesleer nw? 
 (a)  Servo motor/meJeex ceesšj 
 (b)  DC motor/efo° Oeeje (DC) ceesšj 
 (c) Synchronous motor/leguÙekeâeueer (efmeb›eâesveme) ceesšj 
 (d)  Induction motor/ØesjCe (Fb[keäMeve) ceesšj 
Ans. (d) : heeveer kesâ heche ceW ØeÙegòeâ ceesšj ØesjCe (Fb[keäMeve) ceesšj 
nesleer nw~ ØesjCe ceesšj AC hee@Jej mehueeF& hej ØeÛeeefuele nesleer nw~ AC 

hee@Jej mehueeF& meYeer mLeeveeW hej Deemeeveer mes GheueyOe neslee nw~  
� meJeex ceesšj keâe ØeÙeesie js[ej, keâchÙetšj, CD/DVD huesÙej Deewj 

jesyeesefškeäme leLee efKeueewveeW ceW efkeâÙee peelee nw~ 
� [ermeer ceesšjeW ceW Mebš ceesšj keâe ØeÙeesie uesLe ceMeerve, ef[^ue ceMeerve, 

yueesDej Deewj hebKes FlÙeeefo ceW leLee ßesCeer ceesšj keâe GheÙeesie ›esâve, 
neÙemš, SsueerJesšj FlÙeeefo ceW efkeâÙee peelee nw~ 
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107.   Inter pole winding is connected in series with 

which one of the following? 

  Deble:-OeÇgJeer (Fbšj heesue) JeeFbef[bie, efvecveefueefKele ceW mes 
efkeâmekesâ meeLe ßesCeer›eâce ceW mebÙeesefpele nesleer nw? 

 (a) Field winding/#es$e JeeFbef[bie  
 (b) Yoke /Ùeeskeâ 
 (c) Pole winding/heesue JeeFbef[bie  
 (d) Armature winding/DeecexÛej JeeFbef[bie 
Ans. (d) : Devle: OeÇgJeer (Fbšj heesue) JeeFbef[bie, DeecexÛej JeeFbef[bie kesâ 
meeLe ßesCeer ›eâce ceW mebÙeesefpele nesleer nw~ efokedâheefjJele&ve efJe0Jee0 yeue 
(Commutating e.m.f.) DeecexÛej Oeeje kesâ meceevegheeleer nw~ 
� Devle: OeÇgJe Ùen Úesšs Deefleefjòeâ OeÇgJe nesles nQ, leLee FvnW ceMeerve kesâ 
{ebÛes (yoke) ceW cegKÙe OeÇgJeeW kesâ yeerÛe ueieeÙee peelee nw~ FvnW 
Dehes#eeke=âle ceesšs leeceü efJeÅeglejesefOele leejeW Éeje yeveeÙee peelee nw~ 
108.  The dielectric strength of transformer oil per 

mm is expected to be. 

  š^ebmeHeâece&j Dee@Ùeue keâer hejeJewÅegle meeceLÙe& Øeefle efceceer 
...........nesves keâer Dehes#ee keâer peeleer nw~ 

 (a) 100 kV (b) 30 kV 
 (c) 330 kV (d) 1 kV 
Ans. (b) : š^ebmeHeâece&j Dee@Ùeue keâer hejeJewÅegle meeceLÙe& 30 kV (rms) 

Øeefle efceceer nesveer ÛeeefnS~ 
š^ebmeheâece&j lesue keâer hejeJewÅegle efmLejebkeâ meeceLÙe& GmeceW GheefmLele 
DeMegefæDeeW hej efveYe&j keâjleer nw DeLee&led DeMegefæ yew"ves mes hejeJewÅegle 
meeceLÙe& Iešleer nw~ 
109.   The concept of back emf in DC motor is based 

on. 

  DC ceesšj ceW yeQkeâ F&SceSHeâ Ùee heMÛe efJeÅegle Jeenkeâ yeue 
keâer DeJeOeejCee DeeOeeefjle nw? 

 (a) Kirchhoff's current law 

  efkeâjÛee@Heâ kesâ Oeeje efveÙece hej 
 (b) Faraday's law/Hewâje[s kesâ efveÙece hej 
 (c) Lenz's law/ueWpe kesâ efveÙece hej 
 (d) Ohm's law/Deesce kesâ efveÙece hej 
Ans. (c) : DC ceesšj ceW yewkeâ F&SceSHeâ Ùee heMÛe efJe0Jee0 yeue keâer 
DeJeOeejCee ueWpe kesâ efveÙece hej DeeOeeefjle nw~ ueWpe kesâ efveÙeceevegmeej 
efkeâmeer Yeer Ûeeuekeâ ceW GlheVe efJe0Jee0 yeue ncesMee Gme keâejkeâ keâe 
efJejesOe keâjleer nw efpememes Jen mJeÙeb GlheVe nesleer nw~  

 b a aV E I R= + ...........ceesšj meceerkeâjCe 

peneB  V = še|ceveue Jeesušspe, Eb = yewkeâ F&SceSHeâ 
 Ia = DeecexÛej Oeeje,    Ra = DeecexÛej ØeeflejesOe  
110.  The starting capacitor used in single phase 

motors is . 

  efmebieue Hesâ]pe ceesšjeW ceW GheÙeesie efkeâÙee peeves Jeeuee ØeJele&keâ 
mebOeeefj$e efvecveefueefKele ceW mes keâewve mee nw? 

 (a) Electrolytic capacitor/efJeÅegle-DeheIešŸe mebOeeefj$e 
 (b) Timer capacitor/šeFcej kewâhesefmešj 
 (c) Mica capacitor/ceeFkeâe kewâhesefmešj 
 (d) Ceramic capacitor/efmejsefcekeâ mebOeeefj$e 
Ans. (a) : efmebieue Hesâpe ceesšjeW ceW GheÙeesie efkeâÙee peeves Jeeuee mšee\šie 
kewâhesefmešj efJeÅegle DeheIešveer Øekeâej keâe neslee nw~ 
� efmebieue Hesâpe ceesšj mJele: mšeš& vener nesleer nw 
� efmebieue Hesâpe ceesšj kesâ jefvebie kewâheeefmešj, heshej Ùee DeeÙeue šeFhe 
neslee nw~  
111.  The expression used to calculate mass 'M' 

deposited in an electrolytic process is. 

  efkeâmeer efJeÅegle DeheIešveer Øeef›eâÙee ceW DeJe#esefhele meece«eer 
kesâ õJÙeceeve `M' keâer ieCevee keâjves kesâ efueS ØeÙegòeâ 
JÙebpekeâ nw? 

 (a) Zt
M

i
=  (b) M Zit=  

 (c) Zt
M

T
=  (d) it

M
Z

=  

Ans. (b) : efJeÅegle DeheIešveer Øeef›eâÙee ces DeJe#esefhele meecee«eer kesâ 
õJÙeceeve `M' kesâ efueS ØeÙegòeâ JÙebpekeâ- 
 M ∝ it  
 M Zit=  
peneB Z = efJeÅegle jmeeÙeefvekeâ leguÙeebkeâ,  
     i = efJeÅegle Oeeje (SefcheÙej) 
     t = meceÙe (meskesâC[ ceW) 
� hewâje[s kesâ efJeÅegle DeheIešŸe efveÙeceevegmeej Fueskeäš^es[ hej pecee ngDee 
lelJe DeeJesMe kesâ meceevegheeleer neslee nw~ 
DeLee&led M Q∝  

112.   What is the full form of UPS? 

  UPS keâe hetje veece keäÙee nw? 
 (a) Unidirectional Power Supply 
  /Ùetveer[eÙejskeäMeveue hee@Jej mehueeF& 
 (b) Universal Pulse Supply/ÙetefveJeme&ue heume mehueeF&  
 (c) Uninterruptible Power Supply/DeveFbšsefjhšsyeue 

hee@Jej mehueeF&/ 
 (d) United Power Supply/ÙetveeFšs[ hee@Jej mehueeF&  
Ans. (c) : UPS keâe hetje veece-Uninterruptible power supply 

nw~ Fmekeâe GheÙeesie Ssmes mLeeveeW hej efkeâÙee peelee nw peneB hej hee@Jej 
mehueeF& hesâue nesves hej Yeer uees[ keâer Deehetefle& yeeefOele ve nes Deewj Fmekesâ 
efmJeefÛebie meceÙe MetvÙe nesleer nw~ 
UPS keâe ØeÙeesie DeefOekeâebMele: PC kesâ efueS efkeâÙee peelee nw~ 
113.  The range of temperature for soldering is. 

  meesu[efjbie kesâ efueS leeheceeve keâer meercee keäÙee nesleer nw? 
 (a) 180 0C mes 250 0C 
 (b) 100 0C mes 150 0C 
 (c) 1000 0C mes 2000 0C 
 (d) 600 0C mes 900 0C 
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Ans. (a) : meesu[efjbie kesâ efueS leeheceeve keâer meercee 1800C mes 
2500C lekeâ nesleer nw~ 
� meesu[efjbie kesâ efueS ce=og šekeâe nsleg efšve (25-80)% leLee ues[ 

(75-20)% ØeÙegòeâ neslee nw~ 
� keâ"esj šekeâe nsleg heerleue keâe šekeâe Ùee ÛeeBoer keâe šekeâe ØeÙegòeâ neslee nw~ 
114.  What will be the body resistance value of a 

person with normal age and health? 

  meeceevÙe DeeÙeg Deewj mJeemLÙe Jeeues JÙeefòeâ kesâ Mejerj keâe 
ØeeflejesOe ceeve keäÙee nesiee? 

 (a) 0.5 kilo Ω (b) 1 kilo Ω 
 (c) 5 kilo Ω (d) 10 kilo Ω 
Ans. (b) : meeceevÙe DeeÙeg Deewj mJemLÙe JÙeefòeâ kesâ Mejerj keâe ØeeflejesOe 
1 efkeâuees Deesce neslee nw~ 
� Meg<keâ lJeÛee Jeeues ceveg<Ùe keâe ØeeflejesOe 1 cesiee Deesce neslee nw~ 
115.  The  working of SMPS is based on. 

  SMPS keâer keâeÙe&ØeCeeueer ................ hej DeeOeeefjle nw? 
 (a) Frequency control principle 

  DeeJe=efòe efveÙeb$eCe efmeæeble 
 (b) Integral control principle/Skeâerke=âle efveÙeb$eCe efmeæeble 
 (c) Chopper principle/Ûee@hej efmeæeble 
 (d) Phase control principle/Hesâpe efveÙeb$eCe efmeæeble 
Ans. (c) : SMPS keâer keâeÙe&ØeCeeueer Ûee@hej efmeæevle hej DeeOeeefjle 
nw~ efmJeÛe cees[ Meefkeäle Deehete|le (SMPS), UPS mes Øeehle S.meer. 
Deehete|le (ØeeÙe: 230 Jeesuš) keâes efJeefYevve ceeveeW keâer efveÙeefcele [er.meer. ceW 
heefjJee|lele keâjlee nw~ SMPS ceW MOSFET keâe ØeÙeesie cegKÙe 
efmJeefÛebie ef[JeeFme kesâ ™he ceW efkeâÙee peelee nw~ 
116.   Cable lugs are also called. 

  kesâyeue keâCe&keâeW (ueime) keâes.............. Yeer keâne peelee nw? 
 (a)  cable ends/kesâyeue Sb[  
 (b)  Cable covers/kesâyeue keâJej 
 (c)  cable bends/kesâyeue yeW[  
 (d)  cable shoes/kesâyeue Metpe 

Ans. (d) : kesâyeue keâCe&keâes (ueime) keâes kesâyeue Metpe Yeer keâne peelee nw~ 
� kesâyeue ueime keâes efkeâmeer mLeeve hej ueieeves kesâ efueS ›eâerefhebie štue keâe 
ØeÙeesie neslee nw~  
117.  An offline UPS requires. 

  Dee@]HeâueeFve ÙetheerSme (UPS) keâes DeeJeMÙekeâlee nesleer nw? 
 (a) Battery/yewšjer keâer (b) Capacitor/mebOeeefj$e keâer 
 (c) Inductor/Øesjkeâ keâer (d) Resistor/ØeeflejesOe keâer 
Ans. (a) : Dee@HeâueeFve ÙetheerSme (UPS) keâes yewšjer keâer DeeJeMÙekeâlee 
nesleer nw~ 
� peye cegKÙe hee@Jej mehueeF& keâš peeleer nw lees met#ce meceÙe kesâ Devoj 
UPS yewšjer keâer hee@Jej mehueeF& ueskeâj AC hee@Jej mehueeF& heefjheLe Yebie 
ngS efyevee ØeJeeefnle keâjves keâe keâeÙe& keâjlee nw~ 

118.   A battery is connected to a resistance of 20Ω. If 

a current of 0.75A has to be produced, what 

should be the EMF of the battery. 

  Skeâ yewšjer 20 Ω kesâ ØeeflejesOe mes pegÌ[er ngF& nw~ Ùeefo 0.75 

A keâer Oeeje GlheVe keâer peeveer nes, lees yewšjer keâe efJeÅegle 
Jeenkeâ yeue (EMF) efkeâlevee nesvee ÛeeefnS? 

 (a) 5 V (b) 20 V  
 (c) 30 V (d) 15 V 
Ans. (d) : efoÙee nw- R = 20 Ω 

 E = ? 

 I = 0.75 Amp 

 nue : 

   
 E IR=  mes 

 E = 0.75 × 20 

 E 15V=  

119.   An  example for integrating instrument is. 

Fbšer«esefšbie FbmšÍceWš keâe Skeâ GoenjCe nw? 
 (a) Voltmeter/Jeesušceeršj  
 (b) Wattmeter/Jeešceeršj 
 (c) Ammeter/Sceeršj  
 (d) Ampere hour meter/SefcheÙej Dee@Jej ceeršj 

Ans. (d) : Fbšer«esefšbie (meceekeâue) FbmšÍceWš keâe GoenjCe SefcheÙej 
Dee@Jej ceeršj nw~  
� meceekeâue FbmšÎceWš pees efkeâmeer efveefMÛele DeJeefOe lekeâ oer ieÙeer mechetCe& 
JewÅegle jeefMe keâes oMee&lee nQ~ 
� Ùen meceekeâefuekeâ Øekeâej keâe GheÙev$e nw  
� DC kesâ efueS designed efkeâÙee ngDee Gpee& ceeršj AC hej ØeÙeesie 
efkeâÙee pee mekeâlee nw uesefkeâve AC Jeeuee DC hej veneR 
Tpee& ceeršj efvecve leerve Øekeâej kesâ nesles nw~ 
1. For AC/DC both commutator moter meter. 

2. For DC mercury motor meter.  

3. Only for AC induction moter meter.  

120.   Four cells each of 2V and 4 Ah are connected in 

parallel, the net voltage of the battery is. 

   2 V Deewj 4 Ah kesâ Ûeej mesueeW keâes meceeblej ›eâce ceW 
peesÌ[keâj yeveeF& ieF& yewšjer keâe kegâue Jeesušspe efkeâlevee 
nesie? 

 (a) 0.5 V (b) 4 V 
 (c) 3 V (d) 2 V 
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Ans. (d) : meceevlej ›eâce ceW Jeesušspe keâe ceeve meeceeve jnlee nw, 
peyeefkeâ ßesCeer ›eâce ceW Oeeje keâe ceeve meeceeve jnlee nw~ FmeefueS yewšjer 
keâer ßesCeer mebÙeespeve ceW amp-hour meceeve jnleer nw peyeefkeâ meceeblej ceW 
amp-hour pegÌ[ peeleer nw~ 

 
121.   Current Control Mode is used for------. 

  Oeeje efveÙeb$eCe (keâjWš kebâš^esue) cees[ keâe ØeÙeesie............... 
efkeâÙee peelee nw? 

 (a) Constant chanrging of Battery 

  yewšjer keâer efmLej ÛeeefpeËie kesâ efueS 
 (b) Slow charging/Oeerceer ÛeeefpeËie kesâ efueS 
 (c) Fast Battery charging 

  yewšjer keâer lespe Ûeeefpe&ie kesâ efueS 
 (d) Fluctuating Battery charging 

  yewšjer keâer heefjJeleea ÛeeefpeËie kesâ efueS 
Ans. (a) : Oeeje efveÙeb$eCe (keâjWš kebâš^esue) cees[ keâe ØeÙeesie yewšjer keâer 
meleled (efmLej) ÛeeefpeËie kesâ efueS efkeâÙee peelee nw~ 
� Oeeje keâe ceeve efmLej jKeves kesâ efueS ØeÙegòeâ Jeesušlee keâes Oeeje 
efveÙeb$ekeâ (efjDeesmšsš) Éeje mecebefpele efkeâÙee peelee nw~ 
� Fme efJeefOe ceW DeeJesMeve Oeeje keâe ceeve keâce jKevee ÛeeefnS~ 
� mesue keâes DeeJesefMele keâjves ceW DeefOekeâ meceÙe ueiesiee, uesefkeâve mesue keâer 
o#elee ceW Je=efæ nesieer~   
122.   In an energy meter the magnitude of flux 

varies./Tpee&ceeheer (Svepeea ceeršj) ceW Heäuekeäme keâe 
heefjceeCe..................yeouelee nw? 

 (a) Due to high resistance and inductance 

  GÛÛe ØeeflejesOe SJeb ØesjkeâlJe keâer Jepen mes 
 (b) Due to the induced EMF in the winding 

  kegbâ[ueer (JeeFbef[bie) ceW Øesefjle efJeÅegle Jeenkeâ yeue (EMF) 

keâer Jepen mes 
 (c) Due to change in the transformer turns 

  š^ebmeHeâece&j keâer kegbâ[ueer ceW ÛekeäkeâjeW (šve&) keâer mebKÙee ceW 
heefjJele&ve keâer Jepen mes 

 (d) Due to abnormal currents and voltages 

  DemeeceevÙe OeejeDeeW SJeb Jeesušspe keâer Jepen mes 

Ans. (d) : Tpee&ceeheer (Energy meter) ceW Heäuekeäme keâe heefjceeCe 
DemeeceevÙe OeejeDeeW SJeb Jeesušspe keâer Jepen mes yeouelee nw~ 
� Tpee&ceeheer Skeâ meceekeâuekeâ (Fbšer«esefšbie) DeJeÙeJe nw~ 
� Tpee&ceeheer kesâ efvecveefueefKele leerve cegKÙe Yeeie nw- 
(i) ØeÛeeueve Ùegefòeâ 
(ii) yeÇsefkebâie Ùegefòeâ 
(iii) efjkeâe@ef[Ëie Ùegefòeâ 
123.   Which one of the following is a dry cell? 

  efvecveefueefKele ceW mes keâewve-mee Meg<keâ mesue nw? 
 (a) Lithium cell/ueerefLeÙece mesue  
 (b)  Zinc -Carbon cell/efpebkeâ-keâeye&ve mesue 
 (c)  Zine Chloride cell/efpebkeâ keäueesjeF[ mesue  
 (d)  Silver Oxide cell/efmeuJej Dee@keämeeF[ mesue 
Ans. (b) : efpebkeâ keâeye&ve mesue Meg<keâ mesue neslee nw~ Fme mesue kesâ 
Devleie&le pemles keâe Skeâ yesueveekeâej hee$e neslee nw, pees kewâLees[ keâe keâeÙe& 
keâjlee nw~ hee$e kesâ "erkeâ ceOÙe ceW Skeâ keâeye&ve keâer ÚÌ[ mLeeefhele keâer 
peeleer nw, pees Svees[ keâe keâeÙe& keâjleer nw~ Fme ÚÌ[ kesâ ÛeejeW Deesj Skeâ 
ceesšs keâheÌ[s keâer Lewueer ceW cewiveerpe [eF& Dee@keämeeF[ (MnO2), keâeye&ve 
(C), DeceesefveÙece keäueesjeF[ (NH4Cl) leLee eEpekeâ keäueesjeF[ (ZnCl2) 

kesâ ÛetCeex keâes 10 : 10 : 2 : 1 kesâ Devegheele ceW efceueekeâj Yeje peelee nw~ 
� Fmekeâe efJe0Jee0 yeue 1.4 mes 1.5 Jeesuš lekeâ neslee nw~ 
� GheÙeesie- šeÛe&, šsueerHeâesve, efJeÅegle IeCšer, kewâceje, oerJeej IeÌ[er, 
šsheefjkeâe@[&j Deeefo GhekeâjCeeW ceW neslee nw~ 
124.   In India, single phase AC wall sockets are 

generally supplied with------- frequency. 

  Yeejle ceW, efmebieue Hesâpe Smeer (AC) Jee@ue mee@kesâš ceW 
Deeceleewj hej ............ DeeJe=efòe keâer Deehetefle& Øeoeve keâer 
peeleer nw? 

 (a) 60 Hz (b) 40 Hz 
 (c) 100 Hz (d) 50 Hz 
Ans. (d) : Yeejle ceW efmebieue Hesâpe Smeer  (AC) Jee@ue mee@kesâš ceW 
Deeceleewj hej 50 Hz DeeJe=efòe keâer Deehetefle& Øeoeve nesleer nw~ 
� Yeejle ceW ceevekeâ DeeJe=efòe ceW heefjJele&ve 3%±  DevegcevÙe nw,  
DeLee&led  50 3%±  
125.  In indian households, single phase supply 

voltage in the form of. 

  Yeejle kesâ IejeW ceW, efmebieue Hesâpe mehueeF& Jeesušspe efkeâme 
™he ceW neslee nw? 

 (a) DC voltage/DC Jeesušspe 
 (b) Pulsed voltage/mhebefole Jeesušspe  
 (c)  RMS voltage /RMS Jeesušspe 
 (d) Peak-to-peak voltage /efMeKej-mes-efMeKej Jeesušspe 
Ans. (c) : IejeW ceW efmebieue Hesâpe mehueeF& Jeesušspe RMS Jeesušspe kesâ 
™he ceW Øeehle neslee nw~ 
� RMS (Root mean Square) Jeie& ceeOÙe cetue pÙeeJe›eâerÙe Ùee 

keâespÙee Je›eâ kesâ efueS max
rms

V
V

2
=  nw~ 
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126.   Identify the circuit in the given figure. 

  efoS ieS efÛe$e ceW efoKeeS ieS heefjheLe keâes henÛeeves? 

 
 (a) Current controlled voltage source 

  Oeeje efveÙebef$ele Jeesušspe œeesle 
 (b) Voltage controlled voltage source 

  Jeesušspe efveÙebef$ele Jeesušspe œeesle 
 (c) Current controlled current source 

  Oeeje efveÙebef$ele Oeeje œeesle 
 (d) Voltage controlled current source 

  Jeesušspe efveÙebef$ele Oeeje œeesle 
Ans. (c) : efoS ieS efÛe$e ceW Oeeje efveÙebef$ele Oeeje œeesle heefjheLe nw 
efkeâmeer heefjheLe keâe Oeeje œeesle efkeâmeer DevÙe heefjheLe kesâ Oeeje hej efveYe&j 
keâjlee nw~  
127.   Fusing element of a fuse is usually made of. 

  efkeâmeer HeäÙetpe keâe HeäÙetefpebie SueerceWš meeceevÙele:  
................ mes yevee neslee nw? 

 (a) Copper/leebyes (b) Steel/Fmheele  
 (c) Mica/ceeFkeâ (d) Iron/ueesns  
Ans. (a) : efkeâmeer HeäÙetpe keâe HeäÙetefpebie SueerceWš leebyes (GÛÛe ÛeeuekeâerÙe 
heoeLe&) keâe yevee neslee nw~ 
� HeäÙetpe Skeâ megj#ee GhekeâjCe DeJeÙeJe neslee nw~ Fmes mepeerJe Ûeeuekeâ 
kesâ ßesCeer ›eâce ceW ueieeÙee peelee nw~ 
� HeäÙetpe keâer jsefšbie SefcheÙej ceW nesleer nw~ 
� HeäÙetpe keâe GÛÛe Ûeeuekeâlee leLee keâce ieueveeBkeâ keâe iegCe nesvee 
ÛeeefnS~ 
128.   The EMF of a dry cell is about? 

  Meg<keâ mesue keâe efJeÅegle Jeenkeâ yeue (EMF) ueieYeie 
efkeâlevee neslee nw? 

 (a) 1.5 V (b) 2.5 V 
 (c) 2 V (d) 0  
Ans. (a) : Meg<keâ mesue keâe efJe0 Jee0 yeue (EMF) ueieYeie 1.5 
Jeesuš neslee nw~ Meg<keâ mesue keâeye&ve efpebkeâ mesue neslee nw~ Fme mesue kesâ 
Devleie&le pemles keâe Skeâ yesueveekeâej hee$e neslee nw, pees kewâLees[ keâe keâeÙe& 
keâjlee nw~ hee$e kesâ "erkeâ ceOÙe ceW Skeâ keâeye&ve keâer ÚÌ[ mLeeefhele keâer 
peeleer nw, pees Svees[ keâe keâeÙe& keâjleer nw~ Fme ÚÌ[ kesâ ÛeejeW Deesj Skeâ 
ceesšs keâheÌ[s keâer Lewueer ceW cewiveerpe [eF& Dee@keämeeF[ (MnO2), keâeye&ve 
(C), DeceesefveÙece keäueesjeF[ (NH4Cl) leLee eEpekeâ keäueesjeF[ (ZnCl2) 

kesâ ÛetCeex keâes 10 : 10 : 2 : 1 kesâ Devegheele ceW efceueekeâj Yeje peelee nw~ 
129.  The function of filter capacitor in a rectifier 

circuit is to reduce. 

  efo°keâejer heefjheLe ceW efHeâušj kewâhesefmešj keâe 
keâeÙe&.............keâes keâce keâjvee nw? 

 (a)  Harmonice/neceexefvekeäme (b) Amplitude/DeeÙeece 
 (c) Frequency/DeeJe=efòe (d)  Ripple/Tefce&keâe  
Ans. (d) : efo°keâejer (Rectifier) heefjheLe ceW efHeâušj kewâhesefmešj keâe 
keâeÙe& Gefce&keâe (efjheue Hewâkeäšj) keâes keâce keâjvee neslee nw~ efkeâmeer Yeer 
jsefkeäšHeâeÙej mes Øeehle DeeGšhegš hetCe& ™he mes [er.meer. vener nesleer, FmeceW 
kegâÚ cee$ee ceW S.meer. kesâ DeJeÙeJe Yeer Øeehle nesles nQ~ S.meer. keâer Fme 
cee$ee keâes efjheue keânles nw~ Dele: jsefkeäšHeâeÙej mes Øeehle DeeGšhegš mes 
efmLej [er.meer. Øeehle keâjves kesâ efueS efHeâušj, leLee heefjheLe keâe ØeÙeesie 
efkeâÙee peelee nw, Ùes efHeâušj cegKÙele: kewâhesefmešj, FC[keäšj mes yeves nesles 
nQ~ efHeâušj kewâhesefmešj keâe keâeÙe& efmeæevle Fme Øekeâej nw– 

 C

1
X

f
∝   C

1
X

2 fc

 = 
π 

 

[er.meer. kesâ efueS, 
 DeeJe=efle (f) = 0 

 C

1
X

0
∝  

 CX = ∞  peneB XC = kewâhesefmeefšJe efjSkeäšsvme 

Ghejeskeäle mecyevOe mes mhe° nw keâesF& kewâhesefmešj [er.meer. kesâ efueS Devevle 
ØeefleyeeOee Deewj S.meer. kesâ efueS keâce ØeefleyeeOee Øemlegle keâjlee nw~ Dele: 
jsefkeäšHeâeÙej kesâ DeeGšhegš ceW Megæ [er.meer. Øeehle nesieer~ 
� Gefce&keâe Ieškeâ keâe ceeve Deæ& lejbie efo°keâejer kesâ efueS 1.21 leLee 
hetCe& lejbie efo°keâejer kesâ efueS 0.482, efyeÇpe efo°keâejer nsleg 0.48 neslee nw~ 
130.   For  the grid synchronization maximum limit 

of phase angle is. 

  ef«e[ efmeb›eâesveeFpesMeve kesâ efueS Hesâpe Sbieue keâer DeefOekeâlece 
meercee nw? 

 (a) +/- 200 (b) +/- 150 
 (c) +/- 300 (d) +/- 250 
Ans. (a) : ef«e[ efmeb›eâesveeFpesMeve kesâ efueS Hesâpe Sbieue keâer DeefOekeâlece 
meercee 020±  lekeâ nesleer nw~ 
ef«e[ efmeb›eâesveeFpesMeve keâer DeefOekeâlece meerceeÙeW- 
1. hesâpe keâesCe- 20%±  
2. efmuehe DeeJe=efòe- 0.44% 
3. Jeesušlee efYeVelee-7% 
131.   Ohms law states that. 

  Deesce keâe efveÙece efveefo&° keâjlee nw efkeâ? 

 (a) R = I × V (b) R
V

I
=  

 (c) I V R= ×  (d) V
I

R
=  

Ans. (d) : Deesce keâe efveÙece : peye efkeâmeer Ûeeuekeâ kesâ Yeeweflekeâ 
DeJemLee (leehe, oeye Deeefo) ceW heefjJele&ve ve nes lees Ûeeuekeâ kesâ efmejeW kesâ 
S›eâeme ueieeÙee ieÙee efJeYeJeevlej leLee Ûeeuekeâ ceW yenves Jeeueer Oeeje keâe 
Devegheele Skeâ efmLejebkeâ (Constant) R neslee nw~  

 
V

R
I

efmLejebkeâ=  

peneB, R ØeeflejesOe nw efpemekeâer Ùetefveš Deesce nesleer nw~  
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132.   When resistors are connected in series, the 

current flowing through each resistor is. 

  peye ØeeflejesOeeW keâes ßesCeer›eâce ceW mebÙeesefpele efkeâÙee peelee nw 
lees ØelÙeskeâ ØeeflejesOe mes ØeJeeefnle nesves Jeeueer Oeeje nesleer nw? 

 (a)  Different/efYeVe-efYeVe  
 (b)  Same/meceeve 
 (c)  Same as applied voltage 

  Deejesefhele Jeesušspe kesâ meceeve 
 (d)  zero/MetvÙe 
Ans. (b) : peye ØeeflejesOeeW keâes ßesCeer ›eâce ceW mebÙeesefpele efkeâÙee peelee nw 
lees ØelÙeskeâ ØeeflejesOe mes ØeJeeefnle nesves Jeeueer Oeeje keâe ceeve Skeâ meceeve 
neslee nw~ 
� meeceevlej ›eâce ceW mebÙeesefpele meYeer ØeeflejesOe hej Jeesušspe keâe ceeve Skeâ 
meceeve neslee nw~ 
133.  A cable has ? / Skeâ kesâyeue ceW neslee nw? 
 (a) one central core or a number of cores of 

stranded conductors 

  Skeâ kesâvõerÙe keâesj Ùee mš^wC[s[ ÛeeuekeâeW kesâ keâF& keâesj  
 (b) many free electrons / yengle cegkeäle Fueskeäš^e@ve 
 (c) a solid substance or an insulated conductor 

  Skeâ "esme heoeLe& Ùee efJeÅeglejesOeer Ûeeuekeâ 
 (d) a length of single, insulated conductor (single 

or stranded) of two or more such conductors 

  Fme Øekeâej kesâ oes Ùee DeefOekeâ ÛeeuekeâeW kesâ Skeâue 
efJeÅeglejesOeer Ûeeuekeâ (Skeâue Ùee mš^wC[s[) keâer uecyeeF& 

Ans. (d) : Skeâ kesâyeue ceW Skeâ Ûeeuekeâ Ùee oes mes DeefOekeâ Ûeeuekeâ 
neslee nw, peesefkeâ Skeâ otmejs mes Deeheme ceW efJeÅeglejesefOele DeeJejCe mes {kesâ 
nesles nQ~ Fmekesâ Thej ues[ MeerLe, lelheMÛeeled mšerue šshe Deece&j leLee 
meJexFbie ØeÙeesie neslee nw~ 
134.   Transformer undergo regular maintenance to 

check. 

  š^e@meHeâece&j keâe efveÙeefcele Devegj#eCe ................ peebÛe 
keâjves kesâ efueS efkeâÙee peelee nw? 

 (a) Transformer insulation 

  š^ebmeHeâece&j kesâ efJeÅeglejesOeve keâer 
 (b) Transformer rusting/š^ebmeHeâece&j ceW pebie ueieves keâer 
 (c) Tlectrical current in transformer 

  š^ebmeHeâece&j ceW efJeÅegle Oeeje keâer 
 (d) Transfomer conduction/š^ebmeHeâece&j keâer Ûeeueve  
Ans. (a) : š^ebmeHeâece&j keâe efveÙeefcele Devegj#eCe š^ebmeHeâece&j kesâ 
efJeÅeglejesOeve keâer peeBÛe keâjves kesâ efueS efkeâÙee peelee nw~ š^ebmeHeâece&j keâe 
heefjÛeeueve hejer#eCe (routine test) cegKÙe ™he mes Glheeove ceW 
JÙeefkeäleiele FkeâeF& (individual unit) kesâ heefjÛeeueve ØeoMe&ve 
(operational performance) keâer hegef° keâjves kesâ efueS keâer peeleer 
nw~ Fmekesâ Devleie&le efvecve hejer#eCe keâer peeleer nw– 
(i) kegâC[ueve ØeeflejesOe šsmš, (ii) efJeÅeglejesOeve ØeeflejesOe šsmš  
(iii) OeÇgJelee Ùee Jeskeäšj «eghe šsmš, (iv) GÛÛe Jeesušlee hejer#eCe 
(v) šve& Devegheele Ùee Jeesušspe Devegheele hejer#eCe 
(vi) melelee hejer#eCe (continuity test) 

135.   What is the ingress protection rating of an 

outdoor housing light? 

  Iej kesâ yeenj ueieeF& peeves Jeeueer ueeFš keâer DebleJexMeve 
megj#ee (Fv«esme heesšskeäMeve) jsefšbie keäÙee nesleer nw? 

 (a) IP67 (b) IP65 
 (c) IP55 (d) IP20 

Ans. (b) : Iej kesâ yeenj ueieeF& peeves Jeeueer ueeFš keâer DebleJexMeve 
megj#ee keâer jsefšbie IP65 nesleer nw~ 

 
A X "esme B B Heeveer 

X keâesF& [eše veneR nw~ 1 heeveer keâer yetoeW mes megj#ee 

1 50 mm mes yeÌ[er "esme 
JemlegDeeW keâer megj#ee (neLe) 

2 150 keâesCe hej efiej jns 
heeveer keâer yetboeW mes megj#ee 

2 12mm mes yeÌ[er "esme 
JemlegDeeW keâer megj#ee 
(Gbieueer) 

3 heeveer keâer yeewÚej mes megj#ee 

3 2.5 mm mes yeÌ[er "esme 
JemlegDeeW keâer megj#ee 
(m›etâ[^eFJej) 

5 heeveer keâer pesš mes megj#ee 

4 1mm mes yeÌ[er "esme 
JemlegDeeW keâer megj#ee (leej) 

6 heeveer keâer MeefòeâMeeueer pesš 
mes megj#ee 

5 2 mes 8 Iebšs kesâ efueS Oetue 
keâe peceeJe efpemeceW keâes 
neefvekeâejkeâ keâCe ve nes 

7 heeveer ceW 1 ceeršj lekeâ 
[gyes JemlegDeeW keâer megj#ee 

6 Oegue mes hetCe& megj#ee 8 heeveer ceW 1 ceeršj mes 
pÙeeoe [tyes JemlegDeeW keâer 
megj#ee 

136.   Batteries are usually rated in 

  yewšjer keâer jsefšbie meeceevÙele: keâer peeleer nw? 

 (a)  Watt-hour Jeeš-Iebše ceW  
 (b) Kilo wattefkeâueesJeeš ceW 
 (c) Ampere/sec 

  SefcheÙej/meskeâC[ ceW  
 (d) Ampere- hourSefcheÙej-Iebše ceW 

Ans. (d) : yewšjer keâer jsefšbie meeceevÙele: SefcheÙej IeCše ceW keâer peeleer nw~ 

�  SefcheÙej IeCše o#elee = SefcheÙej IeCše efJemepe&ve
 SefcheÙej IeCše DeeJesMeve

×100 

�  Jeeš IeCše o#elee  

· SefcheÙej IeCše o#elee × ceOÙeceeve efJemepe&ve Jeesušlee
 ceOÙeceeve DeeJesMeve Jeesušlee

×100 
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137.  Dilute sulphuric acid is used as an electrolyte in 

which of the following battery? 

  efvecveefueefKele ceW mes efkeâme yewšjer ceW efJeÅegle-DeheIešŸe kesâ 
™he ceW leveg meuHeäÙetefjkeâ Decue keâe ØeÙeesie efkeâÙee peelee nw? 

 (a) Lithium Cells/ueerefLeÙece mesue  
 (b)  Nickle Cadmium/efveefkeâue kewâ[efceÙece 
 (c) Carbon zine/keâeye&ve efpebkeâ  
 (d)  Lead acid/ues[ Sefme[ 
Ans. (d) : ues[-Sefme[ (Lead Acid) yewšjer efÉleerÙekeâ Øekeâej keâer 
mebÛeeÙekeâ yewšjer nesleer nw~ efpemeceW Oeveelcekeâ huesš kesâ efueS PbO2 (ues[ 
hejekeämeeF[) leLee $e+Ceelcekeâ huesš kesâ efueS Pb (ues[) ØeÙegòeâ neslee nw~ 
Fueskeäš^esueeFš kesâ ™he ceW leveg meuHeäÙegefjkeâ Decue (H2SO4) ØeÙeesie 
efkeâÙee peelee nw~ 
� ues[-Sefme[ yewšjer ceW levegmeuHeäÙetefjkeâ Decue leLee Deemegle peue keâe 
efceßeCe 1 : 3 kesâ ™he ces neslee nw~ 
138.   Which of the following IE rule gives 

importance to restoration of persons suffering 

from electric shock? 

  efvecveefueefKele ceW mes keâewve mee IE efveÙece efyepeueer kesâ 
Peškesâ mes heerefÌ[le ueesieeW kesâ hegvepeeaJeve (yeneueer) keâes 
cenlJe oslee nw? 

 (a)  Cut out Rule 44/keâš DeeGš efveÙece 44  
 (b)  Contactor Rule 6/keâebšskeäšj efveÙece 46 
 (c) Switch Rule 37/efmJeÛe efveÙece 37  
 (d) Energy meter Rule 38/Svepeea ceeršj efveÙece 38 
Ans. (a) : IE (YeejleerÙe efJeÅegle) efveÙeceevegmeej efyepeueer kesâ Peškesâ mes 
heerefÌ[le ueesieeW kesâ hegvepeeaJeve keâes keâš DeeGš efveÙece 44 cenlJe oslee nw~ 
IR Rule 54 declared voltage of supply to the consumer. 

IR Rule 55- declared frequency of the supply to the 

consumer.  
139.   Which of the following is a unit of force? 

  efvecveefueefKele ceW mes keâewve mee yeue keâe cee$ekeâ nw? 
 (a) Ohms/Deesce (b)  Newton/vÙetšve 
 (c) Joule/petue (d) Volt/Jeesuš 
Ans. (b) : yeue keâe cee$ekeâ vÙetšve neslee nw~ 
 yeue · õJÙeceeve × lJejCe 

   
2Kg m

F ma
Sec

= Ùee vÙetšve-  

ØeeflejesOe keâe cee$ekeâ Deesce neslee nw peyeefkeâ Tpee& keâe cee$ekeâ petue neslee nw~ 
140.   A 4-pole, 3- phase IM operates from a supply 

with frequency 50Hz Calculate the speed at 

which the magnetic field of stator rotates. 

  Skeâ 4-heesue, 3-Hesâpe ceesšj 50 Hz DeeJe=efòe keâer efJeÅegle 
Deehetefle& (hee@Jej mehueeF&) hej Ûeueleer nw~ Gme ieefle keâer 
ieCevee keâjW, efpeme hej mšsšj keâe ÛegcyekeâerÙe #es$e Ietcelee nw? 

 (a) 1500 rpm (b) 90 rpm 
 (c) 600 rpm (d) 1440 rpm 

Ans. (a) : efoÙee nw- 
 P = 4 

 f = 50 Hz 

 nue Ns = ? 

 s

120f
N

p
 met$e mes-=  

 s

120 50
N

4

×
=  

 sN 1500rpm=  

141.  Utility pole is a column or post used to support. 

  Ùetefšefuešer heesue efvecveefueefKele ceW mes efkeâmes meneje osves kesâ 
efueS GheÙeesie efkeâÙee peeves Jeeuee KebYee (keâe@uece) Ùee 
heesmš nw? 

 (a) Overhead fibre optic cables 

  efMejesheefj HeâeFyej Dee@efhškeâ kesâyeueeW keâes 
 (b) Overhead street lights 

  efMejesheefj ceeie& ØekeâeMe ueeFšeW keâes 
 (c) Overhead power lines/efMejesheefj efJeÅegle ueeFveeW keâes 
 (d) Overhead power lines, fibre optic cables and 

street lights /efMejesheefj efJeÅegle ueeFveeW, HeâeFyej 
Dee@efhškeâ kesâyeueeW Deewj ceeie& ØekeâeMe ueeFšeW keâes 

Ans. (d) : Ùegefšefuešer heesue efMejesheefj (DeesJens[) efJeÅegle ueeFveeW, 
HeâeFyej Dee@efhškeâ kesâyeueeW Deewj ceeie& ØekeâeMe ueeFšeW keâes meneje osves kesâ 
efueS GheÙeesie efkeâÙee peeves Jeeuee KecYee Ùee heesmš neslee nw~ 
142.  For which of the following reasons are lamps 

bright synchronisation preferred to lamps 
dark? 

  efvecveefueefKele ceW mes efkeâme Jepen mes leguÙekeâeueve keâer yeÇeFš 
ueQhe efJeefOe keâes [eke&â ueQhe efJeefOe hej JejerÙelee oer peeleer nw? 

 (a) Flickering is pronounced 

  efHeäuekeâefjbie meeHeâ oerKelee nw 
 (b) Brightness can be seen easily 

  Ûecekeâ Deemeeveer mes osKeer pee mekeâleer nw 
 (c) Sharper and more accurate synchronisation 

  leer#Ce leLee Skeâoce mešerkeâ leguÙekeâeueve 
 (d) It can be peformed quickly 

  Ùen peuoer mes keâece keâjvee Meg™ keâj mekeâlee nw 
Ans. (c) : leer#Ce leLee Skeâoce mešerkeâ leguÙekeâeueve keâer Jepen mes 
leguÙekeâeueve keâer yeÇeFš uewche efJeefOe keâes [eke&â uewche efJeefOe hej JejerÙelee 
oer peeleer nw~ 
143.  The simplest method of underground cable 

installation is. 

  Yetefceiele leej [eueves keâer meyemes Deemeeve efJeefOe nw? 
 (a)  Direct burial/ØelÙe#e ieÌ[eF& ([eÙejskeäš yÙetefjÙeue) 
 (b)  Horizonatal directional drilling 

  #eweflepe efoMeerÙe ef[^efuebie 
 (c) Semi-direct burial 

  DeØelÙe#e ieÌ[eF& (mesceer[eÙejskeäš yÙetefjÙeue) 
 (d) Pipe jacking/heeFhe pewefkebâie 
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Ans. (a) : Yetefceiele leej [eueves keâer meyemes Deemeeve efJeefOe ØelÙe#e 
ieÌ[eF& ([eÙejskeäš yÙetefjÙeue) neslee nw~ Fme efJeefOe ceW GheÙegkeäle Yetefce ceW 1 

ceeršj ienjer leLee 0.5 ceeršj ÛeewÌ[er KeeF& Keesoer peeleer nw~ KeeF& ceW 5 

mesceer. ceesšer Skeâ jsle keâer hele& efyeÚekeâj Gme hej kesâefyeue efyeÚe efoÙee 
peelee nw~ kesâefyeue kesâ Thej 15 mesceer ceesšer Skeâ jsle keâer hele& efyeÚeF& 
peeleer nw Deewj jsle keâer hele& kesâ Thej FËš keâer Skeâ hele& efyeÚe keâj Mes<e 
KeeF& keâes efcešdšer mes efÛe$eevegmeej Yej efoÙee peelee nw~ 

 
144.  An inverter circuit is used to convert. 

  FvJeš&j heefjheLe keâe GheÙeesie efkeâÙee peelee nw? 
 (a) High frequency to low frequency 

  GÛÛe DeeJe=efòe keâes efvecve DeeJe=efòe ceW yeoueves kesâ efueS 
 (b) A.C. to D.C./A.C. keâes D.C. ceW yeoueves kesâ efueS 
 (c) Low frequency to high frequency 

  efvecve DeeJe=efòe keâes GÛÛe DeeJe=efòe ceW yeoueves kesâ efueS 
 (d) D.C. to A.C./D.C. keâes A.C. ceW yeoueves kesâ efueS 
Ans. (d) : FvJeš&j heefjheLe keâe GheÙeesie DC keâes AC ceW yeoueves kesâ 
efueS efkeâÙee peelee nw~ S.meer. Deehete|le yevo nes peeves keâer efmLeefle ceW 
Deeheelekeâeueerve œeesle kesâ ™he ceW mšesjspe yewšefjÙees keâe ØeÙeesie efkeâÙee 
peelee nw~ yewšefjÙeeW mes Øeehle nesves Jeeueer mehueeF& meeceevÙele: 6, 12 Ùee 
24 V [ermeer nesleer nw~ Fme [er.meer. keâes FvJeš&j Éeje S.meer. ceW 
heefjJee|lele keâj efueÙee peelee nw~ 
145.  In India, household appliances generally 

operate on. 

  Yeejle ceW, Iejsuet GhekeâjCe Deece leewj hej mebÛeeefuele nesles nw? 
 (a) 120 V (b) 110 V 
 (c) 50 V (d) 230 V 
Ans. (d) : Yeejle ceW, Iejsuet GhekeâjCe Deeceleewj hej 230 V AC 

mehueeF& hej mebÛeeefuele nesles nQ~ efpemekeâe ceevekeâ DeeJe=efòe 50Hz ± 3% 

lekeâ neslee nw~ 
146.  The watt- hour efficiency of a lead acid cell 

varies between----and---- . 

  ues[ Sefme[ mesue keâer Jeeš-Iebše o#elee ............ Deewj 
........... kesâ yeerÛe heefjJele&veerÙe nesleer nw? 

 (a) 90³, 95³ (b) 70³, 80 
 (c) 20³, 40³ (d) 40³, 60³ 
Ans. (b) : ues[-Sefme[ mesue keâer Jeeš-IeCše o#elee 70³ Deewj 80³ 
kesâ yeerÛe heefjJele&veerÙe neslee nw~ 
�  ues[ Sefme[ yewšjer keâer SefcheÙej IeCše o#elee 90³ mes 95³ lekeâ 
 nesleer nw~ 

�  SefcheÙej IeCše o#elee = SefcheÙej IeCše efJemepe&ve
 SefcheÙej IeCše DeeJesMeve

×100 

�  Jeeš IeCše o#elee  

· SefcheÙej IeCše o#elee × ceOÙeceeve efJemepe&ve Jeesušlee
 ceOÙeceeve DeeJesMeve Jeesušlee

×100 

147.  Group of four bits is called as. 

  Ûeej efyeš kesâ mecetn keâes keâne peelee nw? 
 (a) Bit/efyeš (b) Nibble/efveyeue 
 (c) Binary/yeeFvejer (d) Byte/yeeFš 
Ans. (b) : Ûeej efyeš kesâ mecetn keâes efveyeue keâne peelee nw~ 
� Dee" efyeš kesâ mecetn keâes Skeâ yeeFš keâne peelee nw~ 
� 1024 yeeFš · 1 K yeeFš 
� 1024×1024 yeeFš · 1 MB 

� 1024 MB · 1 GB 
148.   How much power does an ordinary mixer 

draw? 

  meeOeejCe efcekeämej efkeâleveer efJeÅegle Meefòeâ ueslee nw? 
 (a) 2000Watts/2000 Jeeš 
 (b) 400Watts/400 Jeeš 
 (c) 100Watts/100 Jeeš  
 (d) 5000Watts/5000 Jeeš 
Ans. (b) : meeOeejCe efcekeämej 400 Jeeš keâer efJeÅegle Meefòeâ Kehele 
keâjlee nw~ 
� efcekeämej ceW ÙegefveJeme&ue ceesšj ØeÙeesie nesleer nw~ 
� ÙegefveJeme&ue ceesšj S.meer. meerjerpe ceesšj keâe ner Skeâ efJekeâefmele ™he nw~  
� Fme ceesšj keâe GheÙeesie GÛÛe yeueeIetCe& kesâ ueIeg keâeÙeex ceW neslee nw~ 
� ÙetefveJeme&ue ceesšj keâe DevegØeÙeesie megJee¢e Deewpeejes, megyee¢e yejcee, 
ie=n Øe#eshekeâ, efmeueeF& keâer ceMeerve hetâ[ efcekeämej, nsÙej [^eÙeme&, ueIeg 
hebKes Deeefo ceW   
149.  What is ward-leonard control? 

  Jee[&-efueÙeesvee[& efveÙeb$eCe keäÙee nw? 
 (a) Voltage control method/Jeesušspe efveÙeb$eCe efJeefOe 
 (b)  Field control method /#es$e efveÙeb$eCe efJeefOe 
 (c)  Field diverter method/Heâeru[ [eFJeš&j efJeefOe 
 (d) Armature resistance control method 

  DeecexÛej ØeeflejesOe efveÙeb$eCe efJeefOe 
Ans. (a) : Jee[& efueÙeesvee[& efveÙeb$eCe Skeâ Jeesušspe efveÙeb$ekeâ efJeefOe 
nesleer nQ~ Fmekesâ Éeje D.C Shunt ceesšj keâer ieefle keâes efveÙebef$ele keâjles 
nQ~ FmeceW Skeâ ceesšj-pevejsšj mesš keâe GheÙeesie keâjles nQ~ 

 
■ Fme efveÙeb$eCe Éeje ceesšj keâer oesveeW efoMeeDees ceW MetvÙe mes hetCe& ieefle 

lekeâ DeÛÚer ieefle efveÙeb$eCe Øeehle efkeâÙee pee mekeâlee nw~  
■ Fme kebâš^esue efJeefOe Éeje meceeve Jesie Je=efæ Øeehle keâer pee mekeâleer nw~  
■ Ùen efJeefOe yengle KeÛeeaueer nesleer nw~ 
■ Meefòeâ neefve DeefOekeâ nesleer nw~ 
■ Ùen [^eFJe GÛÛe OJeefve GlheVe keâjlee nw~  
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150.  When electric current passes through a 

conducting solution, there is a change in colour 

of the solution. What does it indicate? 

  peye efkeâmeer ÛeeuekeâerÙe efJeueÙeve mes efJeÅegle Oeeje ØeJeeefnle 
nesleer nw, lees efJeueÙeve kesâ jbie ceW heefjJele&ve neslee nw~ Ùen 
keäÙee oMee&lee nw? 

 (a) Heating effect of current/Oeeje keâe T<ceerÙe ØeYeeJe 
 (b) Chemical effect of current 

  Oeeje keâe jemeeÙeefvekeâ ØeYeeJe 
 (c) Magnetic effect of current 

  Oeeje keâe ÛegbyekeâerÙe ØeYeeJe 
 (d) Lighting effect of current 

  Oeeje keâe ØekeâeMeerÙe ØeYeeJe 

Ans. (b) : eqkeâmeer ÛeeuekeâerÙe efJeueÙeve mes efJeÅegle Oeeje ØeJeeefnle nesleer 
nw, lees efJeueÙeve kesâ jbie ceW heefjJele&ve Oeeje keâe jemeeÙeefvekeâ ØeYeeJe mes 
neslee nw~ 
151.  A current of 10A flows through a resistance of 

10Ω. The heat produced is. 

  10 A keâer Oeeje keâes 10 Ω kesâ ØeeflejesOe mes ØeJeeefnle efkeâÙee 
peelee nw~ GlheVe T<cee efkeâleveer nesieer? 

 (a) 10 W (b) 10000 W 
 (c) 100 W (d) 1000 W 
Ans. (d) : efoÙee nw- I = 10 A,  R = 10 Ω 

2P I R=  met$e mes 

 P = (10)2×10 

 P 1000 Watt=  

152.  How is heat distributed to the base plate of  an 

electric iron? 

  Skeâ efJeÅegleÛeefuele Fmlejer (Fuesefkeäš^keâ DeeÙejve) keâer yesme 
huesš (leueer) ceW G<cee efkeâme Øekeâej efJeleefjle keâer peeleer nw? 

 (a) Through circulation/heefjmebÛejCe kesâ ceeOÙece mes 
 (b) Through conduction/Ûeeueve kesâ ceeOÙece mes 
 (c) Through convection/mebJenve kesâ ceeOÙece mes 
 (d) Through radiation/efJeefkeâjCe kesâ ceeOÙece mes 

Ans. (b) : Skeâ efJeÅegleÛeefuele Fmlejer (Fuesefkeäš^keâ DeeÙejve) keâer yesme 
huesš ceW T<cee Ûeeueve kesâ ceeOÙece mes efJeleefjle nesleer nw~ 
� mebJenve efJeefOe mes T<cee keâe efJelejCe õJe ceW neslee nw~ 
� efJeefkeâjCe efJeefOe ceW ceeOÙece nerš ngS efyevee Jemleg iece& nes peeleer nw~ 
153.  Auto transformer consists of. 

  mJe-heefjCeeefce$e (Dee@šesš^ebmeHeâece&j) ceW nesleer nw? 
 (a) Two winding/oes JeeFbef[bie  
 (b) Three winding/leerve JeeFbef[bie 
 (c) One winding/Skeâ JeeFbef[bie  
 (d)  Four winding/Ûeej JeeFbef[bie 

Ans. (c) : mJe-heefjCeeefce$e (Dee@šes-š̂ebmeHeâece&j) ceW Skeâ JeeFbef[bie nesleer nw~ 
� Dee@šes-š^ebmeHeâece&j keâe ØeÙeesie ØesjCe ceesšj mšeš& keâjves kesâ efueS Yeer 
ØeÙegòeâ efkeâÙee peelee nw~ 
� Dee@šes-š^ebmeHeâece&j mes Deemeeveer mes Jeesušspe keâe efveÙeb$eCe efkeâÙee pee 
mekeâlee nw~ 
Deešes- š^e@meheâece&j keâe oes kegâC[ueve š^e@meheâece&j keâer Dehes#e ueeYe~ 
1. Fmekeâer  mechetCe& mebjÛevee Deefle mejue nesleer nw~ 
2. FmeceW Jeesušlee heefjJele&ve keâe hejeme efJemle=le neslee nw~ 
3. FmeceW ueewn ›eâes[ (Iron core) keâer cee$ee  keâce ueieleer nw~ 
4. Ùen Deekeâej (size) ceW ueIeg neslee nw~   
154.  Armature reaction of an unsaturated DC 

machine results in----- effect. 

  Demeble=hle DC ceMeerve keâer DeecexÛej Øeefleef›eâÙee kesâ 
heefjCeecemJe™he ............... ØeYeeJe GlheVe neslee nw? 

 (a) Demagnetising/efJeÛegcyekeâve  
 (b) Axial magnetising/De#eerÙe Ûegcyekeâve  
 (c) Cross-Magnetising/Øeefle-Ûegcyekeâve 
 (d) Two-pole magnetising /odefJe-OeÇgJeer Ûegcyekeâve  
Ans. (c) : Demeble=hle DC ceMeerve keâer DeecexÛej Øeefleef›eâÙee kesâ 
heefjCeecemJe™he Øeefle- Ûegcyekeâve (›eâe@me-cewivesšeFefpebie) ØeYeeJe GlheVe 
neslee nw~ Ssmeer Øeef›eâÙee efpemekesâ heefjCeece mJe™he cegKÙe Heäuekeäme ØeYeeefJele 
neslee nw~ DeecexÛej Øeefleef›eâÙee keânueelee nw DeecexÛej Øeefleef›eâÙee oes Øekeâej 
keâer nesleer nw~ 
1. efJeÛegcyekeâve DeecexÛej Øeefleef›eâÙee (Demagnetising armature  

reaction) 

2. ›eâe@me Ûegcyekeâve DeecexÛej Øeefleef›eâÙee (Cross magnetising 

armature  reaction) 

155.   Battery balancing circuit enhances. 

  yewšjer meblegueve heefjheLe ............ ceW Je=efæ keâjlee nw? 
 (a) Temperature/leeheceeve  
 (b)  Life of battery/yewšjer kesâ peerJevekeâeue 
 (c) Pressure/oeye  
 (d)  Concentration/meebõlee 
Ans. (b) : yewšjer meblegueve heefjheLe (yewšjer Jewuesefmebie meefke&âš) mes yewšjer 
kesâ peerJevekeâeue ceW Je=efæ nesleer nw~ 
156.  The gel used in breather of the transformer is. 

  š^ebmeHeâece&j kesâ yeÇeroj kesâ ØeÙegòeâ pesue neslee nw? 
 (a) Formica gel/Heâe@efce&keâe pesue  
 (b) Mica gel/ceeFkeâe pesue 
 (c) Silicon gel/efmeefuekeâe@ve pesue  
 (d) Silica gel/efmeefuekeâe pesue 
Ans. (d) : š^ebmeHeâece&j kesâ yeÇeroj ceW ØeÙegòeâ pesue efmeefuekeâe pesue 
neslee nw~ 
� yeÇeroj kesâ Éeje š^ebmeheâece&j ceW hengBÛeves Jeeueer JeeÙeg keâer Deeõ&lee meesKe 
ueer peeleer nw~ 
� Megæ efmeefuekeâe pesue keâe jbie veeruee leLee Deeõ&lee Meesef<ele (Kejeye) 
pesue keâe jbie iegueeyeer neslee nw~ 
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157.  The  performance of two value capacitor run 
motor is characterized by  

  št-JewuÙet kewâhesefmešj-jve ceesšj kesâ ØeoMe&ve keâes ............... 
Jeieeake=âle efkeâÙee peelee nw? 

 (a) Instant reversibility 

  lJeefjle efJeheÙe&Ùe (efjJeme&ue) keâer DeeJeMÙekeâlee Éeje 
 (b) Its requirement of low starting torques 

  Fmekeâer efvecve ØeJele&ve DeeIetCeeX keâer DeeJeMÙekeâlee Éeje 
 (c) Its ability to start heavy loads 

  Fmekeâer Yeejer uees[ keâes mšeš& keâjves keâer #ecelee Éeje 
 (d) Controllable motor speed 

  ceesšj keâer efveÙebef$ele ieefle Éeje 
Ans. (c) : št-JewuÙet kewâhesefmešj-jve ceesšj kesâ ØeoMe&ve keâes Yeejer uees[ 
keâes mšeš& keâjves keâer #ecelee Éeje Jeieeake=âle efkeâÙee peelee nw~ 
� oes mebOeeefj$e ceW Skeâ mebOeeefj$e mšee\šie ceW ØeÙegòeâ nesves Jeeuee 
Fueskeäš^esueeFefškeâ šeFhe neslee nw~ 
� jeEveie ceW ØeÙegkeäle nesves Jeeuee mebOeeefj$e heshej Ùee Dee@Ùeue šeFhe keâe 
neslee nw~  
158.  Which primary cell has the longest life? 

  efvecveefueefKele ceW mes efkeâme ØeeLeefcekeâ mesue keâer GheÙeesie 
DeJeefOe meJee&efOekeâ nesleer nw? 

 (a)  Lithium cell/ueerefLeÙece mesue  
 (b)  Alkaline cell/SukeâueeFve mesue 
 (c)  Mercury cell/cejkeâjer mesue  
 (d)  Carbon zine cell/keâeye&ve efpebkeâ mesue 
Ans. (a) : ueerefLeÙece mesue keâer GheÙeesie DeJeefOe ØeeLeefcekeâ mesueeW ceW 
meJee&efOekeâ nesleer nw~ ueerefLeÙece mesue keâer efveOee&efjle Jeesušlee ueieYeie 
2.95 Jeesuš nesleer nw~ Fmekeâer mesuheâ ueeFheâ 10 Je<e& lekeâ nesleer nw~ 
159.  The heating element in a toaster is made of----- 

wire./Skeâ šesmšj keâe leeheve SueerceWš ............ kesâ leej mes 
yevee neslee nw? 

 (a) cupronickel/leeceü efvekeâue (kegâØeesefvekeâue) 
 (b) Nichrome/veeF›eâesce 
 (c) nickel/efveefkeâue  
 (d) Kanthal/kebâLeeue 
Ans. (b) : Skeâ šesmšj keâe leeheve SueerceWš veeF›eâesce leej keâe yevee 
neslee nw~ 
� veeF›eâesce ceW efveefkeâue (Ni) leLee ›eâesefceÙece (Cr) keâe efceßeCe neslee nw~ 
� veeF›eâesce keâes JewÅegle neršj ceW leeheve Sueercesvš kesâ ™he ceW Yeer 
GheÙeesie keâjles nQ~ 
160.  Identify the transformer winding conversion 

used for consumer distribution from the given 
options. 

  efoS ieS efJekeâuheeW ceW mes GheYeesòeâe efJelejCe kesâ efueS 
ØeÙegòeâ š^ebmeHeâece&j kegbâ[ueve (JeeFbef[bie) heefjJele&ve keâer 
henÛeeve keâerefpeÙes? 

 (a) Star to Star/mšej mes mšej  
 (b) Delta to Star/[suše mes mšej 
 (c) Star to Delta/mšej mes [suše  
 (d) Delta to Delta/[suše mes [suše 

Ans. (b) : GheYeesòeâe efJelejCe kesâ efueS ØeÙegòeâ š^ebmeHeâece&j JeeFbef[bie 
[suše (∆) mes mšej (Y) neslee nw, keäÙeeWefkeâ IejeW kesâ ueeFve ces Skeâ 
Hesâpe leLee Skeâ vÙetš^ue keâer DeeJeMÙekeâlee nesleer nw~ 
� vÙetš^ue efyevog kesâJeue mšej mebÙeespeve JeeFbef[bie mes ner Øeehle neslee nw~ 
161.  A 10 ohm resistor is connected across a 100V 

DC source. The value of current flowing 
through the circuit is. 

  Skeâ 10 Deesce kesâ ØeeflejesOe keâes Skeâ 100 V DC œeesle mes 
peesÌ[e ieÙee nw~ Fme heefjheLe ceW ØeJeeefnle nesves Jeeueer Oeeje 
keâe ceeve nesiee? 

 (a) 100 A (b) 100 A 
 (c) 10 A (d) 1 A 
Ans. (c) : efoÙee nw- R = 10 Ω, E = 100 Volt, I = ? 

  

 V 100
I 10A

R 10
= = =  

162.  Which one of the following is an insulator? 

  efvecveefueefKele ceW mes keâewve mee efJeÅeglejesOekeâ nw? 
 (a)  Iron/ueesne (b) Silver/ÛeeBoer 
 (c) Copper/leeByee (d) Plastic/hueeefmškeâ 
Ans. (d) : hueeefmškeâ efJeÅeglejesOekeâ heoeLe& neslee nw~ 
� Ssmee heoeLe& efpememes Oeeje keâe ØeJeen Deemeeveer kesâ meeLe nes peelee nw 
Ûeeuekeâ (conductors) keânueelee nw~ 
� Ssmee heoeLe& efpemeceW Oeeje keâe ØeJeen Ûeeuekeâ mes keâce leLee DeeÛeeuekeâ 
mes DeefOekeâ neslee nw, DeOe&Ûeeuekeâ keânueelee nw~ 
� Ssmee heoeLe& efpememes Oeeje keâes ØeJeen vener neslee nw efJeÅeglejesOekeâ Ùee 
(DeÛeeuekeâ) keânueelee nw~ 
163.  The power consumed for balance load in star 

and delta connection is. 

  mšej Deewj [suše mebÙeespeve ceW meblegefuele Yeej (uees[) kesâ 
efueS JÙeÙe efJeÅegle Meefòeâ efkeâleveer nesleer nw? 

 (a) √3VLIL sin θ (b) 3 VPIP cos θ 
 (c) √3VLIL cos θ (d) 3VLIL cos θ 
Ans. (c) : mšej Deewj [suše mebÙeespeve ceW meblegefuele Yeej (uees[) kesâ 

efueS JÙeÙe efJeÅegle Meefòeâ L LP 3V I cos= θ  nesleer nw~ 

peneB- 
 VL = ueeFve Jeesušspe 
 IL = ueeFve Oeeje 
 cosθ  = Meefòeâ iegCekeâ 
� [suše mebÙeespeve ceW ueer ieF& Oeeje Deewj Meefòeâ šej mebÙeespeve kesâ leerve 

iegvee nesleer nw~ 
� [suše mebÙeespeve ceW Ùeefo Skeâ ØeeflejesOe nše oer peeÙes lees Meefòeâ 

GheÙeesie 1/3rd  nes peeleer nw~ 
� mšej mebÙeespeve ceW Ùeefo Skeâ ØeeflejesOe nše oer peeÙes lees Meefòeâ 

GheYeesie DeeOee nes peelee nw~ 
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164.  For speed control of a DC motor, which 

technique provides speed above base speed? 

  efo° Oeeje (DC) ceesšj kesâ ieefle efveÙeb$eCe kesâ efueS keâewve 
meer lekeâveerkeâ meeceevÙe ieefle ceW DeefOekeâ ieefle Øeoeve keâjleer nw? 

 (a) Armature resistance control method 

  DeecexÛej ØeeflejesOe efveÙeb$eCe efJeefOe 
 (b) Supply voltage control method 

  Deehetefle& Jeesušspe efveÙeb$eCe efJeefOe 
 (c)  Field control method/#es$e efveÙeb$eCe  efJeefOe 
 (d)  Supply current control method 

  Deehetefle& Oeeje efveÙeb$eCe efJeefOe 
Ans. (c) : efo° Oeeje (DC) ceesšj kesâ ieefle efveÙeb$eCe kesâ efueS #es$e 
efveÙeb$eCe (Heâeru[ keâvš^esue) efJeefOe mes meeceevÙe ieefle mes DeefOekeâ ieefle 
Øeehle keâer pee mekeâleer nQ~  
Fme efJeefOe ceW Heâeru[ JeeFbeE[ie kesâ ßesCeer ›eâce ceW Skeâ heefjJeleea ØeeflejesOekeâ 
mebÙeesefpele efkeâÙee peelee nw~ Heâeru[ JeeFbeE[ie heefjheLe kesâ ØeeflejesOe keâes 
heefjJee|lele keâjkesâ DeecexÛej keâer efJeefYevve ieefleÙeeB Øeehle keâer peeleer nw~ 
keäÙeeWefkeâ– 

 bE
N ∝

φ
 

Ghejeskeäle mecyevOe mes mhe° nw efkeâ Heâeru[ heefjheLe keâe ØeeflejesOe yeÌ{ves mes 
Heâeru[ Oeeje Heâuele: Heäuekeäme kesâ ceeve Iešves mes ieefle yeÌ{ peeleer nw~ 
Dele: mhe° nw efkeâ Heâeru[ efveÙeb$eCe efJeefOe Éeje ceesšj keâer ieefle meeceevÙe 
ieefle mes DeefOekeâ ner Øeehle keâer pee mekeâleer nw~ 
165.  The function of capacitor in single phase 

induction motor is to  

  Skeâue-Hesâpe ØesjCe ceesšj (efmebieue Hesâpe Fb[keäMeve ceesšj) 
ceW mebOeeefj$e (kewâhesefmešj) keâe keâeÙe& nw? 

 (a) Reduce the noise/Meesj keâes keâce keâjvee 
 (b) Control the slip/efmuehe keâes efveÙebef$ele keâjvee 
 (c) Increase efficiency/o#elee yeÌ{evee 
 (d)  Provide high starting torque 

  GÛÛe ØeJele&ve DeeIetCe& (mšeefšËie še@ke&â) Øeoeve keâjvee 
Ans. (d) : Skeâue Hesâpe ØesjCe ceesšj (efmebieue Hesâpe Fb[keäMeve ceesšj) 
ceW mebOeeefj$e keâe keâeÙe& GÛÛe mšeefšËie yeueeIetCe& keâes Øeehle keâjvee neslee nw~ 
Skeâue keâuee ØesjCe ceesšj ceW mšeefšËie mebOeeefj$e GÛÛe ØeJele&ve DeeIetCe& kesâ 
efueS leLee jefvebie mebOeeefj$e GÛÛe jefvebie DeeIetCe& kesâ efueÙes ØeÙeesie keâjles nw~ 
166.  Overspeed protection of the diesel generater is 

done by : 

  [erpeue pevejsšj keâer DeesJejmheer[ mes megj#ee efkeâmekesâ Éeje 
keâer peeleer nw? 

 (a)  Alarm/Deueece&  
 (b)  Differential relay/efJeYesokeâ efjues 
 (c)  Over current relay/Deefle Oeeje efjues  
 (d)  Governor/ieJeve&j 

Ans. (d) : [erpeue pevejsšj keâer DeesJejmheer[ ieJe&vej mes megj#ee keâer 
peeleer nw~ 
� ieJe&vej ieefle keâes efveÙeb$eCe keâjves keâe keâeÙe& keâjlee nw~ 
167.  Transistor works as an amplifier in 

š^ebefpemšj....................ceW SchueerHeâeÙej kesâ ™he ceW keâeÙe& 
keâjlee nw? 

 (a) Cutoff regionkeâšDee@Heâ #es$e 
 (b) Active regionmeef›eâÙe (SefkeäšJe) #es$e 
 (c) saturation regionmeble=efhle (mewÛegjsMeve) #es$e 
 (d)  Depletion regionDeJe#eÙe (ef[hueerMeve) #es$e 
Ans. (b) : š^ebefpemšj meef›eâÙe (Active) #es$e ceW SchueerHeâeÙej kesâ ™he 
ceW keâeÙe& keâjlee nw~ 
š^ebefpemšj keâe efJeefYevve Øekeâej mes ØeÛeeueve cees[– 

Sceeršj pebkeäMeve keâueskeäšj 
pebkeäMeve 

ØeÛeeueve 
cees[ 

GheÙeesie 

Heâe@jJe[& yee@Ùeme efjJeme& yee@Ùeme meef›eâÙe  SchueerHeâeÙej ceW 
Heâe@jJe[& yee@Ùeme Heâe@jJe[& yee@Ùeme mesÛegjsMeve yevo efmJeÛe 
efjJeme& yee@Ùeme efjJeme& yee@Ùeme keâš Dee@Heâ Keguee efmJeÛe 
efjJeme& yee@Ùeme Heâe@jJe[& yee@Ùeme FveJeme& 

SsefkeäšJe 
efvecve iesve 
SchueerHeâeÙej ceW 

168.  The purposes of a shunt in an ammeter is to. 

  Deceeršj ceW Mebš keâe keâeÙe& .................. nw? 
 (a)  Bypass the current/Oeeje keâes yeeF&heeme keâjvee 
 (b) Increase the sensitivity of the ammeter 

  Deceeršj keâer mebJesoveMeeruelee keâes yeÌ{evee 
 (c)  Increase the resistance of the Ammeter 

  Deceeršj kesâ ØeeflejesOe keâes yeÌ{evee 
 (d)  Decrease the sensitivity of the Ammeter 

  Deceeršj keâer mebJesoveMeeruelee keâes Ieševee 
Ans. (a) : Deceeršj ceW Mebš keâe keâeÙe& Oeeje keâe yeeF&heeme keâjvee neslee nw~ 
� Deceeršj Oeeje ceeheves keâe keâeÙe& keâjlee nw~ Fmes heefjheLe kesâ ßesCeer ›eâce 
ceW mebÙeesefpele efkeâÙee peelee nw~ 
� Deceeršj keâe ØeeflejesOe efvecve neslee nw~ 
169.  A spelter used in brazing is commonly made of. 

  yeÇsefpebie ceW ØeÙegòeâ mhesušj meeceevÙele: ............... keâe yevee 
neslee nw? 

 (a) Copper base and silver alloy 

  keâe@hej yesme Deewj ÛeeBoer keâer efceßeOeeleg 
 (b)  rosing Iron base and lead alloy 
  jesefmeve DeeÙejve yesme Deewj ues[ keâer efceßeOeeleg 
 (c)  Lead sulphide/ues[ meuHeâeF[ 
 (d)  Zine chloride/efpebkeâ keäueesjeF[ 
Ans. (a) : yeÇsefpebie ceW ØeÙegòeâ mhesušj meeceevÙele: keâe@hej yesme Deewj 
ÛeeBoer keâer efceßeOeeleg keâe yevee neslee nw~ 
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170.  The grounding to any device will provide. 

  efkeâmeer Yeer GhekeâjCe keâe Yet-mecheke&âve Øeoeve keâjsiee? 
 (a) The highest resistance path possible to the 

ground/Yet-mecheke&âve kesâ efueS mebYeJe DeefOekeâlece ØeeflejesOe 
heLe 

 (b) Only positive and negative sequence current 

path/kesâJeue Oeveelcekeâ Deewj $e+Ceelcekeâ Deveg›eâce Oeeje heLe 
 (c) Positive, negative and zero sequence current 

path/Oeveelcekeâ, $e+Ceelcekeâ SJeb MetvÙe Deveg›eâce Oeeje heLe 
 (d) The lowest resistance path possible to the 

ground/Yet-mecheke&âve kesâ efueS mebYeJe vÙetvelece ØeeflejesOe 
heLe 

Ans. (d) : efkeâmeer Yeer GhekeâjCe keâe Yet-mecheke&âve, Yetefce kesâ efueS mebYeJe 
vÙetvelece ØeeflejesOe heLe Øeoeve keâjvee neslee nw~ keäÙeeWefkeâ Ùeefo efkeâmeer Yeer 
GhekeâjCe ceW Øeoes<e keâer efmLeefle GlheVe nes lees Glhevve Øeoes<e Oeeje (If) 

Yet-mecheke&â mes Yetefce ceW Ûeueer peeS Deewj GhekeâjCe megjef#ele nes peeS~ 

Fault

1
I

Z
↑ ×

↓
 

171.  During installation of a generator, one must 

carefully ensure that the generation terminals 

and all control wiring are correct so that the 

order of------ matches the system. 

  pevejsšj kesâ FbmšeuesMeve kesâ oewjeve, Ùen meeJeOeeveerhetJe&keâ 
megefveefMÛele efkeâÙee peevee ÛeeefnS efkeâ pevejsšj kesâ šefce&veue 
Deewj meYeer efveÙeb$eCe JeeÙeefjbie mener neW, leeefkeâ .............. 
keâe ›eâce ØeCeeueer kesâ meeLe cesue Keelee nes? 

 (a) Power sequence/Meefòeâ Deveg›eâce  
 (b)  Phases  sequence/Hesâpe Deveg›eâce 
 (c)  Amplitude sequence/DeeÙeece Deveg›eâce  
 (d)  frequency sequence/DeeJe=efòe Deveg›eâce 
Ans. (b) : pevejsšj kesâ FbmšeuesMeve kesâ oewjeve, Ùen meeJeOeeveerhetJe&keâ 
megefveefMÛele efkeâÙee peevee ÛeeefnS efkeâ pevejsšj kesâ šefce&veue Deewj meYeer 
efveÙeb$eCe JeeÙeefjbie mener neW, leeefkeâ Hesâpe Deveg›eâce (Phase sequence) 

keâe ›eâce ØeCeeueer kesâ meeLe cesue Keelee nes~ 
172.  The colour emitted by a sodium vapour lamp is 

meesef[Ùece Jee<he (meesef[Ùece Jeshej) ueQhe Éeje Glmeefpe&le 
ØekeâeMe keâe jbie neslee nw? 

 (a)  Red/ueeue  
 (b)  Yellow/heeruee 
 (c)  White/meHesâo  
 (d)  Bluish white/veeruee meHesâo 
Ans. (b) : meesef[Ùece Jee<he (meesef[Ùece Jeshej) uewche Éeje Glmeefpe&le 
ØekeâeMe keâe jbie heeruee neslee nw~ 
� meesef[Ùece uewche Skeâ ceesvees›eâescesefškeâ uewche neslee nw~ 
� mšeefšËie ceW meesef[Ùece Jee<he uewche keâe jbie iegueeyeer (Pink) neslee nw~ 
� meesef[Ùece Jee<he uewche 45, 60, 85 SJeb 140 Jeeš kesâ yeveeS peeles nw~ 

� meesef[Ùece Jee<he uewche 40 mes 50 uÙetcesve ØeefleJeeš lekeâ ØekeâeMe 
Glhevve keâjles nw~ 

� Fme uewche keâer keâeÙe&keâejer DeeÙeg 3000 IeCšs nesleer nw~ 
� Fme uewche keâe GheÙeesie meÌ[keâes keâer ØekeâeMe JÙeJemLee (street 

lighting) leLee DeewÅeesefiekeâ Øeefle‰eveeW ceW efkeâÙee peelee nw~ 
173.  If operating current is between 10A to 100A. 

Which device will be used for breaking the 

circuit safely? 

  Ùeefo ØeÛeeueve Oeeje 10A mes 100A kesâ yeerÛe nw, lees 
heefjheLe keâes megjef#ele {bie mes yeÇskeâ keâjves kesâ efueS efkeâme 
GhekeâjCe keâe ØeÙeesie efkeâÙee peeSiee? 

 (a) MCB /Sce.meer.yeer.  
 (b) MCCB/Sce.meer.meer.yeer. 
 (c) Bare Aluminum Wire/SuÙetefceefveÙece kesâ Kegues leej 
 (d) Bare Copper Wire/leebyes kesâ vebies leej 
Ans. (b) : Ùeefo ØeÛeeueve Oeeje 10A mes 100A kesâ yeerÛe nw lees 
heefjheLe keâes megjef#ele {bie mes yeÇskeâ keâjves nsleg MCCB (molded case 

circuit breaker) GhekeâjCe ØeÙeesie efkeâÙee peelee nw~ 
174.  In a DC generator the number of poles and the 

number of armature conductors are fixed. 

Which of the following winding will give a 

higher EMF? 

  DC pevejsšj ceW, OeÇgJeeW keâer mebKÙee Deewj DeecexÛej ÛeeuekeâeW 
keâer mebKÙee efveÙele nesleer nw~ efvecveefueefKele ceW mes keâewve meer 
kegbâ[ueer Dehes#eeke=âle GÛÛe efJeÅegle Jeenkeâ yeue (EMF) 

Øeoeve keâjsieer? 
 (a) Lap winding/uewhe kegbâ[ueer 
 (b)  Depends on other feature of design 

  ef[]peeFve keâer DevÙe efJeMes<eleeDeeW hej efveYe&j keâjlee nw 
 (c) Wave winding/lejbie kegbâ[ueve 
 (d)  Field winding/#es$e kegbâ[ueve  
Ans. (c) : DC pevejsšj ceW, OeÇgJeeW keâer mebKÙee (P) Deewj DeecexÛej 
ÛeeuekeâeW keâer mebKÙee (Z)  efveÙele nes lees- 
1.  JesJe (wave winding) JeeFbef[bie mes GÛÛe efJe0Jee0 yeue 

(EMF) leLee efvecve Oeeje Øeehle neslee nw~ (A = 2) 

2.  uewhe JeeFbef[bie (lap winding) ceW GÛÛe Oeeje leLee efvecve Jeesušspe 
Øeehle neslee nw~ (A = P) 

175.  The colour of earth wire recommended for 

earth connections as per ISI code Is. 

  ISI keâes[ kesâ Devegmeej Yet-mecheke&âve mebÙeespeve kesâ efueS 
ØeÙegòeâ leej keâe DevegMebefmele jbie nw? 

 (a) Blue/veeruee (b)  Black/keâeuee 
 (c) Red/ueeue (d) Green/nje 
Ans. (d) : ISI (YeejleerÙe ceevekeâ mebmLeeve) keâes[ kesâ Devegmeej Yet-
mecheke&âve mebÙeespeve kesâ efueS ØeÙegòeâ leej keâe DevegMebefmele jbie nje 
(Green) neslee nw~ 
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Exam Date: 23.01.2019]  [Timing: 12:30 to 3:00 PM 

PART-A : NON-TECHNICAL 

1. If a
2
–b

2
=53 and ab=14, then find thevalue of 

a+b. /Ùeefo a
2
–b

2
=53 Deewj ab = 14 lees a+b keâe ceeve 

%eele keâerefpeS~   

 (a) 5 (b) 9 
 (c) 12 (d) 15 

Ans : (b) Ùeefo 2 2a b 53,+ =  ab = 14  

leye→ (a+b) = ? 

∵ ( )2 2 2a b a b 2ab+ = + +  

  = 53+14 

 ( )a b 81+ =   

  = 9 
2. What is the angle between the hour hand and 

the minute hand of a clock at quarter past 

three?/meJee leerve yepes IeÌ[er kesâ Iebšs keâer megF& Deewj 

efceveš keâer megF& kesâ yeerÛe keâe keâesCe efkeâlevee neslee nw?  

 (a) 7.5o (b) 8.5o 
 (c) 6.5o (d) 9.5o 

Ans : (a)  met$e-  

 eqceveš 
2

11
= (30× IeCše + θ) mes  

 [ ]2
15 30 3

11
= × + θ  

 
15 11

90
2

×
= + θ  

⇒ 
15 11

90
2

×
θ = −  

 
165

90
2

= −  

 
15

2
= = 7.50 

3. Which of the following classes of chemicals can 

damage the ozone layer? 

efvecveefueefKele ceW mes efkeâme Jeie& kesâ jmeeÙeve Deespeesve hejle 

keâes vegkeâmeeve hengbÛee mekeâles nQ? 

 (a) Antimicrobials/met#cepeerJeerjesOeer  
 (b) Aromatic compounds/Sjescewefškeâ Ùeewefiekeâ 
 (c) Phenols/efheâveeFue   
 (d) Chlorofluorocarbons/keäueesjesheäueesjeskeâeye&ve  

Ans : (d) keäueesjesHeäueesjeW keâeye&ve Deespeesve hejle kesâ #eÙe kesâ efueS 
GòejoeÙeer nw~ Deespeesve hejle JeeÙegceb[ue keâer Skeâ heleueer hejle nw, pees 
meceleehe ceb[ue hej jnleer nw~ Deespeesve iewme hejeyeQieveer efkeâjCeeW mes 
yeÛeeleer nw~    

4. ........ is India's sole National Issuing& 

Guarantee in Association for ATA carnets (also 

known as Passport for Goods'). 
 ––––– Yeejle keâe Skeâ cee$e je<š^erÙe peejerkeâlee& nw Deewj 

SšerS keâejvesš kesâ menÙeesie mes ieejbšer oslee nw (JemlegDeeW kesâ 

heemeheesš& kesâ efueS Yeer peevee peelee nw~)  
 (a) Federation of Indian Chambers of Commerce 

& Industry /YeejleerÙe JeeefCepÙe SJeb GÅeesie cenemebIe  
 (b) Confederation of Indian Industry 
  YeejleerÙe GÅeesie heefjmebIe   
 (c) All India Management Association 
  DeefKeue YeejleerÙe ØeyebOeve mebIe 
 (d) International Resources for Fairer Trade 
  FbšjvesMeveue efjmeesmexpe Heâe@j HesâÙejj š^s[ 

Ans : (a) YeejleerÙe JeeefCepÙe SJeb GÅeesie cenemebIe (efHeâkeäkeâer), Yeejle 
ceW JÙeeheeefjkeâ mebie"veeW keâe mebIe nw~ Ùen Yeejle keâe je<š^erÙe mebmLeeve nw 
pees efkeâ Deblejje<š^erÙe Megukeâ omleeJespe (SšerS keâejvesš) keâes peejerkeâlee& 
nw leLee menÙeesie keâer ieejCšer oslee nw~ Fmes JemlegDeeW kesâ heemeheesš& kesâ 
™he ceW Yeer peevee peelee nw~  

5. A .......... diagram is a schematic drawing that 

shows the relationships in a system, using 

simple shapes for the entities. 
 Skeâ ––––––– DeejsKe Skeâ Ùeespevee yeæ [^eFbie nw pees 

mebmLeeDeeW kesâ efueS mejue Deeke=âefleÙeeW keâe GheÙeesie keâjles 

ngS efmemšce ceW mebyebOeeW keâes efoKeelee nw~  

 (a) Scatter/mkewâšj 
 (b) Circuit/meefke&âš  
 (c) Venn/mesve  
 (d) Block/yuee@keâ 
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Ans : (d) Skeâ yuee@keâ DeejsKe Skeâ Ùeespevee yeæ [^eFbie nw pees 
mebmLeeDeeW kesâ efueS mejue Deeke=âefleÙeeW keâe GheÙeesie keâjles ngS efmemšce ceW 
mebyebOeeW keâes efoKeelee nw~ 

6. In this question, two statements are given, 

followed by two conclusions labelled I and II. 

You have to consider the statements to be true 

even if they seem to be at variance with 

commonly known facts, and decide which of 

the given conclusions, if any, follow(s) from the 

given statements./Fme ØeMve ceW, oes keâLeve Deewj Gmekesâ 

yeeo oes efve<keâ<e&, I Deewj II efoS ieS nQ~ Deehekeâes keâLeveeW 

keâes melÙe ceeveles ngS efJeÛeej keâjvee nw, Yeues ner Jes Deece 

leewj hej %eele leLÙeeW mes efYeVe Øeleerle nesles neW Deewj efveCe&Ùe 

keâjW efkeâ efoS ieS efJekeâuheeW ceW mes keâewve mee, Ùeefo keâesF& 

nes, efoS ieS keâLeveeW keâe heeueve keâjvee nw~ 

 Statements/keâLeve :  

 No beakers are vases./keâesF& yeerkeâj hetâueoeve veneR nQ~ 

 All vases are jugs./meYeer hetâueoeve peie nQ~ 

 Conclusions/efve<keâ<e&:  

 I : Some jugs are beakers./ kegâÚ peie yeerkeâj nQ~ 

 II : Some jugs are vases./ kegâÚ peie hetâueoeve nQ~  
 (a) Both conclusions I and II follow. 

  efve<keâ<e& I Deewj II, oesveeW heeueve keâjles nQ~ 
 (b) Only conclusion I follows. 

  kesâJeue efve<keâ<e& I heeueve keâjlee nw~  
 (c) Neither conclusion I nor II follows. 

  ve lees efve<keâ<e& I Deewj ve ner II heeueve keâjlee nw 
 (d) Only conclusion II follows. 

  kesâJeue efve<keâ<e& II heeueve keâjlee nw  

Ans : (d) keâLeve kesâ Devegmeej DeejsKe yeveeves hej,  

 
efve<keâ<e& - 1. kegâÚ peue yeerkeâj nQ � 
 2. kegâÚ peie hetâueoeve nQ � 

7. Choose the letter cluster that is different from 

the rest./Gme De#ej mecetn keâe ÛeÙeve keâjW, pees DevÙe mes 

efYevve nes~ 
 (a) RST (b) MOQ 
 (c) KLM (d) EFG 
Ans : (b) efJekeâuhe (b) ceW Skeâ-Skeâ Jeie& keâe Devlej nw peyeefkeâ DevÙe 
meYeer ›eâceeiele JeCeeX mes yeves nQ~  

8. Two litres of superheated water at 190ºC is 

mixed with six litres of cold water at 20ºC. Find 

the final equilibrium temperature (in ºC) if no 

heat is lost. 

190
o
C leeheceeve Jeeues oes ueeršj Deeflelehle heeveer keâes 

20
o
C leeheceeve Jeeues Ún ueeršj "b[s heeveer kesâ meeLe 

efceueeÙee peelee nw~ keâesF& T<cee neefve ve nesves hej, Debeflece 
meblegueve leeheceeve (o

C ceW)  %eele keâerefpeS~ 
 (a) 47.5 (b) 95  
 (c) 62.5 (d) 55  
Ans : (c) ÙeneB T1 = 190° 

 T2 = 20° 

 m1 = 2 liter  

 m2 = 6 liter  

ÙeneB keâesF& T<cee neefve ve nesves hej, Debeflece meblegueve leeheceeve  
 T<cee neefve   T<cee Øeeefhle 
 m1C∆T1  = m2C∆T2 

 m1∆T1  = m2∆T2 

 2(190 – T) = 6(T-20) 

 380 – 2T  = 6T – 120 

 8T   = 500 

 T = 
500

8
 

 T = 62.5°C  

9. The area of A0 size paper is _____. 

A0 Deekeâej kesâ keâeie]pe (heshej) keâe #es$eheâue ..... neslee nw~  
 (a) 1cm2 (b) 1000cm2 
 (c) 10000cm2 (d) 100cm2 
Ans : (c) A0 Deekeâej kesâ keâeiepe (heshej) keâe #es$eHeâue kesâ efueS A0 

Deekeâej kesâ keâeiepe keâe meeFpe (cm) ceW  
 84.1 cm × 118.9 cm  

 9999.49 cm2 

Dele: efJekeâuhe (c), 10000 cm2 mener efJekeâuhe nw~  
10. A .......... projection is an oblique projection in 

which the depth of the object is shown in full 

size./Skeâ –––––– Øe#esheCe Skeâ eflejÚe Øe#esheCe nw, 
efpemeceW JemlegDeeW keâer ienjeF& keâes hetCe& Deekeâej ceW efoKeeÙee 
peelee nw~  

 (a) orthographic/DeeLeex«eeefHeâkeâ   
 (b) fisheye /efHeâMe DeeF& 
 (c) Cavalier /kewâJeeefueÙej  
 (d) perspective /hejsMehesefkeäšJe 

Ans : (c) kewâJeeefueÙej Øe#esheCe Skeâ eflejÚe Øe#esheCe nw efpemeceW JemlegDeeW 
keâer ienjeF& keâes hetCe& Deekeâej ceW efoKeeÙee peelee nw~ Fme Øe#esheCe ceW 
efkeâveeje leue Deewj efÛe$e leue oesveeW 45° keâesCe hej eflejÚe nesles nw~   

11. Henry per meter is the unit of .......... 

nsvejer Øeefle ceeršj –––––––– keâer FkeâeF& nw~  
 (a) permeability  /heejiecÙelee 
 (b) electrics conductance /efJeÅegle Ûeeuekeâlee 
 (c) watt per steradian /Jeeš Øeefle mšsjsef[Ùeve 
 (d) permittivity /hejeJewÅegleebkeâ 
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Ans : (a) nsvejer Øeefle ceeršj ÛegcyekeâerÙe heejiecÙelee keâer FkeâeF& nw~ 
peyeefkeâ ØesjkeâlJe keâer FkeâeF& nsvejer nw~ Dele: efJekeâuhe (a) mener 
efJekeâuhe nw~ 

12. Acceleration due to gravity on Jupiter is two 

and a half times that on earth. How much 

would a 250 kg satellite weigh (in N) on 

Jupiter? (acceleration due to gravity on earth = 

10m/s
2
)/ye=nmheefle «en hej ieg®lJepeefvele lJejCe he=LJeer 

keâe {eF& iegvee nw~ he=LJeer hej 250 efkeâ«ee. Jepeve Jeeues Skeâ 
Ghe«en keâe ye=nmheefle «en hej Yeej (N ceW) efkeâlevee nesiee? 
(he=LJeer hej ieg®lJepeefvele lJejCe = 10m/s

2
) 

 (a) 6250 (b) 10 
 (c) 625 (d) 100 
Ans : (a) he=LJeer hej õJÙeceeve (m) = 250 kg  

leLee ieg™lJeerÙe lJejCe (g) = 10 m/s2 

Dele: he=LJeer hej Yeej (w) = m × g 

  = 250 × 10  

  = 2500 N   

leye ye=nmheefle hej Yeej · 
5

2500
2
× = 6250 N  

13. Paracetamol is found in first-aid boxes. 

When/why should these drugs be taken? 

 hewjeefmešecee@ue, ØeeLeefcekeâ efÛeefkeâlmee JekeämeeW (heâmš&-S[ 
yee@keäme) ceW ceewpeto nesleer nQ~ Fve oJeeDeeW keâes keâye efueÙee 
peevee ÛeeefnS? 

 (a) To ease mild pain and reduce high 

temperature (fever.) 

  nukesâ oo& Deewj yegKeej keâes keâce keâjves kesâ efueS  
 (b) To ease the symptoms of hay fever and other 

allergies./hejeiepe pJej (ns heâerJej) Deewj DevÙe Suepeea 
kesâ ue#eCeeW keâes keâce keâjves kesâ efueS  

 (c) To bring relief from asthma 

  DemLecee mes jenle heeves kesâ efueS   
 (d) To ease indigestion and heartburn. 

  DeheÛe SJeb meerves ceW peueve keâes keâce keâjves kesâ efueS 

Ans : (a) nukesâ oo& Deewj yegKeej keâes keâce keâjves kesâ efueS 
hewjeefmešecee@ue oJeeDeeW keâes uesvee ÛeeefnS~    

14. A alone can paint a wall in 50 days and B alone 

can do it in 10 days. If A, B and C together can 

paint the wall in 6.25 days, then in how many 

days can C alone paint the wall? 

A Dekesâuee Skeâ oerJeej keâes 50 efoveeW ceW heWš keâj mekeâlee 
nw Deewj B Dekesâuee Fmes 10 efove ceW heWš keâj mekeâlee nw~ 
Ùeefo A, B Deewj C Skeâ meeLe efceuekeâj Fme oerJeej keâes 
6.25 efoveeW ceW heWš keâj mekeâles nQ, lees C kesâe Dekesâues Fme 
oerJeej keâes heWš keâjves ceW efkeâlevee meceÙe ueiesiee?  

 (a) 20 (b) 25 
 (c) 15 (d) 40  

Ans : (b) A keâe Skeâ efove keâe keâece 
1

50
= efove  

B keâe Skeâ efove keâe keâece 
1

10
= efove  

A+B+C keâe Skeâ efove keâe keâece 
1

6.25
= efove  

leye C keâe Skeâ efove keâe keâece  

  
1 1 1 100 1 5

6.25 50 10 625 50

+ = − + = − 
 

  

  
4 6 8 6 2 1

25 50 50 50 25

−
= − = = =   

DeLee&le C Dekesâuee Gmeer keâeÙe& keâes 25 efove ceW keâjsiee~  

15. The hotel Taj Lake Palace, built in the middle 

of Lake Pichola, is in which city?/efheÚesuee Peerue 
kesâ ceOÙe ceW yevee nesšue leepe ueskeâ hewuesme efkeâme Menj ceW 
efmLele nw ? 

 (a) Udaipur/GoÙehegj (b) Bikaner/yeerkeâevesj 
 (c) Jaipur/peÙehegj (d) Jhodhpur/peesOehegj 

Ans : (a) ueskeâ hewuesme (peie efveJeeme) Yeejle kesâ GoÙehegj, efheÚesuee 
Peerue ceW efmLele nw~ Fmekeâe efvecee&Ce cenejeCee peiele efmebn ves Je<e& 1743 

ceW Skeâ «eer<cekeâeueerve efveJeeme kesâ ™he ceW Fme cenue keâe efvecee&Ce 
keâjJeeÙee Lee~  

16. In a certain gear train, the driver has 24 teeth 

while the follower has 8 teeth. For every 

______ turns of the driver, the follower turns 

36 times. 

Skeâ efveefMÛele efieÙej š^sve ceW, mebÛeeuekeâ ([^eFJej) efieÙej ceW 
24 oeles nQ, peyeefkeâ mebÛeeefuele (heâe@ueesDej) efieÙej ceW 8 
oebles nQ~ mebÛeeuekeâ ([^eFJej) kesâ ØelÙeskeâ ........ Ûekeäkeâj kesâ 
efueS, mebÛeeefuele (heâe@ueesDej) efieÙej 36 yeej Ietcelee nw~   

 (a) 9 (b) 12 
 (c) 4 (d) 10 
Ans : (b) mebÛeeefuele efieÙej mebKÙee ·   

 
×mebÛeeuekeâ efieÙej cesW oeble keâe r mebKÙee  [^eFJej keâ s ceesÌ[esW keâe r mebKÙee

mebÛeeefuele efieÙej cesW oebleesW keâe r mebKÙee
 

24 x
36

8

×
= = 12  

17. From a 50-m-long steel bar, a workman has to 

cut off as many 5.25-m-long pieces as possible. 

What decimal fraction of the whole will be 

left?/50m uebyeer mšerue keâer ÚÌ[ mes, Skeâ keâeceieej keâes 
5.25m uebyeeF& kesâ ÙeLeemebYeJe šgkeâÌ[s keâešves nQ~ Fme hetjer 
ÚÌ[ keâe efkeâlevee efnmmee Mes<e yeÛesiee~ (oMeceueJe efYeVe ceW 
%eele keâerefpeS)? 

 (a) 0.025 (b) 0.045  
 (c) 0.055 (d) 0.035 
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Ans : (*) ÚÌ[ keâer uecyeeF& = 50  ceer. 

ÚÌ[ keâes keâešves hej Skeâ šgkeâÌ[s keâer uecyeeF& = 5.25 ceer.  

ÚÌ[ keâe Mes<e yeÛee Yeeie 
50

5.25
= ceer.  

  
5000 200 11

9
525 21 21

= = = +  

ÚÌ[ keâe Mes<eYeeie 
11

21
= (Mes<eheâue) 

  = 0.5238 

18.  In an artificial language, 'terake' means 

'motherland', 'lorake' means 'mother tongue' 

and 'loroli' means 'long tongue'.  

 Which word would mean 'long jump' in that 

language? 

Skeâ ke=âef$ece Yee<ee ceW, terake' keâe DeLe& 'motherland' 

nw, 'lorake' keâe DeLe& 'mother tangue' nw Deewj 

'loroli' keâe DeLe& 'long tongue' nw~ Gme Yee<ee ceW 'long 

jump' kesâ efueS keâewve mee Meyo nesiee? 

 (a) hudter (b) akezit  
 (c) dibnol  (d) nemoli  

Ans : (d)  efoS ieS keâLeveeW mes mhe° nw efkeâ,  

ter → land, ake → mother, lor → tangue, oli→ long kesâ 

efueS DeeÙee nw~ Dele: long jump kesâ efueS nemoli Meyo keâe ØeÙeesie 

nesiee~ 

19. Pipe A can fill a tank in 12 hours. Pipe B can 

empty it in X hours. If both the pipes are 

opened together, then the tank will be filled in 

30 hours. Find X./heeFhe A Skeâ šbkeâer keâes 12 Iebšs ceW 

Yej mekeâlee nw~ heeFhe B Fmes X Iebšs ceW Keeueer keâj mekeâlee 

nw~ Ùeefo oesveeW heeFheeW keâes Skeâ meeLe Keesue efoÙee peeS, lees 

šbkeâer 30 Iebšs ceW Yej peeSieer~ X keâe ceeve %eele keâerefpeS~  

 (a) 20 (b) 25 
 (c) 15 (d) 24 

Ans : (a) heeFhe A keâe Skeâ Iebšs keâe keâece 
1

12
=   

heeFhe B keâe Skeâ Iebšs keâe keâece 
1

x
=   

heeFhe (A+B) keâe Skeâ Iebšs keâe keâece 
1

30
=   

  leye 
1 1 1

12 x 30
− =   

  30(x–12) = 12x 

   18x = 360 

  x 20=  

20. The _______ across the ends of a resistor is 

directly proportional to the current through it, 

provided its temperature remains the same. 

efkeâmeer ØeeflejesOe kesâ efmejeW kesâ yeerÛe ...... Fmemes ØeJeeefnle 
nesves Jeeueer Oeeje kesâ Deveg›eâceevegheeleer neslee nw, yeMelex efkeâ 
Fmekeâe leeheceeve meceeve yevee jns~ 

 (a) potential difference/efJeYeJeeblej   
 (b) charge/DeeJesMe  
 (c) resistance/ØeeflejesOe 
 (d) resistivity/ØeeflejesOekeâlee     

Ans : (a) efkeâmeer ØeeflejesOe kesâ efmejeW kesâ yeerÛe efJeYeJeevlej Fmemes 
ØeJeeefnle nesves Jeeueer Oeeje kesâ Deveg›eâceevegheeleer neslee nw, yeMelex efkeâ 
Fmekeâe leeheceeve meceeve yevee jns~  

21. If 1,200 J of work is done in pushing a trolley 

by 20 m, what was the force  (in N) 

employed?/Ùeefo efkeâmeer š^e@ueer keâes 20 ceer. lekeâ 
Oekesâueves ceW efkeâÙee ieÙee keâeÙe& 1,200 J nes, lees ueieeÙee 
ieÙee yeue (N ceW) %eele keâerefpeS ? 

 (a) 30 (b) 90 
 (c) 120 (d) 60 
Ans : (d) efoÙee nw- 
keâeÙe& (w) = 1200 J  

efJemLeeheve (d) = 20 m  

yeue (F) = ?  

leye, keâeÙe& (w) = yeue (F) × efJemLeeheve (d)  

1200 = F × 20  

1200
F

20
=  

F = 60 N  

22. L is thrice as good a workman as M, and 

together, they finish a task in 12 days. In how 

many days will L alone finish the same task?  
 L, M mes leerve iegvee DeefOekeâ keâece keâjlee nw Deewj meele 

efceuekeâj Jes Skeâ keâece keâes 12 efoveeW ceW hetje keâjles nQ~ L 

Dekesâues Gmeer keâece keâes efkeâleves efoveeW ceW hetje keâjsiee? 
 (a) 16 (b) 32  
 (c) 48 (d) 40 
Ans : (a) ceevee L efkeâmeer keâece keâes x efove ceW keâjlee nw~  
leye M Gmeer keâece keâes 3x efove ceW keâjsiee~  

ØeMveevegmeej 
1 1 1

x 3x 12
+ =   

 
3 1 1

3x 12

+
=   

 
4 12

x
3

×
=   

 x = 4×4 = 16 eqove 
L Dekesâues Gmeer keâece keâes (x) = 16 efove ceW keâjsiee~  
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23. Moore's Law is a rule of thumb stated by Intel 

co-founder Gordon Moore that the number of 

transistors on a chip doubles every ..... months. 

cetj keâe efveÙece Fbšsue kesâ men-mebmLeehekeâ iees[&ve cetj Éeje 
keâne ieÙee Skeâ meeceevÙe efveÙece nw efkeâ Skeâ efÛehe hej 
š^ebefpemšj keâer mebKÙee nj –––––– cenerveeW ceW ogieveer nes 
peeÙesieer~ 

 (a) 12 (b) 24 
 (c) 18 (d) 30 
Ans : (b) cetj keâe efveÙece Fbšsue kesâ men-mebmLeehekeâ iee@[&ve cetj Éeje 
1965 ceW DeJeueeskeâve efkeâÙee ieÙee Skeâ efveÙece nw pees yeleelee nw efkeâ efÛehe 
hej š^ebefpemšj keâer mebKÙee nj 24 cenerves ceW oesiegveer nes peeleer nw~   

24. A/ An ..... is an interface on a computer to 

which you can connect a device.  

––––– Skeâ Ssmee FbšjHesâme nw pees keâchÙetšj keâes efkeâmeer 
Ùeb$e mes peesÌ[ves kesâ efueS Fmlesceeue efkeâÙee peelee nw~  

 (a) port /heesš& (b) array /Ssjs 
 (c) anime/Sveerces (d) dongle /[eWieue 

Ans : (a) keâchÙetšj heesš& keâe Fmlesceeue efkeâmeer Yeer Ùeb$e keâes keâchÙetšj 
(meer.heer.Ùet.) kesâ meeLe peesÌ[ves kesâ efueS efkeâÙee peelee nw~ Ùes heesš& efJeefYeVe 
Øekeâej kesâ Fbšjveue ef[JeeFme pewmes : ne[&ef[mkeâ, [erJeer[er huesÙej leLee 
Skeämešve&ue ef[JeeFme pewmes-keâer yees[&, ceeGme, efØebšj, cee@efvešj Deeefo keâes 
ceojyees[& mes keâveskeäš keâjles nw~ heesš& Fvehegš Deewj DeeGšhegš FbšjHesâme 
Øeoeve keâjlee nw~ pees ef[JeeFme keâes Skeämešve&ue GhekeâjCe, Fbšjveue 
GhekeâjCe Deewj keâchÙetšj vesšJeke&â kesâ meeLe keâcÙetefvekesâš keâjves kesâ efueS 
DeeJeMÙekeâ nw~  

25. A boy of 50 kg is riding a scooter of 100 kg 

mass at a speed of y m/s. Find v (in m/s) if the 

kinetic energy of the scooter and the boy is 76.8 

kJ./ 50kg keâe Skeâ ueÌ[keâe 100kg õJÙeceeve Jeeues Skeâ 
mketâšj keâes V.m/s keâer Ûeeue mes Ûeuee jne nw~ Ùeefo mketâšj 
Deewj ueÌ[kesâ keâer ieeflepe Tpee& 76.8kJ nes, lees v(m/s ceW) 
keâe ceeve %eele keâerefpeS~  

 (a) 32 (b) 64  
 (c) 40 (d) 80 
Ans : (a)  

ueÌ[kesâ leLee mketâšj keâe kegâue õJÙeceeve · (50 + 100)kg 

          = 150 kg 

ieeflepe Tpee& = 76.8 KJ = 76800 J 

 V = ?  

ieeflepe Tpee& (K) = 21
mv

2
 

 21
150 v

2
= × ×  

21
76800 150 v

2
= × × ⇒ 2 76800

v
75

=  

 v2 = 1024 ⇒ v = 32 m/s.  

26. If 14 # 2 = 80, 10 # 4 = 70 and 20 # 6 = 130, then 

find the value of 8 # 12./Ùeefo 14 # 2= 80, 10 # 4 

= 70 Deewj 20 # 6= 130  nes, lees 8 # 12  keâe ceeve %eele 
keâerefpeS~ 

 (a) 4 (b) 2 
 (c) 100 (d) 10 
Ans : (c) efpeme Øekeâej, 
 14 # 2 = 80 ⇒ (14+2) × 5 = 80 

 10 # 4 = 70 ⇒ (10+4) × 5 = 70 

 20 # 6 = 130 ⇒ (20+6)× 5 = 130 
Gmeer Øekeâej, 
 8 # 12 = (8+12) × 5 = 100 

27. Henry Cavendish discovered _______in 

1766./nsvejer kewâJesefv[Me ves 1766 ceW ........ keâer Keespe 
keâer~ 

 (a) helium/nerefueÙece 
 (b) chlorine/keäueesjerve  
 (c) oxygen/Dee@keämeerpeve  
 (d) hydrogen/neF[^espeve   

Ans : (d) nsvejer kewâJesefv[Me ves 1766 ceW neF[^espeve iewme keâer Keespe 
keâer~ FvneWves Fmes ueesne hej leveg meuHeäÙetefjkeâ Decue keâer DeefYeef›eâÙee mes 
Øeehle efkeâÙee Lee leLee pJeueveMeerue JeeÙeg veece Lee~ 1883 ceW uewJeefMeS 
ves Fmekeâe veece neF[^espeve jKee keäÙeeWefkeâ Ùen Dee@keämeerpeve kesâ meeLe 
peuekeâj peue yeveeleer nw~  

28.  Select the set of letters that when sequentially 

placed in the gaps of the given series will 

complete the series logically./De#ejeW kesâ Gme mesš 
keâe ÛeÙeve keâjW, efpemes ›eâefcekeâ ™he mes oer ieF& De#ej 
ëe=bKeuee kesâ efjòeâ mLeeveeW ceW jKes peeves hej ëe=bKeuee keâes 
leeefke&âkeâ ™he mes hetCe&keâj osiee~ 

 a_yz_bx_zc_cx_z 
 (a) yxbcz (b) xybcz 
 (c) xbycy (d) xybcy  
Ans : (c) oer ieÙeer ëe=bKeuee efvecveJele nw- 
a x y z b b x y z c c c x y z 

Ghejesòeâ mes mhe° nw efkeâ ueghle heoeW kesâ mLeeve hej ›eâceMe: xbycy Yeje 
peeSiee~  

29. Which of the following gives the correct 

relation between power 'P', resistance 'R' and 

charge 'Q' flowing through a wire in 't' 

seconds?/efvecveefueefKele ceW mes keâewve mee Meefòeâ 'P', 

ØeeflejesOe 'R' Deewj 't' meskebâ[ ceW Skeâ leej mes ØeJeeefnle 
DeeJesMe 'Q' kesâ yeerÛe kesâ mener mebyebOe keâes oMee&lee nw? 

 (a) PR=Qlt (b) PQ=IRt 
 (c) Pl = QRt (d) Pt=IRQ 
Ans : (d) Meefòeâ P, ØeeflejesOe R Deewj meskeâC[ 't' ceW leej mes ØeJeeefnle 
DeeJesMe 'Q' kesâ yeerÛe mener mebyebOe Pt = IRQ nw~  
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30. _______ are a subset of air pollution that refers 

to the tiny particles suspended everywhere in 

our atmosphere. 

.................JeeÙeg Øeot<eCe keâe Skeâ GhemecegÛÛeÙe (meyemesš) 

nw~ pees nceejs JeeÙegceb[ue ceW nj peien ceewpeto Úesšs-Úesšs 

keâCeeW keâes meboefYe&le keâjlee nw~  

 (a) Humus/¢etceme    

 (b) Genomes/peerveesce 

 (c) Aerosols/Sjesmeesue  

 (d) Loam/oesceš efceóer     

Ans : (c) Sjesmeesue JeeÙeg Øeot<eCe keâe Skeâ GhemecegÛÛeÙe (meyemesš) nw 

pees nceejs JeeÙegceb[ue ceW nj peien ceewpeto Úesšs-Úesšs keâCeeW keâe meboefYe&le 

keâjlee nw~  

31. Find the third proportional to 24 and 60./24 

Deewj 60 kesâ efueS le=leerÙeevegheeleer %eele keâerefpeS~ 

 (a) 150 (b) 120 
 (c) 144 (d) 164 

Ans : (a) ceevee mebKÙee a, b leLee c  keâe le=leerÙeevegheele 
2b

a
=   

leye ØeMveevegmeej 
( )260

24
=  

60 60
150

24

×
= =   

32. A truck travels 450 km in two and a half hours. 

Find its speed in m/s. 

Skeâ šk̂eâ {eF& Iebšs ceW 450efkeâceer. keâer Ùee$ee keâjlee nw~ 

Fmekeâer Ûeeue m/s ceW %eele keâerefpeS~  

 (a) 60 (b) 90  
 (c) 50 (d) 75 

Ans : (c) efoÙee nw  

 meceÙe 
1

t 2
2

= IeCšs 

  
5

2
= IeCšs 

 otjer s = 450km. 

Dele: Ûeeue 
s

t
=  

 450
180km / h

5

2

= =  

 
5

180
18

= ×  

 = 50m/s  

33. Find the resistance of the wire (in kΩ) through 

which a 5 mA current flows when 500 V of 

potential difference is applied across it. 

Gme leej keâe ØeeflejesOe (kΩ ceW) %eele keâerefpeS, efpeme hej 
500V keâe efJeYeJeevlej, Deejesefhele efkeâS peeves hej GmeceW mes 
5mA keâer Oeeje ØeJeeefnle nesleer nw~ 

 (a) 100 (b) 2.5 
 (c) 100000 (d) 2500  
Ans : (a) efoÙee nw- 
 efJeYeJeevlej (V) = 500 V 

 Oeeje (I) = 5 mA 

            = 0.005A  

 ØeeflejesOe (R) = ?  

nce peeveles nw efkeâ  
 V = IR  

 500 = 0.005 × R 

 
500

R
0.005

=  

 R = 100000 Ω 

 
100000

R k
1000

= Ω  

 R = 100 kΩ 

34. Find the least common multiple of 56 and 

50./56 Deewj 50 keâe ueIegòece meceeheJelÙe& %eele keâerefpeS~ 
 (a) 1400 (b) 800 
 (c) 700 (d) 1500 
Ans : (a) 56 Deewj 50 keâe ue.me.he. 
 56= 2×2×2×7 

 50 = 2×5×5 

Dele: ue.me. = 2×2×2×5×5×7 = 1400 
35. What is the area (in cm

2
) of a regular hexagon 

of side 10 cm?/10 mesceer. Yegpee Jeeues Skeâ mece<ešdYegpe 
keâe #es$eheâue (cm

2
 ceW) %eele keâerefpeS?  

 (a) 150 3  (b) 300 3  

 (c) 450 3  (d) 75 3  

Ans : (a) ∵ mece<ešdYegpe keâe #es$eheâue 
3

6
4

= × Yegpee2 

∴ DeYeer° #es$eheâue ( )23
6 10

4
= × ×   

  
3

6 100
4

= × ×  

  2150 3cm=  
36. Find the heat capacity of a steel vessel of mass 

2.5 kg if its temperature rises by 10 degrees. 

Specific heat capacity of steel is 500 Jkg
–1

K
–1

. 

2.5kg õJÙeceeve Jeeues Skeâ mšerue kesâ yele&ve keâer T<cee 
Oeeefjlee %eele keâerefpeS, Ùeefo Fmekesâ leeheceeve ceW 10

o
C keâer 

Je=efæ nesleer nw~ mšerue keâer efJeefMe° T<cee Oeeefjlee 
500Jkg

–1
K

–1 
 nw  
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 (a) 1250JK–1 (b) 20 Jkg–1K–1 
 (c) 200Jkg–1K–1 (d) 125JK–1 

Ans : (a) efoÙee nw-  

 õJÙeceeve (m) = 2.5 kg 

 leehe Je=efæ (∆T) = 10°C 

efJeefMe° T<cee Oeeefjlee (c) = 500 Jkg–1k–1 

T<cee keâer cee$ee (Q) = ?  

 Q = mC∆T  

    = 2.5 × 500 × 10  

 Q = 12500   

T<cee Oeeefjlee · 
T<cee keâe r cee$ee

leehe Jee= fæ
  

   
12500

10
= = 1250 JK–1 

37. Find the mass (in kg) of kerosene filled up to 

the brim in a tank of dimensions 5m×2m×1m. 

(Density of kerosene is 800 kg/m
3
) 

6cm × 8cm × 5cm ceehe Deewj 1.92N Yeej Jeeues 

uekeâÌ[er kesâ Skeâ šgkeâÌ[s keâe IevelJe (kg/m
3
 ceW) %eele 

keâerefpeS (g=10m/s
2
 ueW) 

 (a) 3000 (b) 300 
 (c) 8000 (d) 800 

Ans : (d) efoÙee nw- 

DeeÙeleve (V) = 6 cm × 8 cm × 5 cm  

    
240

1000000
=  

   324
m

100000
=   

Yeej (W) = 1.92 N 

ieg™lJeerÙelJejCe (g) = 10 m/s2 

Deye w = mg  

 1.92 = m × 10  

 
1.92

m
10

=  

 m = 0.192 kg  

IevelJe (d) = 
( )
( )
m

v

õJÙeceeve
DeeÙeleve

 

 
0.192

24

100000

=  

IevelJe (d) = 
0.192 100000

24

×
 

 
19200

24
= = 800 kg/m3 

38. The weights of three boxes are 3 kg, 8 kg and 

12 kg. Which of the following CANNOT be the 

total weight, in kg, of any combination of these 

boxes? 

leerve yee@keämeeW keâe Jepeve 3kg, 8kg Deewj 12kg  nw~ 

efvecveefueefKele ceW mes keâewve mee, Fve yee@keämeeW ceW efkeâmeer Yeer 

mebÙeespeve keâe kg ceW kegâue Jepeve veneR nes mekeâlee nw? 

 (a) 21 (b) 20 
 (c) 15 (d) 23 

Ans : (a) mebYeJe mebÙeespeve -  

(i) 15 → 12 + 3 = 15 kg  

(ii) 20 → 12 + 8 = 20 kg  

(iii) 23 → 12 + 8 + 3 = 23 kg   

21 kg efkeâmeer Yeer mebÙeespeve mes kegâue Jepeve veneR nes mekeâlee nw~ Dele: 

efJekeâuhe (a) mener nw~                    

39. Choose the figure that is different from the 

rest. 

Gme Deeke=âefle keâe ÛeÙeve keâjW, pees DevÙe Deeke=âefleÙeeW mes 

efYeVe nes~ 

 

  

 
  

   
 
 

Ans : (c) efJekeâuhe (c) ceW DevÙe efJekeâuheeW mes efYeVe Skeâ JeCe& I ØeÙegòeâ 

ngDee nw Dele: Ùen DevÙe efJekeâuheeW mes efYeVe nw~  

40. Amit calculated 
2

5
th of a number instead of 

calculating 
2

15
th. His answer was greater than 

the correct answer by 336. Find the number. 

Deefcele ves efkeâmeer mebKÙee kesâ 
2

15
JeW efnmmes keâer ieCevee 

keâjves kesâ yepeeÙe Gmekesâ 
2

5
JeW efnmmes keâer ieCevee keâer~ 

Gmekeâe Gòej mener Gòej mes 336 DeefOekeâ Lee~ Jen mebKÙee 

%eele keâerefpeS~  

 (a) 1008 (b) 1260 
 (c) 1344 (d) 1680 
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Ans : (b) ceevee cetue mebKÙee = x  

ØeMveevegmeej,  

 
2 2

x x 336
5 15
− =  

 
( )6 2 x

336
15

−
=  

 
4x

336
15
=  

 
336 15

x
4

×
=  

  = 84×15  

  x = 1260 

Dele: DeYeer° mebKÙee = 1260 

41. Two cabs A and B start from town C for town 

D. If the distance between the two towns is 540 

km and the slower taxi travelling at an average 

speed of 90 km/hr takes an hour more than the 

faster taxi, then find the speed (in km/hr) of the 

faster taxi. 

oes ieeefÌ[Ùeeb, A Deewj B, Menj C mes Menj D kesâ efueS 

Ûeuevee Meg™ keâjleer nw~ Ùeefo oesveeW MenjeW kesâ yeerÛe keâer 

otjer 540km nes Deewj 90km/hr keâer Deewmele mes Ûeue jner 

Oeerceer ieefle mes Ûeueves Jeeueer ieeÌ[er keâes lespe ieefle mes Ûeueves 

Jeeueer ieeÌ[er keâer leguevee ceW Skeâ Iebšs DeefOekeâ meceÙe ueielee 

nw, lees lespe ieefle mes Ûeueves Jeeueer ieeÌ[er keâer Ûeeue 

(km/hr ceW) %eele keâerefpeS~  
 (a) 99 (b) 126 
 (c) 108 (d) 117  
Ans : (c) ceevee lespe ieefle mes Ûeueves Jeeueer ieeÌ[er keâer Ûeeue 
 = x km/h 

ØeMveevegmeej, 

 
540 540

1
90 x
− =   

⇒ 
540

6 1
x

− =   

⇒ 
540

5
x
=      

⇒ 
540

x 108km / h
5

= =   

Dele: lespe Ûeueves Jeeueer ieeÌ[er keâer Ûeeue = 108km/h. 

42. If Sinθ = 12/13, then find the value of 

2Cotθ + 13Cosθ. 

Ùeefo sinθ= 12/13 nes, lees 2cotθ + 13cosθ keâe ceeve 

%eele keâerefpeS~ 
 (a) 25/6 (b) 35/6 
 (c) 5/8 (d) 15/8 

Ans : (b) 
12

sin
13

θ =   

 
Dele: heeFLeeieesjme ØecesÙe mes  

 2 2AB 13 12= −  
  = 5 

Dele: 2cot 13cosθ+ θ   

 

5
cot

5 5 12
2 13

512 13
cos

13

 θ = 
= × + ×  

 θ =
  

  

 
5

5
6

= +   

 
35

6
=   

43. If the median of the numbers 9, 15, 1, 15, 14, 9, 

4 and X is 11, find X./Ùeefo mebKÙeeDeeW 9, 15, 1, 15, 

14, 9, 4 Deewj X keâer ceeefOÙekeâe 11 nw, lees X keâe ceeve 

%eele keâerefpeS~ 

 (a) 12 (b) 10 
 (c) 11 (d) 13 
Ans : (d) efoÙes ieS DeebkeâÌ[eW keâes Deejesner ›eâce ceW JÙeJeefmLele keâjves 
hej -  
1, 4, 9, 9, x, 14, 15, 15  

kegâue heo (n) = 8  

ceeefOÙekeâe · 

n n
1

2 2

2

 + + 
 

 Jee@ heo keâe ceeve Jee@ heo keâe ceeve
 

9 x
11

2

+
=  

22 = 9 +x  

x = 13  

44. Choose the word that is different from the rest.  

 Gme Meyo keâe ÛeÙeve keâjW, pees DevÙe mes efYeVe nes~ 

 (a) Stream/Oeeje 
 (b) Pool/hetue 
 (c) Pond/leeueeye 
 (d) Lake/Peerue 

Ans : (a) Oeeje DevÙe mes efYeVe nw keäÙeeWefkeâ Oeeje yenles ngS peue  kesâ 
Éeje yeveleer nw peyeefkeâ DevÙe "njs ngS heeveer kesâ Éeje yeveles nQ~  
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45.  If '+' represents '×', '÷' represents '+', '–' 

represents '÷' and '×' represents '–', then find 

the value of the following expression.  

 Ùeefo '+', '×' keâes efve™efhele keâjlee nw '÷', '+' keâes 

efve™efhele keâjlee nw '–', '÷' keâes efve™efhele keâjlee nw, Deewj 

'×', '–' keâes efve™efhele keâjlee nw, lees efvecveefueefKele 

JÙebpekeâ keâe ceeve %eele keâerefpeS~ 

 8+4÷15–3×1 
 (a) 10 (b) 36 
 (c) 14 (d) 17 
Ans : (b) keâLeve kesâ Devegmeej efÛeÖeW keâes heefjJeefle&le keâjves hej- 
8 + 4 ÷ 15 – 3 × 1 = 8 × 4 + 15 ÷ 3 – 1 

 = 32 + 5 – 1= 36 
46. Which of the following is an example of a 

second class lever? /efvecveefueefKele ceW mes keâewve mee 

efÉleerÙe ßesCeer kesâ Gòeesuekeâ keâe GoenjCe nw? 

 (a) Ice tongs /yehe&â G"eves keâer efÛecešer (DeeFme šeWie) 
 (b) Pliers/hueeÙej     
 (c) Wheel barrow/Skeâ heefnS keâe "suee (Jnerue yewjes) 
 (d) See-saw /meer-mee@     

Ans : (c) efÉleerÙe ßesCeer kesâ Gòeesuekeâ–Fme Jeie& kesâ Gòeesuekeâ ceW 

Deeuecye leLee DeeÙeeme kesâ yeerÛe Yeej efmLele neslee nw~ Fme Øekeâej kesâ 
GòeesuekeâeW ceW Ùeebef$ekeâ ueeYe meowJe Skeâ mes DeefOekeâ neslee nw~  
GoenjCe- mejewlee, veeRyet efveÛeesÌ[ves keâer ceMeerve mšsheuej, "suee Deeefo~  
Dele: efJekeâuhe Skeâ heefnS keâe "suee efÉleerÙe ßesCeer kesâ Gòeesuekeâ keâe 
GoenjCe nw~  
ØeLece ßesCeer kesâ GòeesuekeâeW keâe GoenjCe- Deejer, ›eâe@yej, keQâÛeer, 
efmeÌ[emeer, meer-mee@ Deeefo~  
le=leerÙe ßesCeer kesâ GòeesuekeâeW keâe GoenjCe- efÛeceše, ceveg<Ùe keâe neLe 
FlÙeeefo~  

47. Acceleration due to gravity is highest at 

_______. 

ieg®lJepeefvele lJejCe ...... hej meJee&efOekeâ neslee nw~ 

 (a) the poles/OegÇJeeW  
 (b) the equator/YetceOÙejsKee   
 (c) at an infinite distance from the earth 

  he=LJeer mes Deveble otjer hej 
 (d) the center of the earth /he=LJeer kesâ kesâvõ   

Ans : (a) ieg™lJeerÙe lJejCe (g) keâe ceeve he=LJeer kesâ kesâvõ mes otjer kesâ 
Devegmeej Iešlee yeÌ{lee nw, DeLee&led Fme otjer kesâ yeÌ{ves hej Ùen Iešlee nw 
Deewj otjer Iešves hej yeÌ{lee nw~  
OeÇgJeeW hej Fmekeâe ceeve YetceOÙe jsKee keâer Dehes#ee pÙeeoe (meJee&efOekeâ) neslee 
nw keäÙeeWefkeâ he=LJeer OeÇgJeeW hej kegâÚ efÛehešer nw efpemekesâ keâejCe he=LJeer kesâ 
kesâvõ mes OeÇgJeeW keâer otjer keâce nw~ 

48. The specific latent heat of fusion of ethyl 

alcohol is 100 Jg
-1

. Find the heat absorbed (in 

J) by 2.25 g of ethyl alcohol when it melts at its 

melting point of -114ºC. 

SefLeue Deukeâesnue kesâ mebueÙeve keâer efJeefMe° ieghle T<cee 
100Jg

–1
 nw~ Gme efmLeefle ceW 2.25 «eece SefLeue Deukeâesnue 

Éeje DeJeMeesef<ele T<cee (J ceW) %eele keâerefpeS, peye Ùen 
Fmekesâ ieueveebkeâ –114

o
C hej efheIeuelee nw~  

 (a) 311 (b) 45 
 (c) 225 (d) 100 
Ans : (c) efoÙee nw, 
 õJÙeceeve (M) = 2.25 gm 

 efJeefMe<š ieghle T<cee (L) = 100 Jg–1
 

 T<cee (Q) = ? 

∵ efJeefMe<š ieghle T<cee (L) = 
Q)

m)

(

(

T<cee
õJÙeceeve

 

  
Q

100
2.25

=  

  Q = 2.25×100 

  Q = 225 petue   

49. The sum of binary numbers 1100100 and 

1101110 is ______./yeeFvejer mebKÙeeDeeW 1100100 
Deewj 1101110 keâe Ùeesie ....... nw~  

 (a) 11001000 (b) 11010010  
 (c) 11110010 (d) 11100110 

Ans : (b) yeeFvejer mebKÙeeDeeW 1100100 Deewj 1101110 keâe 
Ùeesie 11010010 nw~ 

50. If a vendor sells a coconut at `32, he incurs a 

20% loss. What is the cost price of the coconut? 

Ùeefo keâesF& efJe›esâlee Skeâ veeefjÙeue keâes `32 ceW yesÛelee nw, 
lees Gmes 20% keâer neefve nesleer nw~ veeefjÙeue keâe ›eâÙe cetuÙe 
%eele keâerefpeS? 

 (a) `44 (b) `36 
 (c) `48 (d) `40 
Ans : (d) ceevee veeefjÙeue keâe ›eâÙe cetuÙe = ` x 

        neefve = 20% 

efJe›eâÙe cetuÙe = ` 32 

Dele:  
( )x 100 20

32
100

× −
=   

⇒ 
x 80

32
100

×
=   

⇒ 
32 10

x
8

×
= = ` 40 

51. Even if it seems to be at variance with 

commonly known fact's and decide which of 

the given assumptions is/are implicit in the 

given statement. 
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 Skeâ keâLeve Deewj Gmekesâ yeeo oes DeJeOeejCeeÙeW I Deewj II 

oer ieF& nw~ Deehekeâes keâLeveeW keâes melÙe ceeveles ngS efJeÛeej 
keâjvee nw, Yeues ner Jes Deeceleewj hej %eele lelJeeW mes efYeVe 
Øeleerle nesles nes, Deewj efveCe&Ùe keâjs keâer oer ieF& 
DeJeOeejCeeDeeW ceW mes keâewve meer efoS ieS keâLeve ceW efveefnle 
nw/nQ~   

 keâLeve/Statement: 'Height should be between 5 

feet 6 inches and 6 feet.' –One of the conditions 

for recruiting fighter pilots. 

 TBÛeeF& 5 Heâerš 6 FbÛe mes 6 Heâerš kesâ yeerÛe nesveer ÛeeefnS~ 
HeâeFšj heeheuešeW keâer Yeleea kesâ efueS Skeâ Mele&~   

 DeeJeOeejCeeSb/Assumptions: I : Fighter pilots 

should be presentable as they are role models 

for the young/HeâeFšj heeÙeuešeW keâes Deekeâ<e&keâ nesvee 
ÛeeefnS, keäÙeeWefkeâ Jes ÙegJeeDeeW kesâ efueS DeeoMe& nw~   

 II : Only certain body types can fit in a fighter 

plane cockpit/kesâJeue kegâÚ Meejerefjkeâ Øekeâej Jeeues ueesie 
ner HeâeFšj huesve kesâ keâe@efheš ceW efHeâš nes mekeâles nw~   

 (a) Only assumption I is implicit. 
  kesâJeue DeJeOeejCee I efveefnle nw~  
 (b) Both assumptions I and II are implicit. 
  I Deewj II oes vees DeJeOeejCeeSb efveefnle nw~  
 (c) Neither assumption I nor II is implicit. 
  ve lees DeJeOeejCee I Deewj ve ner II efveefnle nw~  
 (d) Only assumption II is implicit. 
  kesâJeue DeJeOeejCee II efveefnle nw~  

Ans : (d) efoS ieS keâLeve ceW kesâJeue hetJe&OeejCee II Devleefve&efnle nw 
keäÙeeWefkeâ heâeFšj huesve Ûeueeves kesâ efueS Skeâ efveefMÛele uecyeeF& keâe 
ceevekeâ jKee ieÙee nw leLee hetCe&OeejCee I leke&â nerve nw~ 

52. If 90 J of work is done in moving a charge of 

2,000 coulombs across V volts, find V. 

Ùeefo 2000 ketâueece DeeJesMe keâes V Jeesuš efJeYeJeevlej 
Jeeues oes efyevogDeeW kesâ yeerÛe mLeeveebleefjle keâjves ceW efkeâÙee 
ieÙee keâeÙe& 90 petue nes, lees V keâe ceeve %eele keâerefpeS~ 

 (a) 0.2 (b) 180 
 (c) 0.045 (d) 2,250  
Ans : (c) DeeJesMe (Q) = 2000 ketâueece 
 keâeÙe& (W) = 90 petue       
 efJeYeJeevlej (V) = ? 

 efJeYeJeevlej (V) = 
W

Q

(keâeÙe&)
(DeeJesMe)

 

  V = 
90

2000
 

  V = 
9

200
 

  V = 0.045 Jeesuš 

53. By cycling 7/9 times his usual speed, Anwar 

reaches his school 4 minutes late. How many 

minutes does Anwar take to reach school at his 

usual cycling speed? 
Deheveer meeceevÙe Ûeeue mes 7/9 iegveer Ûeeue mes meeFefkeâue 
Ûeueekeâj, DeveJej 4 efceveš osjer mes Deheves mketâue hengbÛelee 
nw~ DeveJej keâes Deheveer meeceevÙe Ûeeue mes meeFefkeâue 
Ûeueekeâj mketâue hengbÛeves ceW efkeâleves efceveš ueieles nQ~  

 (a) 14 (b) 20 
 (c) 18 (d) 16 
Ans : (a) ceevee DeveJej keâer meeceevÙe Ûeeue x  leLee Fmeer Ûeeue mes 
mketâue hengbÛeves ceW ueiee meceÙe t  nw~ 

hegve: ∵  otjer meceeve nw~ 

∴ 1 1 2 2s t s t=  mes 

 ( )7
x t x t 4

9
× = × +   

⇒ 9t = 7t +28 

⇒ 2t = 28 

⇒ t = 14 efceveš  
Dele: DeveJej keâes meeceevÙe Ûeeue mes mketâue hengbÛeves ceW 14 efceveš 
ueieles nQ~ 

54. Which of the following nations is NOT a 

permanent member of the United Nations 

Security Council?/efvecveefueefKele ceW mes keâewve mee je°^ 
mebÙegòeâ je°^ megj#ee heefj<eo keâe mLeeÙeer meomÙe veneR nw? 

 (a) China/Ûeerve  
 (b) United Kingdom/ÙetveeFšs[ efkebâie[ce 
 (c) France/øeâebme   
 (d) Germany/pece&veer   
Ans : (c) mebÙegkeäle je<š^ megj#ee heefj<eo, mebÙegkeäle je<š^ kesâ ØecegKe DebieeW 
ceW mes Skeâ nw~ 
FveceW 15 meomÙeeW ceW mes 5 mLeeÙeer meomÙe nw Deewj 10 DemLeeÙeer 
meomÙe nw~ 
mLeeÙeer meomÙe - 
1. Ûeerve  2. øeâebme   3. ™me 
4. ÙetveeFšs[ efkebâie[ce 5. mebÙegkeäle jepÙe  
Jele&ceeve DemLeeÙeer meomÙe 
1. DeuyeeefveÙee   2.  Yeejle 
3. DeeÙejueQ[  4. kesâvÙee 
5. cesefkeämekeâeW  6.  yeÇepeerue 
7. veeJex   8. iewyeesve 
9. Oeevee   10. mebÙegòeâ Dejye Deceerjele 

55. Find the missing number in the given series. 

 oer ieF& ßesCeer ceW ueghle mebKÙee %eele keâerefpeS~ 
 –2.7, –2.1, –1.5,  –0.9, –0.3, ? 
 (a) 0.3 (b) 0.4 
 (c) 0.2 (d) 0.5 



 

RRB ALP Technician (Electrician) 23.01.2019 Shift-II  47 YCT 

Ans : (a) oer ieF& ßesCeer efvecveJeled nw- 

 

Dele: ? 0.3=   

56. Find the mass (in kg) of a tank completely 

filled with kerosene of dimensions 5m × 2m × 

1m (Density of kerosene is 800 kg/m
3
)/ 

  5m×2m×1m ceehe Jeeues kesâjesefmeve mes hetjer lejn Yejs ngS 
Skeâ šQkeâ keâe õJÙeceeve (kg ceW) %eele keâerefpeS~ (kesâjesefmeve 
keâe IevelJe 800kg/m

3 nw) 
 (a) 8000 (b) 1250 
 (c) 800 (d) 12500 

Ans : (a) ∵ IevelJe 
õJÙeceeve
DeeÙeleve

=   

∴ õJÙeceeve · IevelJe × DeeÙeleve  
Dele: kewâjesmeerve keâe õJÙeceeve = 800×5×2×1= 8000kg. 

57. Which Dadasaheb Phalke Award recipient 

produced and directed India's first colour film, 

'Sairandhri'? 

efkeâme oeoemeensye heâeukesâ hegjmkeâej efJepeslee ves Yeejle keâer 
henueer jbieerve efheâuce, ‘mewjbOeÇer’ keâe efvecee&Ce SJeb efveoxMeve 
efkeâÙee? 

 (a) LV Prasad/SueJeer Øemeeo 
 (b) Birendranath Sirdar/yeerjsõveeLe mejkeâej   
 (c) V Shanta ram/Jeer Meebleejece    
 (d) Sivaji Ganesan/efMeJeepeer ieCesMeve   
Ans : (c) Jeer Meeblejece oeoemeenye Heâeukesâ hegjmkeâej efJepeslee ves Yeejle 
keâer henueer jbieerve efHeâuce, ‘mewjbvOeÇer’ keâe efvecee&Ce SJeb efveoxMeve efkeâÙee~ 

58. Classical musician Vilayat Khan is associated 

with which musical instrument? 

MeeŒeerÙe mebieerlekeâej efJeueeÙele Keeve efkeâme JeeÅeÙeb$e mes 
mebyebefOele nQ? 

 (a) Flute/yeebmegjer   (b) Sitar/efmeleej 
 (c) Santoor/mebletj (d) Sarod/mejeso 
Ans : (b) efJeueeÙele KeeB efmeleej Jeeove kesâ efueS efJeKÙeele nw~ FvneWves 
efmeleej Jeeove keâer Deheveer Deueie Mewueer, ieeÙekeâer Mewueer, efJekeâefmele 
keâer Leer~ 

59. If the compound interest received on a certain 

amount in the first year is `1,440, what will be 

the compound interest for the second year on 

the same principal at a 10% rate of interest? 

Ùeefo henues Je<e& ceW Skeâ efveefMÛele jeefMe hej Øeehle 
Ûe›eâJe=efæ yÙeepe `1440 nw, lees Gmeer cetueOeve hej 10% 

yÙeepe keâer oj hej otmejs Je<e& kesâ efueS Ûe›eâJe=efæ yÙeepe 
efkeâlevee nesiee? 

 (a) `1584 (b) `1540 
 (c) `1554 (d) `1512 

Ans : (a)  henues Je<e& keâe Ûe›eâJe=efæ yÙeepe =`1440 

 
n

r
C.I. P 1 1

100

  = + −  
   

  

 

t
10

1440 P 1 1
100

  = + −  
   

  

⇒ 
10

1440 P
100

= ×  

⇒ P = `14400 

Dele: otmejs Je<e& kesâ efueS cetueOeve 
 = 14400+1440= 15840 

Dele: DeYeer° Ûe›eâJe=efæ yÙeepe 
1

10
15840 1 1

100

  = + −  
   

 

   
10

15840
100

= ×  

   = `1584 
60. Which of the following is NOT a derived 

unit?/efvecveefueefKele ceW mes keâewve meer JÙeglheVe FkeâeF& 

veneR nw? 

 (a) Mol/ceesue 
 (b) Volt/Jeesuš 
 (c) Radian/jsef[Ùeve 
 (d) Lumen/uÙegcesve        

Ans : (a) JÙeglheVe FkeâeF& - Yeeweflekeâ jeefMe keâes JÙeòeâ keâjves kesâ efueS 

oes DeeOeejYetle cetueYetle FkeâeFÙeeW keâe mebÙeespeve neslee nw~ 
7 cetue jeefMeÙeeB nw Deewj Gvekeâer cetueYetle FkeâeFÙeeB nw~ 
 cetue jeefMeÙeeB 
cee$ee   SI FkeâeF& 

õJÙeceeve  - efkeâuees«eece (kg) 

uecyeeF&  - ceeršj (m) 

meceÙe  - meskeâC[ (s) 

heoeLe& keâer cee$ee - ceesue (mol) 

leeheceeve   - kesâefuJeve (k) 

efJeÅegle Oeeje - SefcheÙej (A) 

oerhle leer›elee - keQâ[uee (cd) 

Dele: efJekeâuhe (a) mener efJekeâuhe nw ceesue JÙeglheVe FkeâeF& vener yeefukeâ 
cetue FkeâeF& nw~  

61. If 
5x 7 2x 1 1

3 2 5 3 3

 
− − = 
 

then the value of x is 

________. 

Ùeefo 
5x 7 2x 1 1

3 2 5 3 3

 
− − = 
 

nw, lees X keâe ceeve ...... nw~  

 (a) –5/14 (b) –25/8 
 (c) 25/8 (d) 5/14 
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Ans : (b) 
5x 7 2x 1 1

3 2 5 3 3

 − − = 
 

 

⇒ 
5x 7x 7 1

3 5 6 3
− + =  

⇒ 
25x 21x 1 7

15 3 6

−
= −  

⇒ 
4x 2 7

15 6

−
=  

⇒ 
5 15 25

x
6 4 8

−
= × = −  

62. A uniform meter scale weighs 50g. It is pivoted 

at the 70cm mark. Where should a 40 g mass 

be placed so that the scale is in equilibrium? 

Skeâ Skeâmeceeve ceeršj hewceeves (mkesâue) keâe Jepeve 50g nw~ 
Fmes 70cm kesâ efveMeeve hej efškeâeÙee ieÙee nw~ Fme hej 40g 

õJÙeceeve keâes keâne hej jKee peevee ÛeeefnS, leeefkeâ Ùen 
meblegueve keâer DeJemLee ceW jns? 

 (a) At the 45 cm mark /45cm kesâ efveMeeve hej 
 (b) At the 25 cm mark /25cmkesâ efveMeeve hej 
 (c) At the 95 cm mark /95cm kesâ efveMeeve hej 
 (d) At the 5 cm mark /5cm kesâ efveMeeve hej  
Ans : (b) meecÙeeJemLee ceW -  
 ∑m = 0  

 40 × x = 20 × 50  

 
20 50

x
40

×
=  

 x = 25 cm  

63. In an engineering drawing, which letters 

written on the dimension indicates that it is 

extra information and NOT really 

required?/Skeâ FbpeerefveÙeefjbie [^eFbie ceW, efJeceeDeeW hej 
efueKes ieS keâewve mes De#ej Ùen Fbefiele keâjles nQ efkeâ Ùen 
Deleefjòeâ peevekeâejer nw Deewj JeemleJe ceW DeeJeMÙekeâ 
veneR nw? 

 (a) NR (b) PER 
 (c) REF (d) EXT 

Ans : (c) Skeâ FbpeerefveÙeefjbie [^eFbie ceW, efJeceeDeeW hej efueKes ieS 
REF mes De#ej Ùen Fbefiele keâjles nQ efkeâ Ùen Deleefjòeâ peevekeâejer nw 
Deewj JeemleJe ceW DeeJeMÙekeâ veneR nw~  

64. A vendor buys a certain number of bananas at 

8 pieces for '5 and sells them at 5 pieces for ' 8. 

What will be his percentage profit?/Skeâ efJe›esâlee 
`5 ceW 8 veie (heerme) kesâ efnmeeye mes Skeâ efveefMÛele mebKÙee 
ceW kesâues Kejerolee nw Deewj GvnW `8 ceW 5 veie (heerme) kesâ 
efnmeeye mes yesÛelee nw~ Gmekeâe ØeefleMele ueeYe efkeâlevee 
nesiee? 

 (a) 40% (b) 48% 
 (c) 144% (d) 156% 

Ans : (d) ∵ 8 veie keâe ›eâÙe cetuÙe = `5 

∴ 1 veie keâe ›eâÙe cetuÙe 
5

8
=`  

hegve: 5 veie keâe efJe›eâÙe cetuÙe = `8 

∴ 1 veie keâe efJe›eâÙe cetuÙe 
8

5
=`  

Dele: ueeYe 

8 5

5 8% 100
5

8

−
= ×  

 

64 25

40 100
5

8

−

= ×  

 
39 8

100
40 5

×
= ×

×
 

 = 39×4 = 156% 
65. Two numbers are 10% and 20% less than a 

third number. By what percentage should the 

second number be increased to make it equal to 

the first number? 

oes mebKÙeeSb Skeâ leermejer mebKÙee mes 10% Deewj 20% keâce 
nw~ otmejer mebKÙee keâes henueer mebKÙee kesâ yejeyej keâjves kesâ 
efueS efkeâleves ØeefleMele yeÌ{eÙee peevee ÛeeefnS? 

 (a) 10% (b) 7.5% 
 (c) 12.5% (d) 8% 
Ans : (c) ceevee leermejer mebKÙee = 100 

 henueer mebKÙee 
10

100 100
100

= − ×   

   = 90 

 otmejer mebKÙee 
20

100 100
100

= − ×   

   = 80 

Dele: henueer mebKÙee – otmejer mebKÙee  
  = 90–80 = 10 

DeYeer° Je=efæ ØeefleMele 
10

100
80

= ×   

  
25

12.5%
2

= ×   

66. A pilgrim starts from her house to visit various 

places. She walks 13 km towards the east, then 

turns towards the north and walks 11 km, then 

turns towards the west and walks 7 km, then 

turns towards the south and walks 6 km and 

finally turns to her right and walks 6 km. 

Where is the now with respect to her starting 

position? 

Skeâ leerLe&Ùee$eer Deheves Iej mes efJeefYeVe mLeeveeW hej peeves kesâ 
efueS Ùee$ee Meg™ keâjleer nw~ Jen hetJe& keâer Deesj 13 efkeâceer. 
Ûeueleer nw, efheâj Gòej keâer Deesj cegÌ[leer nw Deewj 11 efkeâceer. 
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Ûeueleer nw, efheâj heefMÛece keâer Deesj cegÌ[leer nw Deewj 7 efkeâceer. 
Ûeueleer nw, efheâj oef#eCe keâer Deesj cegÌ[leer nw Deewj 6 efkeâceer. 
Ûeueleer nw Deewj Deble ceW Deheves oebF& Deesj cegÌ[leer nw Deewj 6 
efkeâceer Ûeueleer nw~ Deye Jen Deheveer ØeejefcYekeâ efmLeefle kesâ 
meehes#e keâneB hej nw? 

 (a) 5 km north/5 efkeâceer. Gòej ceW 
 (b) 5 km south/5 efkeâceer. oef#eCe ceW 
 (c) 16 km north/16 efkeâceer. Gòej ceW  
 (d) 16 km south/16 efkeâceer. oef#eCe ceW 

Ans : (a) keâLeve kesâ Devegmeej DeejsKe yeveeves hej,  

 
DeejsKe mes mhe° nw efkeâ ØeejefcYekeâ efmLeefle kesâ meehes#e Gmekeâer efmLeefle 
= 11–6 = 5km Gòej efoMee ceW nw~  

67.  Find the value of : 

 efoS ieS JÙebpekeâ keâe ceeve %eele keâerefpeS : 

 16–{25% of (14×10÷35+12×10÷15)} 
 (a) 13 (b) 7 
 (c) 9 (d) 11 
Ans : (a) 16–{25% of (14×10÷35+12×10÷15)} 

 25 10 10
16 of 14 12

100 35 15

  = − × + ×    
 

 ( )1
16 of 4 8

4

 = − +  
 

 
1

16 12
4

 = − ×  
 

 = 16–3 = 13 
68. A statement is given followed by two 

conclusions. Decide which of the given 

conclusions logically follow from the given 

statements. 

Skeâ keâLeve Deewj Gmekesâ yeeo oes efve<keâ<e& efoS ieS nw~ 
efveCe&Ùe keâjW efkeâ efoS ieS efve<keâ<eeX ceW mes keâewve mee efoS 
ieS keâLeve keâe leeefke&âkeâ ™he mes heeueve keâjlee nw~  

  Statement/keâLeve  

 Emotional Quotient is a good predictor of 

success in career. /YeeJeveelcekeâ iegCekeâ (FceesMeveue 
keäJeesMevš) keâefjÙej ceW meheâuelee keâe Skeâ DeÛÚe 
metÛekeâ nw~ 

  Conclusions:/efve<keâ<e&:  

 I. The top 10 employees in a division will 

have the top 10 Emotional Quotients. 

  Skeâ efJeYeeie kesâ Meer<e& 10 keâce&Ûeejer, YeeJeveelcekeâ 
iegCekeâ (FceesMeveue keäJeesMevš) kesâ ceeceues ceW Yeer Meer<e& 
10 neWies~  

 II. Finding the Emotional Quotient of a 

candidate will give the hiring company 

extra useful information. 

  ØeefleYeeieer keâe YeeJeveelcekeâ iegCekeâ (FceesMeveue 
keäJeesMevš) %eele keâjves mes efveÙeesòeâe kebâheveer keâes 
Deefleefjòeâ GheÙeesieer peevekeâejer Øeehle nesieer~ 

 (a) Only conclusion II follows. 

  kesâJeue efve<keâ<e& II heeueve keâjlee nw 
 (b) Neither conclusion I nor II follows 

  ve lees efve<keâ<e& I Deewj ve ner II heeueve keâjlee nw 
 (c) Only conclusion I follows. 

  kesâJeue efve<keâ<e& I heeueve keâjlee nw  
 (d) Both conclusions I and II follow. 

  efve<keâ<e& I Deewj II, oesveeW heeueve keâjles nQ  

Ans : (a) efoS ieS keâLeve keâe kesâJeue efve<keâ<e& II leeefke&âkeâ ™he mes 
heeueve keâjlee nw~ 

69. The sentences given in this question, when 

properly sequenced, form a coherent 

paragraph. Each sentence is labelled with a 

letter (the first sentence is not labelled and 

given for your reference). choose the most 

logical order of sentences from among the 

given choices to construct a coherent 

paragraph. 

Fme JeekeäÙe ceW efoS ieS JeekeäÙe, mener ›eâce ceW nesves hej, 
Skeâ megmebiele DevegÛÚso yeveeles nQ~ ØelÙeskeâ JeekeäÙe keâes Skeâ 
De#ej mes veeefcele efkeâÙee ieÙee nw (henuee JeekeäÙe veeefcele 
veneR nw, Deewj Ùen Deehekesâ meboYe& kesâ efueS efoÙee ieÙee nw)~ 
Skeâ megmebiele DevegÛÚso yeveeves kesâ efueS efoS ieS efJekeâuheeW 
ceW mes JeekeäÙeeW keâe meJee&efOekeâ leke&âmebiele ›eâce ÛegveW~ 

 There were once two brothers who lived on the 

edge of aforest.  

A. One day, the elder brother went into the 

forest to find some firewood to sell in the 

market.  

B. As he went around chopping the branches 

of a tree after tree, he came upon a magical 

tree.  

C. The elder brother was very mean to his 

younger brother and ate up all the food and 

took all his good clothes. 

D. The tree said to him, 'Oh kind sir, please do 

NOT cut my branches'.  
 (a) ACDB (b) ACBD 
 (c) CADB (d) CABD 
Ans : (d) mener ›eâce CABD nesiee~ 
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70. Name the celebrity who has authroed 'Mrs. 

Funnybones'?/Gme Øeefmeæ nmleer keâe veece yeleeFS 

efpemeves ‘efcemespe heâveeryeesvme’ efueKeer? 

 (a) Twinkle Khanna/šdefJebkeâue KeVee 
 (b) Bipasha Basu/efyeheeMee yemeg  
 (c) Sonakshi Sinha/meesvee#eer efmevne 
 (d) Shraddha Kapoor/ßeæe keâhetj    

Ans : (a) šdefJebkeâue KeVee ves ‘efcemespe Heâveeryeesvme’ Meerpe pemš ueeFkeâ 
Ùet Sb[ S uee@š ueeFkeâ ceer’ hegmlekeâ efueKeer nw~ 

71. C said to D, "You are my sister's husband's 

mother-in-law." How is D related to C? 

 C ves D mes keâne, ‘‘legce cesjer yenve kesâ heefle keâer meeme 

nes~’’ D keâe C mes keäÙee mebyebOe nw? 
 (a) D is the mother-in-law of C. 

  D, C keâer meeme nw~     
 (b) D is the daughter of C./ D, C keâer yesšer nw  
 (c) D is the sister of C./ D, C keâer yenve nw  
 (d) D is the mother of C/ D, C keâer ceeB nw 

Ans : (d) keâLeve kesâ Devegmeej DeejsKe yeveeves hej, 

 

DeejsKe mes mhe° nw efkeâ D, C keâer ceeB nw~ 

72. Find the mechanical advantage of a pulley 

system if it has an efficiency of 60%. The load 

lifts by 3 m when the rope is pulled by 12 m. 

Gme efIejveer ØeCeeueer (hegueer efmemšce) keâe Ùeebef$ekeâ ueeYe 

%eele keâerefpeS, efpemekeâer o#elee 60% nes Deewj jmmeer keâes 

12 ceeršj KeeRÛeves hej Yeej 3 ceeršj Thej G"lee nes~ 
 (a) 2.4 (b) 1.2  
 (c) 4.8 (d) 3.6 
Ans : (a)  

efIejveer ØeCeeueer keâer o#elee = 100
Ùeebef$ekeâ ueeYe
Jesieevegheele 

×  

Jesieeevegheele = 
ØeÙeeme Éeje leÙe otjer
Yeej Éeje leÙe otjer 

 

ÙeneB, ØeÙeeme Éeje leÙe otjer = 12 m 

Yeej Éeje leÙe otjer = 3 m 

Jesieevegheele = 
12

4
3
=  

hegve: o#elee = 60% 

leye   60 = 100
Ùeebef$ekeâ ueeYe

4
×  

Ùee@ef$ekeâ ueeYe = 
240

2.4
100

=  

73. A car loses 200 kJ of kinetic energy when its 

speed decreases from 25 m/s to 15 m/s. Find its 

mass in tonnes. 

peye Skeâ keâej keâer ieefle 25m/s mes Ieškeâj 15m/s nes 

peeleer nw, lees Gmekeâer ieeflepe Tpee& ceW 200kJ keâer keâceer 
nesleer nw~ Fmekeâe õJÙeceeve šve ceW %eele keâerefpeS~  

 (a) 1 (b) 1.5   
 (c) 2 (d) 2.5 

Ans : (a) ieeflepe Tpee& ceW heefjJele&ve = ( )2 2

2 1

1
m V V

2
× × −  

 ( )3 2 21
200 10 m 25 15

2
× = × × −  

 ( )3 1
200 10 m 625 225

2
× = × × −  

 3 1
200 10 m 400

2
× = × ×  

 200 × 103 = 200 m 

           m = 1000 kg 

           m = 1 šve  

74. In this question, two statements are given, 

followed by three conclusions labelled I, II and 

III. You have to consider the statements to be 

true even if they seem to be at variance with 

commonly known facts, and decide which of 

the given conclusions, if any, follow(s) from the 

given statements. 

............ efJeÛeej keâjvee nw, Yeues ner Jes Deece leewj hej %eele 

leLÙeeW mes efYeVe Øeleerle nesles neW Deewj efveCe&Ùe keâjW efkeâ efoS 

ieS efve<keâ<eeX ceW mes keâewve mee, Ùeefo keâesF& nes  

Statement/keâLeve : All mansions are palaces. 

 meYeer nJesefueÙeeb cenue nQ~  

No castles are palaces./keâesF& ogie& cenue veneR nw~  

  Conclusions:/efve<keâ<e& : 

I. Some palaces are mansions. 

 kegâÚ cenue nJesefueÙeeb nQ~ 
II. Some castles are mansions. 

  kegâÚ ogie& nJesefueÙeeb nQ~ 
III. No mansions are castles. 

 keâesF& nJesueer, ogie& veneR nw~  
 (a) Only conclusion I and III follow.  

  kesâJeue efve<keâ<e& I Deewj III heeueve keâjles nQ  
 (b) Only conclusion III follows. 

  kesâJeue efve<keâ<e& III heeueve keâjles nQ 
 (c) All the conclusions, I, II and III, follow. 

  meYeer efve<keâ<e& I, II Deewj III heeueve keâjles nQ 
 (d) Only conclusion I follows 

  kesâJeue efve<keâ<e& I heeueve keâjlee nw 


